VEIS. TU180.200

PARTS LIST

ISEKI
TU 180-200

e et |
“"'_“ .‘I‘::zE!"ﬂ_l ,

,rs Y13

: -»/‘_5‘-:?,

www.venibiz.com www.vertservice.net wWww. minitrac.co.uk







ATTENTION

No patent liability is assumed with respect to the use of the information
contained in this manual.
The producer assumes no responsibility for errors or omissions.

Success and safety in working with tools depend to a great extent upon
individual accuracy, skill and caution.

Therefore, no liability is assumed for damages to property or injury to persons
resulting from use of the information contained in this manual.

Trade marks and trade names contained and used herein are those of others and
are used here in a descriptive sense to refer to the products of others.

www.vertservice.net WWW.yenibiz.com WwWw.minitrac.co.uk







L A= UURNDER

cA7 232 TULI80,TUL1ROF,TU2C0, TU2C0FEOEFZ S, TERRTEN &S

an:‘ai'éu%%,,\l TWET,

=V VviETUL80,FIZE3AF1-D01K,TU200,FRE3IAFR] - DEEZHZNER

L’C\/\E’s‘o

X088

J‘ﬁ %
i G102 4 |2 |F i & % g BB 2 +
22| Es|f x| T | = nE A rE A
= - R Sh| e - 6-14 9.5-22
x| ® | K 7 B #| ® |400-12|4.00-15| 6-14 | 2714 1 83-24 | e5-22 o
1] O ®) O
T
TOL80 515 elNe O 0
3 @) @) @
-D 4 Q Q O @]
-X 5 @) 010 O O
-U 3 OO O O
-D [« O 1O 1.0 o @)
; -TIX 5 OlO [T OT1T0O O Ol
T8 14 TO O O @)
~ND 5 O O O @) O
-NX § O OT1TOT[1 O O O
-NU 6 o1 0O O O O
-NUD | 6 OO O O @) O
-NIX | 6 @) O1 01T 0O O o 1

\ L 71 O O - O

TU“OQ -X gl O ©) : @)
9 O @) @)

-D 10 @) @) O HONE

-X 11 O | O 1T O e R

-U 9 O | O © O

20

TU200F I =5 10 Q1O | O, o @)
-IX (11 O[O [O[O O o @)
-X06 |12 O O - O @)
-UX06{12 Ol oN o) ©)] O

MBS 2 v a—Sa—-FithoTRY, RO 4 FEBREEbL TR =24,

BAIRA2 - FREREORD TF,

i a2-F B a~ i v a~F B ® al=JE #B R a-F
TC10 1401 TS2510| 1424 TU1900 | 1481 | TU1501 1528 | TU200 1551
{TC15 1402) TS2810| 1425 TU2100 | 1482 TU1601 |1529 TU220 1552
TB15 1403 TS3510( 1426 T6000 1486 | TU1701 | 1530 TU240 1553
TB20 1404 TX1300)] 1427 T7000 1487 ) TU1900 | 1531 [T7010E |1554
| TR1 | 14050 TX1000| 1428 TL2800 (1488 ] TL2101 {1532 T9510E (1555
TR1L 1406 TX1500] 1429) TL3200 | 1489 TL1901 11533 |T6010E {1556
TB17 1407) TS2205| 1430 TS4510 | 1490 TL2101 1534 | TU150M | 1557
TR1S 1408 TS3110| 1431 TU1500 | 1491 | TL2301 |1535 | PSK3500 (1558
TR1LD 1409 T5500 1432) TU1600 | 2492 | TL2501 |1536 770104 |1559
TB23 1410 T6500 14331 TU1400 {1493 ||TL2701 1537 1a210 1560
TM1200 | 1411 TX1410| 1434) TL4200 | 1503 || TL2901 1538 ) T4A230 1561
TB2300 1412 TX1510| 1435 TL3700 | 1505 TL3201 1539 | Ta250 1562
TB1700 | 1413} TX1210 | 1436| TL41004A| 1506 | TL4201 |1540 TA270 1563
TB1400 | 1414| TS2202| 1437 TL2700 | 1507 TL2905 1541 | TA290 1564
TE2400 | 1415) TS2220 | 1438 TL4000 | 1508 | TL3205 1542 | TA320 |1565
TB2000 | 1416 TS3910 | 1439 TL4100 (1513 | TL4205 | 1543 TA340 |[1566
TB2800 | 1417 T8000 14401 TL23500 (1517 || TU140 1544 | TA370 |1567
TS52500 | 1418] T9000 1441T7010 1518 | TU150 1545 TA410 1568
TS1700 | 1419 TL1900 | 1444{ T8010 1519 | TU160 1546 | TA450 [1568
TS2200 | 1420 TL2100 | 1445)To510 1520 | TU170 1547 | T5010E (1570
TS1610 ] 14214 TL2300 | 14456 T6010 1522 TU120 1548 [ T10510E(1571
TS1910 | 14220 TL2500 | 1447 TL4500 (1525 §TU130 1549
TS2210 (1423 TU1700 | 1480] TU1401 | 1527 | TU180 1550




e e — = —

CERESOCRIZIV] (Wl OWIoWwWTWagRil, EETELR2=D L TWE+,
(V] e 5 OR & TW o e =t EETLSR
CEEZLEO [COMPI LR 2R EN = — €V REH VAL IAEFTZERLTRD 2+,
C 120 [SET| NEERBAEIZ + 2HLTIEFTETIALTRIET

() Z7=evi72AALSET
C VA= 9 T
s =F 7 v o (25%29%X30) ) 7RV LTV AASETORERSS
e 7 w2 (20X24X30)

CBEED (L) (R) Lk, EAFMICH> TRREFTREL ) RTRFLTB) & T,
EE%@'J{@@ +* IR 9058000305 50 209 Joc EK%{’F%B)%
A\ e é&]ﬁﬁﬁ“&"ﬁ'
AR e = B.
. SETG%EA‘Z*B%

2 zBuu/:tI[L-OL 'C@ao[%(,\

O’#}L“‘Bnp:—H:t: /ts—ﬂﬂ—f flo’ﬂ\étlfb Faﬁ:E\/\/ié’ SEEIC Z—EKLT—F
2\, ' ) . L -

3 EEBICoNT

oyw—y«ﬁKOWTﬁE&MS%@1~5w42wr50%917—7u%§méiﬁb

BEHRET AT VT - (25PB 3,/9), TAAY & 74%(2%?8&40) 5
2755y V‘(NI.S')&CF'Z"Z%7'/bf-(_ZPB 3712), 759 ¥=a®m74 +{2Y 9/2),
$5-7557(N-1)DIBRETTs- . ) :
BEGa-TEERKENA, 12/H1 0 UA0ET? EALTWisn
o &ﬁéﬂi?ﬁv%

TU180 Na361~

TU180F -Ma3541~-

TU200 N373~

TU200F MN2395-~

TU180FN M6~
EBRRICOWLT
v

~y/%@owrﬁwmz—1m/u/5~7=/9ASSY’D%MzﬂﬂLTkD*

TRV ET,

TN ENDSENE EE @i%mﬁi*“ﬁwa
5,

BB LICIoLT
B+ EORDBLERXSANNBTESADNIZED =5,

— :
= 180F T [200F
Z = " plxiv[ 0 | p|* |

- %
:
0

OO0
it

—

o

=]

o

o

(=4 | I
R - I =N o

o

D seseen




o

Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.

Fig.

Fig.

= a

Fig.
Fig.
Fig.
Fig.
Fig.
Fig,

Fig.

=V v (HFE= v vERR )

10

11

12

13

14

15

16

17

18

19

11U

Sy
AN

TU200/TU1808

FTANALRYT
ANT A H =X n
AAN T ANV ERBIF 7217 404
U= ARVTRIVT 7y
A4 vV oy b }3;0’.:;.# - }.:/7:'7" A 12
T aZ VY AT A
R "/7‘-'"?5;]10’ AR
A vl=0vas vy THF—- =V
Zﬂr5(6581—100—20§—00) .......................................... 17

‘E*V—ﬂ(6581—200;338f—00) ....................................... 18

4y9;;v5yﬁy7(7gx_)NMMWMMMMMWmmm.w




TU1890.200

Fig.
Fig.
Fig.
Fig.
Fig.
Fig.

Fig.

Fig.
Fig.
Fig.
Fig.
Fig.
Fiz.
- Pig.
Fig.
~ Fig.
Fig.

Fig.

Fig

Fig.
- Fig.

Fig.

Fig

Fig.
Fig.
Fig.

Fig.

1

2

10
11
12
13
14
15
16
17
18

19

.20

21

22

23

.24

25

26

27

28

NI
N\
H
]
W
I
S0
o
o

&
N
¢
N
N\
7
¢
s
X
y,
&
R

............................................................ 33
Vi 5_.}_7.4;"—\7_55% ............................................... 34

T3 9 F R BB oo e 36
7D~/]~5\yc/’5~/;7-_z§g% ................................................... 37
P VAR y v UEY - B e qofBco0pacaon DOBRODERBE AE0BES T rp— 39
FTUVOTT BB e ........... e 42
D — FERER oo e — 5
D T 0 m v = KB oo o7
-7—‘7/7-_;1%%...........; ........................... e e 48
V¥ =7 ZALBRR oo 50
- V- FRENVEE 53
e I VY - < I c S S AR 000500 005666 3036 60 603 ABGE 08 SIOSIIOIE B 00 54
PTOFSA 72 a7 FEBEGR oot 55
TV—ARBIT 755 v FEIMR -oooerrrererrrmiee e ae e 58
TOYNT 2 ALBER (2WD ) oo ‘--60
AT T Y VT HRA = JVEGER svreeerrrrmrrrmeineene it e 62
AT T Y VIBRER oo 65
,\-77\7——7,)7,@5%(11@_) ................................................... 66

/<77\7—7u~/;’SET(Uﬁ) ................................................ 68



- Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig,
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.

Fig.

Fig

Fig.
Fig.
Fig.
Fig.
Fig.
Fig.
Fig.

Fig.

33

34

35

37

38

39

40

41

42

43

44

45

46

47

.48

49

50

51

52

53

54

55

56

Fig.57

79 v bR4 -ABEE(2WD)

7ovinmA -ABE(4WD)
Fo2A4 7Y %7 VEBR(4WD )
XXy - ZBEER( 4WD )
70V 7 0 ALEER( 4WD )
77470y - 2BFR(4WD )
VY Y El — REBR oot e ——

V7 b7 —ABR - N 999005030 200000E5500000059 209900030507 9000

76

79

81

AN L 7‘;5% ................................................................................. 83

avbro-n v —-EiF

3‘/]“5_/1/1/'(—55%(1\1@) ...............................................

NANOY w7 R A EVITERR e
V7 rvYy vE , ArD =272 ¥ ASSY

#—-+o- 2YSET -

F—-ro-2Y)SET(NH#)

7=vEFBE (NE)

7a—=A & vsEB&

AT w 7.%% ..............................................................................
BEEAE (1) oevreeemremennnnns
BERBEGR (2 e

I N X [

%ﬁ%% @) ( XH)

...............................................................

106

108
-+110

ool U1

- 112

114

-116

e 117

119




Fig.

Fig.

Fig.
Fig.
Fig.
Fig.

Fig.

60

61

62

63

64

T AT Y VT B A A T T A ettt ee e i e

7-9@5% .................................................................................

Fig-59m= - 7EMAK

124

TERIUFARY2y Te v
FLU—SeeFRIFT=A }E@{%(ﬂ'f“/a‘/') ...........................
v/i—(XDSET(f?‘~‘/EV>

2TV78ET(R7 -2 Y va ) (FFvav) o

-
- P
-

. 125

126

128
© 129

130












14

B3 - K

i

200

180

REES
1-0-1
1- 1
1- 2
-3
1- 4
1- 5
1- 6
1- 7
1- 8
1- 9
1-10
1-11
1-12
1-13
1-14
1-15
1-16
1-17
1-18
1-19
1-20
1-21

6211-110-008-10
6211-111-008-10
6911-129-006-00
6911-129-081-00
6911-129-082-00
6911-129-083-00
6909-860-522-00
6209-605-002-00
6511-715-020-00
6511-711-023-00
§911-721-113-00
6511-721-013-00

6512-569-004-00.

6211-141-003-00
6509-009-036-00
6809-830~212-00
6211-170-003-00
6311-750-602-00
6911-179-105-00
6911-178-030-00
6811-175-011-00
6211-173-002-00

Y& ~»F ASSY
=) UE A~y ¥
cv-UvS H.T $44.9
Y=Yy AT ¢16
cv=) VS HeT ¢18
Y=Y Vs A7 $12
TS5 $11.9
TS T

cin7 Y=+ (IN)
sin7 Y-+ (EX)

e ST HAN

s RANT HAL K

cFAN - (SAT)
HAr » () V8 ~u F)
= b

ALy ¥

Yy vE ~yF HA- ASSY

F~37 ASSY
T

ARyF

F» b

HoFv(~y ¥ Hoi-)

’—'NNN'—‘HNU"—'CDU)U)U’UJNUJUJUJU)HH'—'_

HOoN N = =N O W W W W N W W W W



stijn
Sticky Note
WVD 6211.141.0440.0	


REES | &3 -F|] & TE?U R’ B 23
: = 2001180 sl

'2-7 1 | 6211-210-010-00 | >~y v¥ #F, ASSY 1] 1

2- 2 6509-000-156-00 | - F4 b 8| 8

2- 3 6911-219-195-00 | +~~VUvs H.7 ¢3¢ 1] 1

2- 4 6911-129-006-00 | «¥-Vv7 H-7 d44.9 6| 6|

2- 5 6209-605-002-00 |. - 75 7 3| 3

2- 6 6509-605-019-10 | - 757 2| 2

2- 7 6909-201-356-00 | 757 (7v-+) ¢56 1| 1

2- 8 6909-201-318-00 1 737 (7v-+) ¢18 2] 2

2- 9 | 6909-902-289-00 | =» 7 2| 2

2-10 6211-341-004-10 | V- Fr-} 1] 1

2-11 6509-000-227-00 | #i} 3| 3

2-12 6509-625-036-00 | 4 v-a 1l 1

2-13 | 6989-112-911-00 | &b 1| 1]

2-14 6513-721-043-00 | Yx=-2& Frv 47 1] 1

2-15 6911-229-049-00 | Fo=nr 2| 2

2-16 | 6909-110-410-00 | s & 1| 1{M104TP=125

2-17 | 6211-311-002-00 | 7v -+ (F) 1] 1

2-18 6511-312-030-00 | ~to&v 1] 1 )

2-19 | 6908-161-022-00 | €v(AbL—-}) 1] 1|10%22

2-20 6901-900-822-00 | #A+ (WS) 4| 4|MB8x22 4T

2-21 6509-300-043-00 | A& 5 ¥ 2| 2

2-22 | 6912-363-112-00 | A=-+ 1| 1

2-23 V520-101-002-20 | ~f =% v (4) 2 2(10%x22

2-24 6901-911-020-00 | #Ap (WS) 2| 2{M10x20 7T

P=125




RHES | B &3 - F ]
3-0-1| 6211-310-001-00 | #¥¥- #-x ASSY 1] 1
3~ 1 6211-311-001-00 | +F¥- # -2 1] 1
3- 2 6511-321-059-00 | = #.%i- 1] 1
i- 3 6511-321-054-00 | - H-3- 1| 1
3- 4 £511-312-028-00 | -ty 1] 1
3- 5 6511-312-025-00 | = <s%v 1] 1
3- 6 6901-900-612-00 s F Ak (WS) 4| 4|M6x12 4T
3- 7 | 6904-110-822-00 | »=&» ¥ 4| 4{M8x22 7T 2v-
3- 8 | 6911-312-046-00 | --ip% v 2| 2 :
3- 9 6904-110-855-00 | A&+ ¥ 2| 2|M8%552¥=7T
3-10 6508-625-079-00 | #1 A -n 1] 1
3-11 6511-321-083-00 | H.3- 1| 1
3-12 6511-322-035-10 | stsF v 1| 1
3-13 6909-110-408-00 | o b 8| 8IMB 4T
3-14 6909-150-508-00 | 7o~ (WS) 8| 8|M8
3-15 6212-525-001-00 | F¥-(-~ F=) 1] 1
3-16 6212-533-001-00 | Y%7 r (M Fr) 1] 1
3-17 | V600-110-600-70 | R.B.B 6007 2| 2
3-18 6509-623-073-00 | So%v 1] 1 )
3-19 §901-910-830-00 | £+ (WS) 5| 5(M8%30 7T
3-20 6209-030-001-00 | &A+(WS) 3| 3|M8%x62 7T
3-21 6509-030-037-00 | &4+ (WS) 6| 6/M8x50 7T
3-22 6511-319-079-00 | to%v 1| 1
3-23 6505-740-015-00 EV(APL-1F) 1 1|¢10%10
3-24 6211-319-001-00 | AR~-+ i1




I~

BHES | Bm I r | B & f;fu # g & =
= - = 200 | 180 P = :
4=7717 621T7361-005-20 | #44 -ty 1] 1
4- 2 | 6909-662-012-00 | #3557 o |
4- 3 | 68109-623-057-00 | ~toFv il 1
4~ 4 | 6211-760-001-10 | Lv=A »-o 1] 1
4- 5 | 6911-258-108-00 | ~toxv 2| 2 _
4- 6 | 6901-910-825-00 | #A+(WS) MBx25 7T 14| 14|M8x25 7T
4- 7 6209-030-004-00 | #A b+ (WS) M8x118 7T 2| 2|M8x118 7T
4- 8 | 6901-910-845-00 | #Ar(WS) MB8x45 7T 2| 2|M8x45 7T
4- 8 | V521-100-801-60 [ ~1=2v v (B) 2! 2(8x16




Fig.5. F 4 L& 7
—0-1
12
RuEs | B&3- K| & P 5|
200 {180
5-0-1| 6213-100-001-00 | #4/4 #v7 ASSY 1] 1
5- 1 6913-111-606-10 | - #7 4 (F41 Rv7) 1| 1
5- 2 | 6513-113-026-00 | *#-- 1) 1
5- 3 6913-120-601-00 | *¥¥- SET 1) 1
5- 4 | 6913-123-103-00{ - ¥+7*} 1) 1]-
5- 5 | 6913-121-073-00 |. **®=~% S 1
'5- 6 | 6913-125-073-00 | * <AV -1 1)
§= §913-129-017-00 | - -Y¥ 1| 1
5- 8 6913-128-079-00 | *E=%*V 1| 1
5- 9 6909-878-084~00 eV 1] 1
5-10 | 6901-900-825-00 | *® A+ (SW) M8x25 4T 4
5-11"| 6513-140-006-00 | ~ArL -3+ ASSY 1] 1
5-12 6901-970-825-00 | #A+ (WSP) M8x25 7T 2! 2




BHEES| ¥ & 3~ K & Toltu| B ﬁ

2 it = 200 (180 -
f—=- 1-|-6511-510-033-00|-25 V7 ~79v7 SET 1 117

§-1-1| 6511-540-033-00 | #5v2 <7y 7 SET(UN) 1| 1]050 *
6-1-2| 6511-560-033-00 | #5v% <7y v7 SET(UN) 1| 1100 *
6- 2 6212-111~-005-00 ARV 3 3|

6- 3 6212-121-002-00 | ¥abtyv Vw7 SET 31 3

§- 4 | 6512-211-021-00 | €A +v €V 3|-3

6- 5 | 68909-950-115-00 | AF»7 Y v 6| 6

6- 6 | 6212-230-002-00 | 3xsF4vs =5 F ASSY 3| 3

6- 7 6512-235-008-00 < Fa b 2] 2

6- B | 65909-840-238-00 | 7 &k 2] 2

6- 9 6894-221-168-00 ave, ¥ <7Yvs STD [ 6

6-10 | 6212-310-006-00 | #53v2 =7+ ASSY 1] 1

6-11 6908-151-222-00 cev(AbPv-b) 1 1112%22

6-12 | 6212-330-007-00 | 754 +=4 - ASSY 1| 1.

6-13 | 6912-333-036-10 | Vs =x¥- 1] 1

6-14 6512-336-002-00 TV 1 1

6§-15 | 6908-030-743-00 | ¥~ 1] 1

6-16 | 6509-000-018-10 | &b 6| 6

6-17 6212-521-001-10 | F¥¥-(235v2) 111

6-18 | 6212-370-004-00 | 7-Y ASSY 11

6-19 | 6909-802-606-00 | At 1] 1

§-20 | 6912-379-016-00 | 7» “~ 1| 1

6-21 6§900-090-679-00 | <7V V7 1] 116203VVC4

6-22 6§908-150-614-00 v Abvr-}F) 3 316%x14

§-23 | 6212-266-001-00 | ave ¥ <7y 7 (UN) 6{ 6|10 *
6-24 | 6212-264-001-00 | 2vm» ¥ <7) 7 (UN) 6/ 6|05 *




200

180

=]
!
—

W ® N DA W O WA AW N

7-1
7-1
7-1
7-1
7-1
7-1
7-1
7-1
7-1
7-20
7-21
7-22
7-23
7-24
7-25

6512-511-076-10

6212-522-002-00

6908-000-716-00
6509-000-069-00
6512-519-002-10
6911-681-010-00
6901-910-816-00
6212-531-001-00
6212-520-001-00
6512-535-005-00
6508-030~-037-00
6512-551-020-10
6512-552-028-20
6912-561-037-00
6894-253-556-00
6512-565-004-00
6912-571-801-00
6512-575-014-00
6212-600-001-00
6212-611-001-00
6212-611-002~00
6912-616-023-00
6909-111-508~00
6212-621-001-10
6212-626-001-00

b I NI 8N

Fr-(Ha)
—1_‘—._

FL b

Ve

AZAb Furv-b
Fa b (WS)

Yy 7 b (T4 K Fr-)
FY- (74 L) ASSY
ASA+ HS-
FAL(WS) 7T.
AvVvs b a7
==& ST
AT AFY v

AFY VY -}
A7V o b HF-

A~y b

Tyva wao ¥

PyH “Y¥7F ASSY
2w h T-u ASSY
+®yd T-un ASSY
cTO¥ A+ RIVa

s F - b M8 7T
Yy 7b(RyH T-n)
s TSy

5

Nb-‘cnmmm»—-mmmmmmwm»—-»—-wm»—“w'—-b"—‘v—{

M8x16 7T

N’-‘mOlww'—‘mml\)mmwwk\)‘—'i-"—‘l\'l“-"—"—‘“’-"—‘




]

SHES | F&a- K | & ToTe] R z | & =

| | 200 |180

7-2%8 6212-628-001-00 s TS 4k 2 2

7-27 | 6212-628-002-00 | 754 % b 1l

7-28 6212-628-003-00 7S5y s b 1 1

7-29 | 6209-940-001-00 | -RFY v _3| 3

7-30 | 6901-050-850-00 | -t 2| 2/M8%50 7T

7-31 6909-164-008-00 | - 7o % (WP) 2| 2|mM8

7-32 | 6909-110-508-00 | +» t 2| 2/M8 7T

7-33 | 6909-164-508-00 | 75>+ (WP) 2| 2|Ms

7-34 | 6212-523-002-00 | F¥- (74 Fr) 1| 1

7-35 | 6212-531-002-00 | ¥+ 7+ (74 ¥ F¥-) 1| 1

7-36 | 6209-800—001—00 | <7V vy 1| 1|6004NRC3x2

7-37 | 6509-503-059-00 | 75« 1] 1

7-38 | 6509-000-162-10 { &4+ 9T 1| 1




)

FANT 4 NISET 72T AT MY

1—
OIL FILTER

' 8 &
200 [180
8- -1 6513-200-196-40 | 4L 24n% ASSY 1) 1
8- 2 6513-240-026-10 cH-FY e 1| 1
8- 3 6513-210-019-30 +#F4 ASSY 1| 1
8§~ 4 6213-212-001-00 - EF g 1/ 1
8- 5 6513-160-003-00 L7 ASSY 10 1
8- 6 6§209-605-001-00 IS5 11 1
8- 7 6513-219-014-00 | -ty &V 1] 1

§- 8 6§901-900-830-00 | =4k (WS) 2| 2|M8%30 4T

8- o 6209-032-001-00 | #a+ (WS) 21 2|M8x75 4T




. ~ —_ € o S
Fig. 3. A T A

reEsgac-%] & 0 & fmm & B | 8

5 Salic ) 200|180

N G W W N =

6913-312-325-00 | A4 AT

1] 1
6213-311-002-00 | #144 47 ASSY 1| 1
5309-906-105-10 | 74 AL+ 1 1t
6909-920-843-00 | tu %V 2| 2
6802-040-610-00 b 2 2'1M6%10 4T
69509-150-506-00 | 7 » v 2| 2|ms6
6213-311-001-40 | #4A 47 ASSY 1] 1




N

P~
o

TR TReLU T 7

19'/%; )

16)‘\'\\/ ‘

17 C
@

. - T 1@& i 25
REES | B & 23 - F & £ e B - S .
heme = R 200|180

(

10- 1
10- 2
10- 3
10- 4
10- 5
10- 6
10- 7
10- 8
10- 9
10-10
10-11
10-12
10-13
10-14
10-15
10-16
10-17
10-18
10-189
10-20
10-21
10-22
10-23
10-24

6213-610~001-00
6213-611-001-00
6213-612-001-00
6212-613-001-00
6901-900-830-00
6901-900-828-00
6582-450-018-00
6513-619-098-20
6509-623-031-00
6901-970-845-00
6509-030-037-00
6894-205-986-00
6909-160-508-00
6901-910-820-00
6213-674-002-00
6913-713-064-10
6513-770-022~10
6509-637-013-00
6901-910-828-00
6913-641-624-00
6513-660-297-00
6913-642-078-00
6209-030-041-00
6213-671-001-00

vA-4 #Hv7 ASSY
«®F4 ASSY(vA-#%
chA-(wF -8 HvS)
Ry v(UF-F HVT)
<3 b (WS)

- A b (WS)
Y-F A-4
-

RyFV

F b (WSP)
Fak (WS)

Far (WS)

7y vy (WP)
FAr (WS)
ToeA P FV-b
UvA-42 T9Uhr L b
- AL o b
Ry F Y

Fu b (WS)

7=

I-V T Tyv
A=

F b (WS)

~JL b

Rv7)

L7

M8%30 4T
M8%28 4T

M8x45 7T

7T

MB8x20 7T

M8%x28 7T

M6xS50 7T

Lot - R e R R e T R e T I I N T o . T S O O = LY 7X S S Ry i Gy RN
O e e N e e e e R R N e e D) ke e e

11



. ALy bES

W

5
“

\’
N
\“
}

REES | B & 2 — F & # Tf,mfu 8 L
: : 200 {180 :
11- 1 6214-111-003-00 | 1 vV } ==#H-AF 1 1
11- 2 | 6214-141-002-00 | =2V ~-RA} —<~=k-AF 1| 1
11- 3 6904-110-822-00 | A& & ¥ 2| 2|M8x22 23+ 7T
11- 4 6904-110-860-00 | A& 5 F 2| 2|M8X60 2va 7T
11- 5 6914-146-080-00 | #A#¥ » b 1| 1
11- 6 6901-970-832-00 | KA+ (WSP) 71 7|M8%32 7T
11- 7 6509-637-015-00 | ~3,FV 3| 3
11~ 8 6214-310-001-00 | 1 ¥5F~-2>%¥» 4 ASSY 1] 1
11- 9 6214-319-001-00 | 2V » 7 1| 1
11-10 | 6909-110-408-00 | 5 ¢ 2| 2|M8 4T
11-11 6909-150-508-00 { 7» v+ (WS) 2| 2|M8
11-12 6909-164-508-00 | 7» % (WP) 2| 2|M8
- 11-13 6904-110-845-00 | A&y F 2| 2|MBx45 2va 7T

T2



E&'x%% IDLB G 3 - K AR % TU |TU ﬁ %'
e G S S o 200 1807 7

12- 1 6215-300-002-10 Avoepvayv /s RL ASSY 3 3

12- g | 6215-311-002-10 </ Fo 3l 3

12- 3 | 6215-330-001-00 | +/An Hig 31 3

12- 4 6215-411-001-00 Avoa=dvrsy 7 ASSY 1] 1

12- 5 6215-411-002-00 AV2=29vawy 47 ASSY 1 1

12- 5 | 6215-411-003-00 | 4 Y=t vay <47 ASSY 1| 1

12- 7 | 6915-419-072-00 | #V»7 ASSY 2| 2

12- 8 6509-704-059-00 7Y w7 8| 8

12- g9 6209-360-008-00 5,- HR-A  £=105 1) 1

12-10 | 1417-102-005-00 | -2 Av¥ 2| 2

12-11 6215-315-001-00 HAY o b 3| 3

12-12 6215-337-001-00 VR AN VI V) 3] 3

12-13 6209-037-002-00 Har (WS) 3| 3| MBX35 9T
12-14 6209-360-005-00 S5.- &= A £=125 1] 1

12-15 6209-360-006-00 5. k-A L= 40 21 2

12-16 6209-669-001-00 Cad Vb 2] 2

12-17 6509-360-912-10 52~ k-2  f= 95 1 1

13



1
(18]
! et

(n

[N

RHES | B8 3 - K - Tf,m”?u 3 e
200 |180

13- 1 | 6211-777-005-00 | -~v¥ (F) 1] 1,

13- 2 6211-777-004-10 | ~v# (R) ol

13- 3 | 6901-310-818-00 | #ap (WS) 2| 2| MBx18 7T

13- 4 | 6519-711-098-00 | 754 4 ¢+ 1] 1 '

13- 5 | 6901-911-020-00 | #4A+ (WS) 2| 2|M10x20 7T P=125

13- 6 | 6211-777-002-10 | =54 1] 1 :

13- 7 6901-911-020~00 | Hak (WS) 2] 2 |M10%20 P=125 7T

£



1k

RHES | ® &3 - ¥ & & 7O |0 L %
200 |180

14~ 1 | 6215-600-021-20 | 4»¥=sv s> HvF ASSY ] EA4<80891 |
14— 1la 6215-600-021-30 | 41¥¥z2va> #r7 ASSY 1 EA80892~ |
14-1-14 6215-600-022-20 | 4> v=2v s> H®v7 ASSY N Ef~81311 7
©14-1-18 6215-600-022-30 | {vw=2v s> #»7 ASSY 1 E/81312~
14- 2 | 6515-750-029-00 | - 7, -F Kv7 1] 1 e

14- 3 | 6519-751-039-00 | « - 754 5t 1 1) ; y
14- 4 6515-619-061-00 =0V v 1 1 ~

14- 5 6212-524-001-00 | « «F¥- (A vP=7vaV HVT) 1| 1

14~ 6 | 6981-325-466-00 | - - 74 At} 1| 1

14- 7 | 6115-639-008-00 | - - #A# » b 2| 2

14- 8 | 6515-411-812-00 | +-7.=A <17 ASSY 1 1

14- 9 | 6215-619-006-00 | « .74 Hi} 11

14-10 | 6215-639-003-00 | - » #A%r 5 b 2| 2

i4-11 6511-319-077-00 Ay FV 1 1

14-12 6523-336-001-00 A7V vy 74 1 1

14-13 | 6909-942-560-00 | A7y v~ 11
14-14 6209-5813-001-00 | ¥=-24 47 L=470 1] 1

i5



8!

= b oy -~ o
rig. 18 T N =

RHES | B RE 3 - K | &7 . % fiﬂu = B | @® . E
. - - ; 200|180

15- 1 6581-100-205-00 | 2&%-2 ASSY Fig.16 2 F& 1 1

15- 2 | 6581-200-338-00 | v=%v—-2# ASSY Fig, 1788 1l 1

15- 3 | 6281-410-003-10 | s/= - 757 3| 3

15- 4 | 6219-732-001-00 | =% 724 1| 1

15- 5 6581-420-037-00 svis - VARSI A ASSY > 1l 1 5

15- 6 6901-570-830-00 { #A r (WSP) 2! 2|M8x30 7T

15- 7 | 6909-110-508-00 | +»+ 2| 2|M8 7T

15- "8 |'6901-910-820-00 | #a+ (WS) 1) 1|M8x20 7T

15- 9 | 6909-164-708-00 | 7>+ (WP) 1] 1| M8

15-10 | 6182-410-008-10 | AA v+ 1] 1

15-11 6901-931-240-00 | HEa b+ (WS) 2| 2|M12x40 7T P1=1'75

15-12 6909-120-412-00 { = b 2| 2|M12 4T P=175

15-13p| 6281-900-002-00 | =V vAr»-t ASSY 1| 1

15-14 | Vi20-366-001-60 | 73A +=<=2x<(SP) 3| 3[M6x%X16 F'y

B281- 500 ppyva] o e 4ol e = “o

(3 700 c0v0o| 1 ke A ooy ay SplA) i

[
&




23 18

Z ¥ — 4 (6581-100—-205-G0)
212219

[ O _ ]3 2 3 4._.24 el - ——
REES | B & 37— ¢ | 1 B £
16-0-1] 6581-100-205-00 } x#~-2%2 ASSY 1 1
16- 1 6581-121-041-00 | - 7-=%+ ASSY 1] 1 2114-51004
16~ 2 6894-208-287-00 T AFAMT o e (A) 1] 1 2114-7103
16- 3 6894-208-288-00 c ASRAF7 s (B) 21 2 2114-8103
T6- 4 6894-208-257-00 | BV v 1] 1 2114-9103

- 6- 5 6894-208-289-00 | -~ E=FY Ahaot 1 1 2114-7105
16- 6 6894-208-290-00 cE=FY Abwst sy 1 1 2114-5107
16- 7 6581-112-032-00 | -74-AF =44 ASSY 1] 1 1.2114-62106
ie- 8 6894-208-291-00 cFE-AITRIY o 4 4 2114-8215
16—~ 9 6581-119-034-00 | - 75~ () 2y 2 2114-3315
16-10 6581-119-035-00 - 75v KRAF ASSY 1| 1 2114-93101
16-11 | 6581-119-036-00 | 73 () 1 1 2114-8313
16-12 6581-117-023-00 | -7SvRFY v 3 3 2114-5314
16-13 6581-115-010-00 «Y¥HhAsi- ASSY 1] 1 2114-23001
16-14 6894-208-295-00 s AR 1] 1 2114-5352
16-15 6581-123-029-00 sE=3%+v ASSY 1l 1 2114-85003"
16-16 6581-113-058-00 cF¥yr-x ASSY 1l 1 2114-76005
16-17 6894-208-298-00 Sy 1 1 2114-4661
16-18 6581-127-028-00 2 22 N N 1| 1 2114-8652
16-19 6581-151-062-00 CTIERF 402 AAL-F ASSY 1] 1 2114-37502
16-20 6581-129-280-00 s RS~ FEA b 2| 2 2114-28005
16-21 6894-208-305-00 cHEARHA- (A) 1l 1 2114-3862
16-22 6894-208-306-00 s FAMAHAS - (B) 1] 1 2114-2862
16-23 6894-208-307-00 CEFARHA-(C) 1] 1 2114-5861
16-24 6864-208-308-00 s FA+HAS- (D) 1 1 2114-4862
16-25 6993-490-412-00 «ATY 2 2] 2{M4x12 0630412
16-26 6901-045-632-00 o FHA b 2| 2imM6%32 2114-5866

N



AHES | B& - K | & LA fﬁ' 38 f £
5 200 |180
17-0-1| 6581-200-338-00 | Y=%V—-% ASSY il ;
17-"1 6581-221-063-00 -m-4 ASSY 1 1 1135-71001
17- 2 §581-211-058-00 | - A¥-2% ASSY 1| 1 1L135-6200
17- 3 6§281-214-001-00 | - V¥»-~- ASSY 1] 1 1135-63002
7- 4 | 6281-214-002-00 | - ¥ ¥n- - 1] 1 1135-73011
.7- 5 | 6581-262-005-00 | - #4#-¥ ASSY 1| 1 1135-13203
17- 6 | 6581-219-036-00 | - 77vvFav-F ASSY 1] 1 1135-13152
17- 7 | 6581-215-046-00 | =75 Toev7) 1] 1 L135-4326
17- 8 6581-215-040-00 | » 735 201 2 L120-13262
17- 9 | 6581-270-004-00 | - IC v¥av—% 1| 1 TR1Z-63
17-10 6281-213-001-00 | » 7= v+ H-i- ASSY 1| 1 L135-24001
17-11 6581-229-029-00 | «R7YVS VYT-F 1| 1 1135-14042
17-12 6581-222-760-00 | -V ASSY 1| 1 1215-55004
17-13 6581-229-182-00 « ANV - Fab 2| 2 1125-4801
17~-14 6581-229-183-00 | = A4 - HFaib 1| 1 1125-5801
17-15 6982-235-015-00 -7~y F» b+ ASSY 1 1 'B-495469B
17-16 6900-090-181-00 | - #- <TVY s 1| 1 62018D
17-17 6509-800-087-00 | » H-A <TYv7S 1| 1 §302BM
17-18 6581~229-165-00 | +AZYa.*» b 1| 1 L120-10001
17-19 A7V a 3| 3{M4x1i2
17-20 «FAb 2| 2|M5 L135-13134

6581-229-166-00

18



m
rq

|--I
oo
A
\I
\',
[
)

104300-5230

B & .
REES| #Fea—F g =4 ™ |TU i =
180 | 200
Ay AN Ty N .

18- 0- 1 | 5638—430~0P0-58| 7=-=/ [ VIx7vs Y #H7 ASSY 1 1 104300-60-;0&
18- 0- 2 | 5030=450=063-00| o=/ vz v HvF ASSY 1 1 104300-6300 &
18- 1 5013-006-046-20| ~oov s 1 1 130060-4620
18- 1-30 | 5002-904-060-20| A& » I 2 2 029040-602(
18~ 1-30a| 5002-904-063-20| & » ¥ 2] 2 029040-6220®
18- 2 5013-001-008-00| »-% - 1 1 130010-0800
18- 3 5002-905-050-40] A2 Y a - 3 3 029050-5040
18- 5 5013-004-202-00| -4 Yy v 171 130042-0200
18-16 5013-001-009-00| H % - 1 1 130010-0900
18-19 5002-930-060-30| 7 » ¥+ ~ 2 2 029300-6030
18-20 5001-411-064-40| A7V v 75 x 2 2 014110-6440
18-21 5001-302-060-40| % » b 2 2 013020~6040
18-23 5013-004-102-00|0 -y v 7 1 1 130041-0200
18-24 5013-004-203-00| ¥ - U v 7 1 1 130042-0300
18-25 5002-905-050-40| A 7 J 2 4 4 029050-5040
18-30 5013-010-150-20| 73 v+ ASSY 3 3 130101-5020®
18-30a 5013-010-152-20| ¥ 5 v< + ASSY 3 3 130101-5220®
18-36 5013-011-006-20] FV-ip A7 3 3 130110-0620Q
18-326a 5013-011-007-20{F VY An7F 3 3 130110-0720®
18-37 5013-111-223-00| A7) v 7 3 3 131112-2300
18-40 5013-011-501-00| # A# » b 3 3 130115-0100
18-41 5013-011-606-00] &= A & = 3 3 130116-0600
18-42 5013-111-723-00] A b » ¢~ 3 3 131117-2300
18-45 5013-012-204-20 |7 L - b 2 2 130122-0420
18-49 5001-650-015-20|0 -9 v 7 3 3 016500-1520




ik
Y

S5 | HRI—K s | B =

Hii
LE
Do
U
-
oo H
=3 i
[on]
a1
n
By

18- 55 5013-020-002-20{ £~y b 130200-0220
18- 55-2 | 5013-020-100-00| = » b 130201-0000
18- 55-3 | 5013-020-201-00| #~A+ 130202-0100
18- 553-4 | 5013-020-301-00| v v 130203-0100
18- 55-5 | 5015-211-201-00| » - 5 ~ 152112-0100
18- -6 {1 5013-020-600-00| &1 ¥ 130206-0000

5013-021-502-00| A 7Y v 2
5013-021-600-00| A7V v 7 -k
5013-021-700-00| A 7Y v & - b
5013-022-307-20f avim=—n 547
5013-122-603-00| 22 Y =
5013-024-001-00| €=%4v

18- 77 5013-024-101-00| avime—n =Y -7
18- 77A | 5013-024-102-00|=2vbre =2 AY-—7
18- 78 5013-124-201-00| 27 9

130215-0200
130216-0000
130217-0000
130223-0720
131226-0300
130240-0100
130241-0100
130241-0200
131242-0100 —

bt
o
1

oo G Gy Oy v 0

00 =) W I = W

—t
(0]
i
-3
[«)}

18- 90 5013-030-025-00 | » NS A 130300-2500
18- 91 15002-800-170-10.| N7y v 7 028001-7010
18- 914 5001-663-020-30 | _7 Yy v 7 016630-2030

18- 92 5013-030-201-00| ¥ v 7

18- 82A {5013-030-203-00| Yy v 7

18- 93 | 5002-999-817-00| > &

18- 93-1 [5002-931-170-10| v &

18- 93-1 | 5002-931-170-20 | v &

18- 93-1 | 5002-931-170-30 | v &

18- 93-1 | 5002-931-170-40| v 4

18- 93-1 | 5002-931-170-50 | ¥ & -
18- 93-1 |5002-931-170-60] ¥/ 4
18- 93-1 | 5002-931-170-70 | v 4
18- 93-1 | 5002-931-170-90 | v A.
18--93-1 { 5002-931-172-10 | > &
18- 93-1 | 5002-931-172-20{ v 4
18- 93A | 5002-999-817-00] v &
18- 93A-1|5002-931-170-10| v A
18- 93A-1/ 5002-931-170-20 | ¥ &
18- 93A-1{5002-931-170-30 | o &

130302-0100
130302-0300
029998-1700
029311-7010
029311-7020
029311-7030
029311-7040

_ | 029311-7050
- - | 029311-7060-

| 029311=7070:
| 029311-7080 _
AR | 029311-7210
AR 029311-7220

1 029998-1700
AR 029311-7010
AR 029311-7020
AR _ 029311-7030

[N

]

g b a i .
:Sgg.sgsgg'—‘H'—‘H'—"—*N!—"mro*—‘»—-cuwwmummmm

P
1]
¢

AR

AR

AR

AR

1

NS

AR

AR
18- 93A-1] 5002-931-170-40 | + 4 AR | AR _ | 029311-7040
18- 93A-1{5002-931-170-50 | + AR | AR 029311-7050
18- 93A-1|5002-931-170-60 | + 4 AR | AR | 029311-7060
18- 93A-1| 5002-931-170-70 | v & AR | AR | 029311-7070
18- 93A-1| 5002-931-170-90 | + 4 AR | AR 029311-7090
18- 93A-1] 5002-931-172-10| v & AR | A/R , | 029311-7210
18- 93A-1|5002-931-172-20 | 4 AR | AR 029311-7220
18-101 | 5013-031-613-00| 5 - 1 1 130316-1300
18-104 [ 5002-000-614-40 | # . k 3 3 020006-1440
18-107 | 5015-663-667-20| 557 Y v s 1 1 156636-6720
18-107-1 | 5015-663-667-00 | %57 Vv 7 1 1 156636-6700
18-107-2 Fv- 1 1 !
18-107-3 | 5002-000-618-70 | AL b 6| 6 020006-1870
18-107-4 | 5001-312-120-40 | + 5 * 1 1 013121-2040
18-107-5 | 5001-411-124-20 | A7 Y v 7 7, 4 1 1 014111-2420
18-107-6 | 5015-661-534-00| 7y > 6 6 156615-3400
18-112 | 5002-580-316-10 | ¥ » K57 #- 1 1 025803-1610
18-116 | 5013-981-208-20 | ~2 Ls4 vt 1 1 139812-0820
18-117 | 5013-981-209-00| 74 i t 1|1 138812-0900@

20




¥
0
-
0
A
\l
\'I
-
7
\'1
1
\I
=
\I
<J
L,
|
>n
I
~/

104300~-6290

ReES| WM& —FK & T |TU : w =
18-117a [ 5002-973-120-10 | 74+ b 1] 1 029731-2010®
18-118 | 5002-651-215-40| #R# » b 2| 2 026512-1540
18-165 | 5013-044~807-20| Y & % — 1] o1 130448-0720
18-191 5013-045-904-20 | 754 » + 1] 1 130459-0420

_8-191-2 | 5002-904-082-40 | A% »-F 3| 3 029040-8240
18-192  [5002-963-750-40| 0=y v 1] 1 029637-5040-"
18-194 | 5001-401-081-40| 7 » >« 3| s 014010-8140"
18-195  [5001-411-084-40 | A7V Y7 75 >y 3| 3 014110-8440
18-196  |5001-302-080-40 |  » F 3| 3 013020-8040
18-203 [ 5013-042-007-20 | H b 1] 1 130420-0720
18-205  |5002-651-215-40 | # R4 » b 1] 1 026512-1540
18-374 | 5002-973-081-70 | 74 A4+ 1] 1 029730-8170®
18-374a |5002-973-082-90 | 74 &t 1] 1 028730-8290®
18-376 | 5002-934-080-80 | # A% 5 h 2| 2 029340-8080®
18-376a |5002-650-812-40 | # A4 5 b 2 | 2 026508-1240®
18-501  [5013-053-123-20 | 1%~ 1| 1 130531-2320
18-503  |5015-432-419-00 | -+ 7 + 1] 01 154324-1900
18-504  |5002-963-080-80 |0 -y v 7 1|1 029630-8080
18-505  [5002-931-110-70 | > 4 AR |AR 029311-1070
18-505B |5002-931-110-90 | & AR | AR 029311-1090
18-505C [5002-931-110-20 | 7’5 & « AR |AR 029311-1020
18-506  |5002-905-050-40 | 27 Y = 2 | 2 029050-5040
18-510  |5013-052-401-00 | A4 -~  Li- 1| 1 130524-0100
18-514  |5013-051-004-00 | A7y v 7 #.<+ 1| 1 130510~0400@
18-514z |5013-051—001-00 | A 7y v 7 #.<is 1] 1 130510-0100®

21



HEHID— K

1]

=
[0}

{;

= =

18-519
18-520
18-521
16-522
18-523
18-523-1
18-523-1
18-523-1
18-523-1
18-523-1
18-523-1
18-523-1

8-523-1
.8-524
18-528
18-530
18-531
18-535
18-536

18-537
18-537-1
18-537-1
18-537-1
18-537-1

18-541-

18-542

18-543 |

18-544
18-545
18-547
8-548
18-550
18-551
18-569
18-570
18-578
18-579
18-582
18-583
18-584
18-590
18-591
18-592

¥5015:4317664-20
5013-053-205-00

5013-052-003-00
5013-051-208-20
5013-052-204-00
5013-052-301-00
5013-052-305-00
5002-651-013-40
5002-911-101-90
5002-999-812-00
5002-831-120-40

5002-931-120-60
5002-931-120-70
5002-831-121-30
5002-931-121-40
5002-931-121-50
5002-931-121-60
5013-050-102-00
5013-050-005-20
5001-411-084-40
5002-823-080-00
5015-432-508-00
5015-417-149-00
5002-999-808-00
5002-9321-080-10
5002-931-080~-20
5002-931-084-90
. 5002-831-085-00

5002-902-062-40
5015-401-108-00
5013~053-205-00
5002-924-060-10
5002-650-610-40

| 6015-403-516-00

5002-651-215-40
5002-911-120-70
5002-933-120-90
5002-911-120-40

5002-924-060-~10
5013-054-508-20
5002-000-620-40

5002-000-622-40

5002-831-120-50

~5015-435-076-007

5002-000-618-40,

FUY sV Vs
AFTY S AT
A F
AN~ -
v
HAr oy b
7357
A

[P

N

N

N

DA

SN

DA

oA

PN

A) -7 _
734 &4 ASSY
AFVVT Ty
F v b

ATV VS vk
ATV VT

DA

Uy v

7,

A

R
.ﬁ;gln.;

Rk
FEb
'Ry 7 F b -~
A2V a

F v b

HAr » b

F oy 7‘ F o b

WA o b

737

Ay b

varaa

EEER

EYEN

> b

7545 s b

b

A b

TV

A B
~81311 | 81312~
~80&91 {80892~

TU180
TU200

s & o T

i .. ' [
HHH.—‘P—JD—‘D-‘l—'D—lb—lt—‘t\jb—‘b—‘t—‘)—‘ml—lb—l‘géggi—‘)—lwHHHHSEES;;%;H[\JN}—‘I——'HHH gé

T T TN T YT T N

[ S e e e R T e T e e e T ST & S S

s

130520-0300
130512-0820
130522-0400
130523-0100
130523-0500
026510-1340
029111-0190
029998-1200
029311-2040
029311-2050
029311-2060
029311-2070
029311-2130
029311-2140
029311-2150
029311-2160
130501-0200
130500-0520
014110-8440
029230-8000
154325-0800
154171-4900
029998-0800
029310-8010
029310-8020
029310-8490

. 029310-8500_

154350-7600
130540-0220
020006-1840
029020-6240
154011-0800
130532-0500
029240-6010
026506-1040
154035-1600
026512-1540
029111-2070
029331-2090
029111-2040
154316-6420
130532-0500
029240-6010

©130545-0920

020006-2040
020006-2240

22



803s
8i2s
.. 8I3s 5
REES | K a—F A 24 O |TU % w &
R 180 | 200 B

18- 0-15010-524-810-20} 74 - F #v7 ASSY 1 1 105248-1020
19- 0-2 [5010-524-810-11] 74 - ¥ #27 ASSY 1 1 105248-1011
19-801S. [5015-200-413-00| K54 a4 1 1 152004-1300

19-8028 [5015-211-013-00| A7) v 7 EA b 1 1 152110-130C
 19-%03S [ 5015-211-139-00| & b v 1 1 152111-3900
19-8048 {5015-213-303-00| A7V v 7 FA4+% 75 1 1 152133-0300

19-8058 | 5015-213-005-20| #4+ 7354 1 1 152130-0520

19-8068 [5015-213-103-00| v'v ' 1 1 152131-0300
19-807S |[5015-221-013-00| 27y v 2 1 1 152210-1300

19-8088 {5015-221-018-20| L-{- ASSY 1 1 152210-182¢

19-8098 |5015-221-019-00 | v’ v 1 1 152210-1900

19-8108 {5015-202-018-20| %4 ASSY 1 1 1152020-1820 @
19-8108a [5015-202-013-20| %54 ASSY 1 1 152020-1320®

19-811S {5015-202-015-00| # A4 5 } 1 1 152020-1500
19-8128 [5015-202-014-00 | #-% - 1 1 152020-1400
19-8138 |5015-221-020-00| & 2') » 6 6 152210-2000
19-8178 |5001-650-~007-10]0-9 v & 1 1 016500-0710

TV Mm
A B
TU180 | ~81311 | 81312~
TU200 | ~80891 | 80892~

23









«
i Firy o
- &




REES

B&LmI—F

E3

P

>

]
[ N I

e e e T TS A
1T )
—_

L I T R e T |
L I R T S S PO U

—
'lUHOLDUJ\ImUlAOJND—-OLDm\)UI

—
|

[3&]

w

1-24
1-25

1550-102-200-00
1550-102-202-00
1550-102-203-00
1550-102-204-00
1421-101-313-00
1421-101-203-00
1421-101-204-00
1550-102-001-10
1550-102-002-00
1427-101-011-00
1427-101-012-00
1444-101-012-00
1417-102-005-00
1550-102-005-00
1550-102-006-00
1550-102-210-00
1550-102-220-00
V211-360-801-60
V201-260-801-00
V401-160-008-00
V411-260-008-00
1544-616-011-00
1550~102-003-00
1550-102-004-00
1550~104-003~00

Foxz-42 ASSY
cFA-R-T7B-k-A

c U FH-&

C T UHL N

cF o7

- 75

o Xy Ey

FX-hK-ART
SRR AT 5ot
25v7(35)
75v7(42)

Mruvsk- &

T x=ARAVY
F-RsS5vS

7 oe VTA
Fy=-2A%- (L) COMP
FY=-2R7 - (R} COMP

aHFERALL(SP) M8x16
IHFFEA D MBXx10
S. W M3

I HFFH xR M8

L ow g I A

v-n (4) ([

v-r (&) R)

h=RoSvS

'—-»—'»—'.tmmww.p»—-»—n»—-»—-m»—-»—-;-»-a»-a»-,_-up—a._.;_-»_-

oooo’ooooooooooooooooooooo

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOO0.000

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOODOOOOOOOOOOO

[
n



& T B X
f = | LEur @ 5 y0e fols
B wxRo o = e = 8 A G . =
ERES BHR2A—F o) = lfg 0 “..,;}. wl| o D X = =
I TR %]
|
1-26 V211-260-801-20 aFEFRNL B (S) M8xi1i2| 2|0(010|0 o'ololo 0101010
1-27 | 1544-112-003-00| ¥~ (B) 1{o0fololoiolojojo|ofo]o]o
1i-28 [V304-260-008-00 =HEFv b M8 2|0(0fl0|0l0{0i0]0}0l00]0
1-298 V401-160-008-00} S . W M8 2lo0|0(0fo|0(0(0]|0{0]0O|0]O
1-30 | 1424-101-005-00| 2V¥ +»7(42) 210(0)0]{0|0{010{0]0)0{0]|0

26



ro

~ 7
™ =N
O.
|
L4 1)5

20a

Ao (

L2774

5a

g—s8
=
7
.// —
1///
297 I\
/'/‘
&—&
. : 1 | 180F
= ' . B g
EERES WK a3-—- K SR & 0 '
# DX IN
X
2= 1 |1550-103-200-00{ =25 COMP 1|ojojofo|o] |o|ejojo]o|o| /1 ~7EE
2~ 1a]1550-103-200-10| =25 COMP 1jolojo|olofofofo(o|oio]|o|REs~
2=~ 2 | 1480-103-001-00| #A% 5 b 2|oloflofo|ofofofololololo
2- 3 | V303-700-010-00| = #& .} M10| 8jofo|o]olololojololololo
27 4 | 1550-103-240-00| F-A- 17 (%25 ) COMP 1/oj0fojolo| (olololololo _
2= 5 | 1544-103-210-10| =755~ CQOMP 110|100 j0(0] |o|ofo|o0|0]o| /1 ~=nm
2- 5a|1544-103-210-20] =75 5.5~ COMP 1{ojojofofojofolofolofofo| Rea~
2~ 6 |1544-103-250-10| =#.4 5.\~ COMP 110/0(ojolo| |o]olo|o|olo
2-6-1|1544-103-001-10| =44 5.3~ (A) 1{olo|ojofololo|olojofo]o
2- 7 | 1550-103-250-10| F-A~17».-(&5) COMP t{o|o|ofofo]| |ololojololo
27 8 | V211-360-801-20| axs#Lr(SP) M8x12| glofjofofojojojalo|o|o]o]|o| NByz6 4
2= 9 [V201-260-806-50| =44 b M8x65| 1/0]lo|0]ololo{ofolololo]lo
2-10 {V411-260-008-00| :H=+x% M8 1jofojojoio|oj{ofolofofofo
2-11 |V304-260-008-00] 2#x&+5 p Mg 224 1]{0j0fo0j0|0fo|ofololo]olo
2-12 | V401-160-008-00| S.W M8 1{o{ofofofo|ojojolofo|o{0
2-13 |1550-103-210-10| =25%7+ COMP 1{ojolojojojojojojo]ojoloO
2-14 | 1550-103-001-00| #R# 5 b (A) 1]0{0]lojojofalofofolo]o]|o
2-15 | 1544-103-004-00| #~ » (M8) glojoflojolojojolololo|o]o
2-16 |V250-261-003-50] ==2: A} M10x35 1w 4/0j0|0fo)o|o|o|o|ofolo]o
2-17 ] 1550-103-220-00| 71—+ (B) COMP 1{0,0j0|0f0 o(o|0lo|ofo
2-18 |V300-260-006-00{ +5 k M6 3j0jofojojofojolofo|ojojo
2-19 |vV401-160-006-00] §. W M6 2lojojolofojolololofoloio
2-20 [1550-103-230-00| =75& % r#.- COMP 1{0(0{0l0f0 0{0{0{0[0{0| AaI~7<RA
2-20a| 1550-103-002-00| =75 &4} 5.3~ 1(0({0lolofololofoloiojo]o
2-21 | V211-360-601-20| axz#at (SP) Méx12 | 2|o|ofo|o]jolojol0|ojolo]o




T

B&LHa— K

L
e

e

1ail

L

— ©cows
&8

&

1550-103-260-00
1550-103-270-00
1550-103-280-00
V201-260-801-20
V401-160-008-00
1550-103-242-00
15650-103-260-00
1550-103-290-00
1550-103-250-10
V211-360-801-20

T F7(=s3) ASSY

«F -7 (=3) COMP
cF AL FHA- (53 ) COMP

e IHFEENL B

*S. W

75v7(38)
F-r4F(33)ASSY
2757 -4 (%45 )ASSY

r TR THA- (2F)COMP

sAFEEALL(SP) M8ex12

[T I e R R R SV T o T e B
“ooooo
Rooooo
X % % %

*

Jit



#w o & R

1 180F | 9 | 200F

SHES BHKI- K % Bls g x| m o=

- = | O | DXINO | |D . =
X X 06
3- 1 |1550-104-200-00| =72V ~% ASSY 1]/ojo|ojolojofolo|olofofo
3- 2 |1550-104-202-00| -<-AzL AV} 1|lolojojololojololo|o]o}oO
3- 3 |1544-104-203-00]| -2,y 1/o0|lojojolofoflo|olo]|o|o]o
3- 4 [V271-160-602-50 | +F v &L} Méx25 2o | 1/0(0|0|0|0|0(0|00|C|0]|0
—3- 5 |1544~104-204-00| --<y%v ASSY 1|olololololololo]ololo]o
3- 6 [1544-104-205-00| - A7 1lo|ojo|ojo|ofololo]o|0l0
3- 7 [1550-104-001-00 | 3,5-skh-=x (A) 1/o0t0|0]JO|0f0j0|0O(0{0]0O]O
3- 8 |1550-104-002-00| 5-3-%-= (B) 1{0{o|0|0|o{ole|ojojo|0]0
3- 9 |1427-101-022-00| 25v7(48) 2|0lo|0{0]|0|0|0|0D{0}0|0|O
3-10 |1415-101-040-00| 7y »7 {C) 1(o0foj0jojo|ofol0f0]0}O}0
3-11 |1550~104-210-00| =729 ~-+xF- COMP 1{0{0|0j0j0f0|0|0|0l0O{0Q]O
3-12 [V211-360-801-60 | =#&#HEA+ (SP) M8x1i6| 2|0]ojo|0|ojo|o|o]|Oo|O|0O]O
3-13 |1434-602-002-00| =72y -3+~ ¥ ifolojo|olo|lo|ololojojolo
3-14 |V211-360~-802-~50 | =#4£L}+(SP) Mgx25| 1|0j0(0|0|0j0|0|0]0.|]0|0]O
3-15 |1434-602-224-10| Z» a2 VT4 (B) 1{0j{ojo|o|olololojololofo
3-16 |1550~104-220-00| 41+ Vvs b1 COMP 1{o0/ojolo|o|ofolololoiolo
2-17 |V304-260-008-00| =% 452 b M8 2| 2|0l0j0j0|0|0|0j0|0]l0|0f0
3-18 |V401-160-008-00! S. W M8 2(0j0({0f{ojol0jo|ofo|o]|o]|O
3-19 [1480-104-004-10| =77y —F =4 1{o0|lolo|ojololo|olojo]o]o

29



_ T — " 180F |.0.]-200F R
SEES| SRI-F | & 2 i o | bolxhel 0] [oLX ] ® =
R : X X 06

4- .1 |1550-112-220-00| «3»5 Y (N/120)ASSY 12V e4aH| 1|0jof0oj0io]| |o]o]|olo|0|o} 41 ~7 868
4- 1laj 1552-112-200-00| %579 (N70Z)ASSY 1{ojolojolo|o|ojo|0|0}j0|0|REA~
4- 2 |1550-112-222-00]| - =% yF4 s5i0|oflojolo|ofolo]olololo
4- 3 11550-112-223-00| *=F 4 v v 1jolofojolololojololo]ofo

- 4 | 1427-621-003-00| A sF Vs FEAL (A) 2{0fpjo|ojolojololo|o]o]o
4- 5 |1544-112-001-00| 57 YAF - : 1|lolojo|ofofololololololo
4- 6 |V411-260-006-00 | § #¥+#x M6 2(0j0|0jof0(olofojo]ojofo
4- 7 |V300-260-006-00| 5 ¢ M6 4(ofo|ofo]olofolojolo]afo]
4~ 8 |1550-112-003-00| 7-RA¥-~7n ‘ 1{olo|o|olofojo|ojofolo]|O

4- 9 11415-621-017-00] #~33AH,1-(L20-13) 1]ofolo|ojolololojo}ololo
4-10 |1550~112-002-00] <sF Vs -7 1lololojojofoloiojo|o|o]0
4-11 |1402-621~014-00| £~ $7AH.3-(L50-14) 1lojojojolo|aio|o|ol0fo]|0O
4-12 | V211-360-801-60 | a#x##A bt (SP) M8x16| 1|0jo|0fo{0|o{00t0j0(|0]|0O
4-13 [V304-260-008-00| ax&+u b M8 2v=| 1jlo|ofojo|ofolo|ojolo|o]|o
4-14 11550-112-200-10| <»7V<~-x CQOMP 110{0j0(0j0]j0j00{0]0|0]0
4-15 [1544~112-202-00( /5. v=a 4jojotolojofojololojolo]|o
4-16 {V211-260-801-60| amzxAtr (8) M8x16| 6|olo|0tojo|ololololo]o|o
4-17 |1444-607-002-00| Y-, s x 1]ojofolojofofofo|ololo]|o
4-18 |V120-166-001-20 | ¥5xr<ax (P) Mex12| 2|o|o|ojo|olojo|ofololo]|o
4-19 |1548~606-003-00 | A=+ 1lof{ofo|ofolojololo]o]alo

30



8 BE— e o

(8]

uQ

\.‘ :TFi9-54 -2a
‘ﬁs\\"\

—30

31—,
.T\\\ 31
31
25 ———~E
18—E

g:ﬂ’—lg 13—
7 i—e
17s 15—
. S - | . a0 = mon O - ) ER B
----- : - @l L [2BOF 2 [200F |

RHES Bsa-K | . & & |0 ol bl X] & =
L . - = 5 X1 X 06

§— 1 {1544-116-001-30(. 72 4irnm, F i1{o{ojo|olofofo|ofofofo]o

5= 2 11544-116-210-20| 774eA 74+ ASSY 1jefofojojof0joj0j0 (0|00

5- 3 | V411-260-006-0Q0| #¥+ak Mé 6/0|o|ojofo|ojojo]olo]ofo

5~ 4 |V500-162~501-50| wyry 25x15{ 6|0jolojololojolojololo]o

5- 5 | 1518-116-102-00| 7 7enr~za 1{olojolofojololojolofo]o

5~ 6 |V111-166-001-60| 75 Ay~<3%y M6x16| 2/0|ofjo|ojolofojofofofo]o

5~ 7 |V411-260-006-00| 3 H*+xi M6 2|lo|lofo]ojalo|ofojololotlo

5~ 8 |V401-160-006-00| S.W . M6 2|olofololojo|olo|ojofo]oj-

5- 9 | 1544-117-200-20| 7 /&AL-i- COMP 1/afojolololofojojolofo|o

5-10 |1544-117-005-10| 27V 7 (10X115) 110/ofofojo|o]olojo|olo|o

5-11 | 1544-117-003-00| 4 =v7(11%x40%3) 1|oflololojo|0]|ojc{0|0|0]0

5-12 |1404-117-008-00| FVyyA7Y 7 (22) 1{oflojofojolofofo|o]o]o]o

5-13 |[V411-260-010-00]| : ¥++ % M10 1{olo|olofo|ojololojoio]o0
"5-14 |V327-262-110-00| $VYFF, + (54 ) MIOXI25 1= 1 ololojo|o|olo]jo|0|ofo]|oO

5-15 |V500-162-502-50| v yrv 25x25¢( 1|ofojojojolofojoiololo|o

5-16 1544—11‘7;2,‘2;0;%;: Amy 744 ASSY 1)olojofofol 10100100 0w e
5-16-1|1545-117-200-00] =xm» rA71 % ASSY 1 ~ 0

5-17 |V411-260-006-00| 3#*+r M6 2|ojolofojolojo|ojoiolofo
5-17a|V411-260-006-00| $ #>+x% ijolojolo|o|o|o]olofofo|o

5-18 |V500-162-501-50| 7yEv 25x15| 2lolo|ojojolofofolo|o]o]o

5-19 [1544-117-210-10| 72xr7 -4 (B) COMP 1{o|ofofolo| |o|ojofol0|0] 1 ~®
5-18a|1544-117-210-20| 7 2%&AT7 -4 (L) COMP 1fofololofojolololofolo|o]| @~
5-20 |1544-117-230-00| 777 -4 ([C) COMP 1{olofo|ojofojojolofolo|o

5-21 [3740~161-007-00| YavsFavuxymy FEv 1|o|ofofo|o|o|ojotofolofo

5-22 [V411-260-010~00] 3 H+¥Hx M10 1{o|ojofololojo|o|o|ofofo




‘ £ OL D O= |
i 1 CELFE |9 | 200F
swES maa-— K | = 2 B s 0 X =
- == g 0 | DIXNO | D =
BN X 06
V500-163~002-00| 7Y v 3%20 1]olojojojolojojojolo|o]lo
V411-260-010-00| s#HxHH5 M10 2lojojo|0jofo|ofoj0olO|0Of0O
V500-163-002-50| 7y v 3X25 1|0j0j0t0j0|0|0l0|0{0O|0]lD
1480-117-002-00) 7¥vs YAZY 7 (52) 1{010i0|0j0|0f0]0j0|0]0]|C
1544-116-002-00| ~FiAmig 1{0]/0j0|0:0|0{0|0|0(0]|0]|0C
|_1550=11-6=21-0-=0 0 —F S TS E T IT01 oo ToToT~0--0-1.0 ola
1550-116—001—0 Ot Tl B 5o K 30 BB 0[O O TOTETET0 |0
S V58-8-163—002= 51 “‘““'7‘1)‘2‘-7~-*~~~ axzs |- 1telerelo|el |o|040]04000] . \
V500-162=504-50-—=—7F&>" "7 - _9g5x15] 3101010004 +0040-10.40 10— .
TU180| TU180F |TU200| TU200F
®|4385|/43809 17439942749
®|[4386| /43810 |5400][/H2750] .
| ¢ 28 y-rer -8 -eTY| | d
{) .
T 2i0F ¢ o £ofo B E
e SN 1 4 "SR yefed




HI

1444-120-002-00
1550~120-001-00
1444-120-200-10
1444-120-201-10
1444-120-202-00

2325V X7V vs

Ay =7

755%(200)A8SY
755754, 22(200)COMP
v TS Fh-

B B
| 1 [180F | 2 | 200F
e - . B8 g 0
BHEEE ML — K & 2 o | Inlvhl o X | f& Z
o 2 DIX|N D ‘
] 3 i . {06
6- 1 | 1544-120-200-00]| #525%~v2vs SET 1{ojolololo| |0jolo|0|0f0|Mm1~B
6- 1a 1544-120-200-20| #5+5~ vy vy SET 1lojojofolC|ololofo|ololo|®~
6- 2 |1544-120-007-00| » 7»¥2(19%X22%x15) 2f0lofo|0|0] |oj0|0j0|O]0
6~ 3 |V252-261-002-50| w==a3iHEA} Mi10x25 3v= | 4| 0j0|ofa|0|o|o]0lo|olo]|0
6§- 4 |V203-261-010-00| =¥&Frb(HY2) MiOx1.25x100| 2| 0|lolo|ofo]|ololoiololo]o
6~ 5 1V203-261-003-50] =HRALL(hY2)  MIlOX1.25X35 2l olojojo|o|ojoiololo|o]o
6- 6 | V401-160-010-00| S.W M1 0 510/0f(cjofo|o|ofo|ojolojo
66— 7 |V411-260-010-00| HF¥FHX M10 4lo0to0lofolojolojofa|ojo]|o
6- 8 |V211-261-002-00| a#FHLt (S) Miox20{ 3|0j0|o]|ojojoj{o|0l0|0|0]|0
6~ 9 |V201-261-203-50| 3#FFEA b Mi2x35| 2{0lojo|ojo|ojojolojolofo
6-10 | V401-160-012-00| S. W M12 21 0lo|ojojolojojolo]o]o]0
6~11 | V411-260-012-00| I #HFHHR Mi 2 2(0l0|ojololojojo|o|o|0]0
6-12 | 1427-201-007-00| Fvv735 7 2{0lojolofolojolo|ofojololAml ~@
6-12a| 7955-201-026-00| FLrvA37 (1) 21o0lojojofo|ofo|0o|O|0j0l0} B~
6-13 | 1427-201-008-00| ¥=A Y55 (16) 210lolojo]jo|o|o|0|0]|0jolo|#&1~®
4 1|/ ojalojo|ojo]olo|cjolo]|o
5 110(of{ojololololo|olo]o]0
6 1]/ o{of{o|olojo|ojolo]0lo]o0
7 1{o{ojojojololo|0j0j0|0]0O
8 1{olojojofolojo|0lofo|of0O
9 6| olofolojo]olojolo|ofo]|o
1{ololojo|ofofo|olofo]olo

V211-260-802-50| =#&#L b (S) M8x25
V304-260-010-00] =H &+ } M10
TU180| TU180F[TU200{ TU200F |
@ | 273 | 2771 289 | 1852
3| 274 2772 290 1853

33



rm

]

- B e 5 o gl 1 [ 180F o T200F [ —

REES BRI — k- T T g o | [olxlyl 6 | plX] ® .=
e 2i0e o e ) . # A ¢ r=b gl

. X o X 06
7- 1 [1550-121-001-00| 4> 75 px¥-(20) 1|o{ololojo]ofololalold]o :
75 2 |1427-203-009-00 | R.B.B( bx7v%) 6305 6NR| 1|0]0lolojolololofololo]o
7- 3 |V704-140-025-00 | .CHa +a7 (2 2) 25 1/0|o]lofo|o]olo]o]|olo]ofo
77 4 11544-122-001-00 | 4 75 b&¥-(37) 1|0{0foi0j0| |o]ojo|0|0{0|/41~@®
7= 4a]1544-122-001-10 41 v 75 bFv-(37) 1{olofo|ofolo|ojololojo|o|®~
7- 5 |V600-110-600-40 | R. B. B 6004 1{ojolofolo|olo]olo]|ololo
7- 6 [V600-110-620-50 | R.B.B 6205 1{0jofolojolololo|ojolo]o
T- 7 |V744-125-400-80 ]| #f - TC25408( 1[0j{0{0]0]0]0ojololalo]olo
7- 8 |1550-122-200-00 | a2=.I-4Aef Y} ASSY 1{ojofolo]o| [o]|o|o]ololo
7= 89 |1544-122-201=00- 2= 340 pf-p 2|oloelojo|ol {olo|o|olofo]| 41 ~7RBE
7-10 |1550-122-201-00| = ad v o4 7 b 1{o{ololojo| |o|ofolo]ofo :
7-11 |1544-120-004-00| /75,524 1]/o[ojojo]|ofo]olofo]olo]o
7-12 |V211-361-004-50 | a#&#Ah(SP) Miox45 | gjojolololo|ojolo]ololoto
7-13 |V781-100-000-20| 7a=v*75 7 PT 1,8 { 1|{0l0j0lo|o|oflo|ofolo]o]o
T-14 [7963-208-004-00| A4 A%¥,7(23) 1]o|ojolojololo|ololo]o]o
7-15 [1550-120-002-00| Ay ~7H4 ¥ 1{0jo0lolofojolololo]olo]o
7-16 |V211-260-802-00 | a#&#r} () MBX20 2|0{olofolojololalololo]o
T-17 [V744-125-470-80 | #4rc-n ) TC25478| 1/0]l0jofojojolojofolo|o]o
7718 |1544-120-210-00| vA ¥ s COMP 1/0{ofl0fo]lo] |ojofolofo|0( # 1~ >8R
7-18a|1544-120-210-20 | v4 ¥His COMP 1{o{oflofojo| [o]|o]o|olo|o]| 7mq
7-18Db11544-120-210~30 { vf¥mA ¥ COMP 1{olofo|ofo]olo]ojolojolo| B~
7-19 |V211-260-803-50 | awssit (g) M8X35 2|ofolofo{o|ojolo]ofo]o]|0
7-20 [1544-120-008-00| 7y —4p.14 - 1/o|ojolofo| [o|ololololo]| A1~
7-20a|1544-120-008-10| 7y —4Fiq 7 1{ofolaflo]jojalojojo]o|ojo| @~
7-21 1544-120-009-00{ ¥=-7(300) 1{0|0{0[(0[j0|010|0(0|0}O]|O

34



@

- S & 180F 2 200F
REES MEI-F |- B B Jad 04 InlxInl 01 |p X |- & %
[ N 0N | S - e = - -

T-2213737-172-011-00| 755 vy " %A 55 v 1|ojojojojojojojo|ojo|o]0
7-23 | 1544-122-002-00| ¥ (6 x4 9) 21010101010 j0j0[0]0f0f0(0|
7-24 | V411-260-006-00| $#++xx Mé Zi0Jojojoforojofojojolofo
7-25 | V500-162-001-00| 79 & 2x10 | z|ofojofojofolo|ofofolo|0|} 1 ~@
7-26 | V520-101-001-40| ~M 3V (a) 10x14) 170l0j010j010j0(0(0f0(0f0})
7-27 | 1544-122-003-00| =a# &4t (M8x1 0 ) ' 3|0fjojojojo| fofo|o|o|0 0l/41~®
7-27al 1544~122~-004-00 aFEFEALL (MBEX30) 3jofo0f0f0|0jo|ofojolo|0{0i®~
7-28 | V401-160-008-00| S. W M8 3jofojofofofofolojoiofofo|®~
7-29 | 1550-122-200-10| == -%1s4 v} ASSY 1j0|o|o|0]0] {ofojofo|ojo|/4El~®
7-29a| 1550-122-200-20 2zl -HATaAf v ASSY 1{040(0j0|0j0j01010(0f0|0 ®~
7-30 | 1550-122-202-00 | + 2=.i-#ATs 4 ¥ rR) 1{0jojofofo| |ofojoloj0|0|AEl~®
7-30a] 1550-122-202-10] « ==,3 m4rsn 4  HR) 1{0jojolojalolofolofojojo|®~
7-31 | 1550-122-201-10| «Yuf YFa Tk 1|0f0fo0f0]|0O ojofojofojo|A1~B
7-312) 1550-122-201-20| « Yud Y} a7} 1{ojojo|o|olofofolojofofo|®~
7-22 | 1550-122-203-00| ===l . f VF) 1y0(0|0;0|0} |0fofo|o|0(0]Aa1~®
7-32a| 1550-122-203-10| == -1 ¥ MF) 1{0/0{0j0({0|0f0|0j0]0)0|0| B~
180 | 180F| 200 | 200F

A/ No360 | No3514! No372 | No2293

®)|Na361| Na3515| Ne373 | Na22394

©|Na359 | Ne3498/ Na361 | Na2313 1

@[ Na360 | Na3499/ Na362 | Na2314 |

35



(84

Fi

i

TU180.

TU200

34

TU180F TU200F

@ M6251 | #2526 /%268 (M1 708

® %252 | 42527 %269 41700 - B 5 B =X

' ; T -] 180FJ- g [-200 Ffmmm
= - — e n_ —— e 8 0 . " =
Rﬂj?? gﬁ_,“” 4= haa B 5 O | Ipixin| 0 | D4 -

sz S X X 06

B— «1-{1544-123-200-00]| 23 257-4" COMP 1]0l0]0 olo ololojo|o|olsai~7ReR
8— 1a|1544-123-200~10) sS5.57-4 COMP 1]0/0lo0l0]0 0{0(0]|0]|0|0{A<BE~

8- 2 |1415-125-025-00| FveavAZY w7 (41) 1|olojojojofojofolo]ofjoio
B~ 3 |W201-260-805-00| =m&+£EL} M8ex50(vwx>)| 1|0|0]|0|0|0|o(0|o]|o]0f0]0

- 4 |V304-260-008-00| =&+ + Mg 2| 1]0{0|0|0|0|0]0|0[0}0|0|0

8~ 5 | 1432-616-002-00| 2y, s v=a 1{0lo|lo|ofofofo|otojoiof0

8- 6 | 1480-122-001-10| 75> %5-2 : 1{ojolofolojo|o]ofofofo]o

8- 7 |[1544-123-003-00| P T7FVFHEA P (M8X20) 1/0fofofolo}0 0;0 0|0f0]|0

8- 8 Fov 1x150| 1|0|o{ojololofololololo]o| &
"8= 9 |1544-123-220-20| =-7vv COMP 1|ofolo]o|ojolojolofofofof

B-10 11544-123-230-10| 75,974+ ASSY 1]|ojofojolo|ojofolofojofof 4&1~®
8-10a|1544-123-230-20| #5,594+% ASSY l1io|o|o|olofololojololo|0| ®~
8-11 |3737-235-008-00| #=v3Yvqvry 2lolojolo]o|olofolelolo]o

€-12 |V411-160-008-00| I H*++r*x ¢ M8 2]/o|olo|lo|ofofojolololo]o0

8-13 |V500-162~002-00| vy Eyw 2x20 | 2|o|olojo{o|ofo]jo|ojo]o|0O

8-14 |1434-122-004-10| 7V s vRrFY) v s 1|o|ofololojojojo]lojololo

8-15 |1544-123~005-00| #» bt7m 5 F 1(0l0j0{0{0{0/0|0|O|Ol0O}O

8-16 |V411-160-006-00| IFE+H¥ix M6 1{ojofolololojo{olo|olo]o0

8-17 |V500-162-001-50| vy 2X15 |1 |co|ojolofofofolo]olofo|0

8-18 |1548-312-001-00| 7» '~ (26X38X3) 1 0i10(0l0joj0|0l0]0{0l0]|0

8-19 |V704-140-025-00| CH& a7 (22) 25 1|0fojojo|0j0j0l0|0]0i0]0

§-20 |V762-150~000-00| Z7V==s 72 B-M6F | 3 |0jojojolojcjolofolofo]of 1 ~B®
§-20a|V762-150-000-00{ 7V A=y 7a B-M&F | 1 [0]0|0jo|o|o|ojo|o|0lo|0] ®~

36



e B R e e e R X X ‘osy
9- 1 [1544-201-001-00| Ye¥ b iyvavs-2 1{oj0|0foj0| |Ojo|Ojo(0]0| &1 ~&
S- 1a|1544-201-001-20| 7o v biovavir-2 1|10j0(0f0}0 o[oj0j0i0lo| ®~
9- 2 |V520-100-801-60] ~favey (A) 8X16 | s510fo|olo|ojofo]ololotolo]-
9- 3 11427-201-007-00] Frvosy 1lojofofofo|l |o|ofojololo| A1 ~@®
9- 3a[V781-100-000-60| 7x=vx75s 1lojojojo]ojo|ojolojololo| @~
9~ 4 |1427-201-008-00| »-Av» vy (16) 1o{o]o]olo| [ofofolojolo] 1 ~® =
9- 5 |V211-361-003-50| =a#2#Lt(SP) M10x35 | g|ofo|o{o]ojo|ojofojololo] -
9- 6 |V211-361-003-00| =2#&#A+ (SP) M10x20 | 2|ofo{ofo|o|ojofolo]o|o]o
9- 7 |1544-201-004-10( 41 v F» b A& 1j0{ojofofolofofo]olo|o]o ’
8- 8 [V211-360-802-50| a#&+&L 1 (SP) M8x25 |1110fo|ofofojofol0jofo]o]o
8- 9 |1427-210~004-00| 22574 1{o{0 0{0
$-10 |1340-253-002-00| v-AF¥,7(35) 1{o]o 0{0
180 | 180F | 200 | 200F
@& [No278 |Nu3077 |Ne299 | Na2041
® Na279 {No3078 | Na300 | No2042

37



Fig. 10 4 o7 bEvY-—HE

®_ b B %
’ & 1 RN TR [N 0 e pe—————
REES MEa- k. 2 5 Lo | o0 | b2 .® =
: X X 06
10~. 1 |1544-203-001-10 |- 4 ¥7» b=¥-(29) - 1/0fofolofo} |ojofofofo|6] m1~®
10- 1al1544-203-001-20| 1¥ 75 pF¥-(29) 1{o|o|ofolo|olofolooloto| ®~

10~ 2 |V744-125-400-80| #41o- A TC25408 | 1|ofojo|ojo]o|o|o|ojo]o]o0
10- 3 [V600-110-620-50| R.B.B 6205 1{ojolojofojo|o]o]olo]o]o
T - 4 |V600-110-620-40| R. B. B . 6204 1{ofolofo|o]ojolo]o]ofo]o]
10~ 5 | 1544-207-003-00| R.B.R . 6306R-NR| 1| 0|/ 0jo|ojo(ojoo|ofolo]o
10- 6 | V704-140-030-00| CHZ 129 (7) 30 1{olojofolo|o|ofolo]olo]o
10- 7 |1544-322-002-00 HA5-(30%x40%x2) - 1{0j0j0j0|{0f{0|0|0|0}Of0O]|0O
10- 8 [1544-205-001-00] F=voa7t 110[0jofojofojojolo]ofofo
10- 9 [1507-207-007-00| R.B. B 6205R 1{ 0/ 0lojoj0fofolojojolo]o
T10-10 [1544-205-003-10| »wvsFv-(238) 1/ ololo|o|0|o|oj0|0l0l0]0
10-11 |V704-140-030-00| C¥& 27 (72) 30 1/ o|ofojolojofololofofo]o
10-12 | 1544-205-004-10| a-*¥-(24) 11 0{oj0f0|/0O|o|O|0jO(O|O[O
10-13 | 1544-205-005-10| ~*¥v-(31) 7 1/0/0j0j0f0f0l0jO|O|0|0O]|0O
10-14 |1544-205-006-10 | v va&v— (37-1F) 1l ofolojolo]o]o|o|ofo]o]o
"10-15 |V600-110-620-50| R. B. B 6205 1] ol ojotolojofojolofofo]o
10-16 |V600-110-600-70| R. B. B 6007 1{o{o|ojofo]ciolofo]o]o]o
10-17 |V600-110-620-40| R.B.B 6204 1/0jolo|ojojo]ojololoflo]o

| 180 | 180F | 200 | 200F |

@ Ne360 [Na3514 [Ne372 | No2393

®[Na361 [Na2515|No373 | No2294

38




— b ea

O OO O O

-

g

\l
3
Iz
R
AY

1]
!
|

-1
by

.g

e

=—aa en e - ) B/ m # X
. B ] 180F 200F | ..+ -
2xBEs Maa- K 2 % - , X |
| DX N .|k

U R X X 06
1~ 1 |1550-207-200-00| V34 7=+ SET 1|{0j0j0jo|ojo|0f0]0{0l0]0
1- 2 ]1544-207-003-00| R.B.B 6306R-NR 1/cjojorojofalo|0|ofojo|0
1- 3 |1544-207-004-00] R.B.B 6306R 1lo{ojlojo|ajoj0jo|of0lo]0
1- 4 |1544-322-002-00] #5-(30X40x2) 10[0|0jo[0]j0(G|0]00]0 |0
1- 5 |V704-140-030-00| CH&b+AD(27)30 110{0j0j0jo|ajojo|o|0]|0|O
1- 6 {V600-110-600-50| R.B.B 6005 110/0/0j0]0)010(0f0|0j0/0
1= 7 11544-207-001-00| »v v2F¥-(33-26-20) 1{0]ofoj0fo|o]o]oio|0]0f0
1- 8 |[V654-425-301-70| =-¥FA(#-2) KT253017 1]olojofolojolofolofofa]lo]
1- 9 [1480-211-005-00) ASA}H5-(25%36x2) 1jojo|ofojo(ofofafafofo|o
1-10 |1544-207-002-00| #r7F=voFy—(3g) 1{ojojoflo|ojolofclololo|o
1-11 |1547-208-001-00] ZevpF=voFv-(23) 1 olo|ojo 6l0{0|0
1-11-1|1544-208-007-00| A754 vF= 1|0|0 00

1-12 |1544-208-002-00| 7= Y} V547247 } 1 0l0jojo oclofolo
1-13 |V744-120-350-80| +Mrv-s TC20358 1 o|lojojo| | |ofofo]o
1-14 |V704-140-020-00| CHA 27 (57) 20 2 olofo]|o olojo]o
1-15 |V607-110-620-40| R.B.B( pr7Y%) 6204NR| 1 o(o0|o|o 0|0(0/0
1-16 |1544-208-003-00| #35-(21%x27%x25) 1 0/0{0|0 o|0|o]0
1-17 |1544-208-004-00| A52 4235~ (20x28%2) 1 0|0]0{0 0{0]0]0
1-18 |V600-110-620-40| R.B. B 6204 1 010(0]0 0]0]0]0
1-19 |1550-208-001-00 | »¥va¥F¥-(33) 1 0{0|0}0 0|0j0|0
1-20 |1544-208-005-00| 7evhbs=vipa 1 glojo|o 0jojoio
1-21 |1544-209-001-10] *» 7¥F¥-v v 1{0]cjojojo|o|ojofofo]0]|0
1-22 |V580-140-602-50| A7V »7Ey W) %25 11o[olojofo]olojo|aloloo
1-23 |1544-209-002-10] -3, 2%¥-(26) 1|/ofo0jo|ojojojalo|ofafoio
1-24 |V654-422-272-00| =-FaA(&-2) KT222720 1]0{0l0j0|0fl0|0(0j0|0|0|C
1-25 ]1427-204-003-10| ASA 55— (22%x34%2) 2l0l0(0[0j0j0j0l0fO|0|0I0
1-26 {V704-140-022-00| CH&r27(22) 22 1{ojoflojo|ofoiolofojololo

W
. 0



1]
i
i
i)
N1l
F{
v
v
o

-_Egﬁiiigﬁ,f‘mlw

i

>
>

1544-215-001-00
1544-215-001-10
V211-360-803-00
1544-215-002-10
1544-215-013-00
V211-260-802-00
1544-215-250-00
1544-215-210-20
3646-102-011-00
1488-541-007-00
1544-215-006-00
V723-102-003-00
V211-260-802-00
V211-260-801-60
1544-215-230-10
1544-215-230-20
1544-215-270-00
3761-212-004-00
V210-260-601-20
3746-321-014-00
1544-215-002-00
1544-215-014-00
1550-215-200-00
1550-215-200-10
1550-215-200~-20

F o2 AN
FIVIR AN

an gL (SP) M8x%30
F= VUOHAF
Fx/ONAF
avaEA L+ (8) M8x20

AL VT T —bsi4F SET
AL VYT T =634 F COMP
7y (14X16X%X20)

" HAPY-A(14X22X%6)
HAy » b, 75 vy

IIO Ill) ./;f
aFFELL 8) M8x20
axzEAME (8) M8 x16

A VY7 v 7-u COMP
24 w7 b7 -5 COMP
24 V7 b7 -4 COMP
HRAFT D= (T h) b xFHR

£ b+ (S) Mé6x12

T e FIUVIH VAT VY
FVvo e ATV (85)
vy Yy AFYV V7 (60)
A 7 hvi- COMP
A4 vz vi- COMP
24 7 bvi- COMP

Lol o e e e T e A B O I s o I S T o T T S B B SR
O 0 0 0000 000000000000 00000 O
OO 0 OO0 0000000000 OO0 000 OO0 O O o
O OO0 OO0 0O O O O O OO0 40000 C OO0 00 O O
©O 000000000000 Q0000000000 O O
O 0O 0 OO0 00 00 OO0 000000000 00 O O
©C 00O 0000000000000 000000 O O
O 000 00000000 O0C 000 000 OO0 O O O
O 000 000000000000 00000000 0O
©C O 000000 00000000000 E0 00 o O
O 000 000 0000 0000000000 OO0 o O

i =
H1~®
®~
Sl ~@
®~.

5l ~@
Mol ~REE
REF~
4l ~@
®~
%1~©
O~®
®~
}M1~©
M1 ~®
®~@
®~
il ~0
O~-®
@..

40



e

e e T o S
- - ek |1 [180F ] 2 [200F] .
' . : B g 0 X
REES BHKHI—-F B - £ 1o plxInl 0 D X & %“
_ ~ |2 . 4 § - -
i e - = X X 06
2-16 | 1544-215-004-00| #--7(14%x130) 1/ 0|0|0|0|0]|0|0{O|O|C|0]0O .
2-17 | V580-140-502-50| 27y vrey W) 5x25| 1|ololo|o|of [e|ololofo]o }/m~©
2-18 Fok 1.0xg0| 1j0|o|ojolao] [olo]ololofo
2-19 [1518-213-014-00| L=, 7 110jojojofo| {o|o|olojolo| w1 ~©
2-19al 1544-215-012-00| L.i-, 7 1{o|ojo|ojojol|o|0]ololo]o] ©~
2-20 | 1550-215-001~00| v—rr - 1lojojofojojofo|ofojofo]|o
2-20-1] 1545-215-001-00| L~<As= - 1 ' 0 ([ 9]
2-21 | 1544-215-011-10| -3 =44 1|{0jojo0lo|oj0|0|0]olololo
2-22 | V720-112-401-40| “Q%yv s P14 1|olofofofofofojololo]o]o
2-23 1V211-260-802-50| =zt (§) M8x25| 1]0(0|0|0j0j0|0|0{0]0]0]|0
2-24 | V201-260-806-50| a#&#=L} Msx65| 2|0|ojo|olo|o|ojolofolofo
2-25 | V401-160-008-00| S.W Ms 2| 0flolojo|ofo|ofoiojo]o{O
2-26 |1432-216-003~00| =#Z2xEA M8x16| 110j0{0|0fo] |ojo|ololofo J®~
2-27 F o 1.0x120[ 1j0|ojojojo| {cjolololo]o|/ &
2-28 | 1544-215-260-00| 44 v>¥7+7-4.4~ COMP 1{ojojololo|ofojolp|o]|o]0
2-29 | 1544-215-015-00] Y=T7H-AXTY vy ' 2|ojojofojolojololojolo|o ]®~
2-30 |V705-140-028-00| CH& 47 (7F) 28 2lolo|olofofololofofofo]|0
2-31 |1544-215-016~00] F=vo7-w. 110{0|/0j{0j0i0|0|0]|0[0(0}O }®~
2-32 5oy 1.0x120{ 2|lolofojololofofololofo]ol/a
2-33 | V580-140-502-50| A7V v7/Ev W) 5X25 1 0
180 | 180F | 200 | 200F
(A Ne269 |Ne2726 | No285 [Na1829
@{Na270 {Na2727 | Na286 [No.1830
© | No254 |[Na2574 [ Na271 |Nal 735
®|No255 | Na2575 |No272 [Nl 736
= B N227 [No1921 [ Ne2009 [Na1252
41 [®[N222 [Na1922 [Na210 [Nal253




<

Sjed

1)
(X4}

- (N

59
— 55
®w L B X
@l [ 180F L2 [200F B ——
eS| HEI R 3 . £ Ll0 ] olde | blXL
X 1 X 06
13- 1 |1544-216-001-10| v -Y78R7~ 1{clofoiolojo|olofotojotfo]| "
13- 2 |V720-102-401-00| 70”7y vy P10oA | 2(0]ofolo|ojololo]olofo]o
13- 3 |1427-210-003-00| =ws+at 2{0(olo|ojojofo|ojojol0]o
13- 4 |V401-160-008-00| S.W M8 2l0folo|ojolofolojolofoto
- 5 |V411-260-008-00] $#HF+HH% Ms 210j{0lo|0{oj0fo|0folo}OlO
13- 6 | 1544-216-002-20| =s-v72 1|0jojo|ofo|olo|o|o|0i0]|0
13- 7 11507-307-003-00(- v78AFYvs" 2|olojojofolojo|o]ofo|Ofa]
13- 8 |V680-200~001-00| AF-aAH-4 5/16 2(ololojojololo|0jojo|0]0
13- 9 |V704-140-014-00| CHE bxw (7)) 14 1{ofojolojojolo|o|0ofot0]|O
13-10 |1544-216-003-10| -~ 7825 - . 1/o|ofojo(ololo|olo]|ofof0
"13-11 |V720-102-401-00| “O” Vv P10A | 2[olojo|o|ojojo|ofelo]0o]o
13-12 |1544-216-004-20] ~fo 74 1jofo|ojofofojo|of0lof0]O
.13-13 [1544-218-001-00) +7v7% 1{olojolojofojo|olojofo]o
13-14 |1302-225-003-00] ¥78A7Y v i1lojofojolojofolo]olo]ojo
13-15 |V680-200-001-00| AF-nsE-n 5/16 1{of{olojojolojo|olofof0Of0
13-16 |1544-218-200-00| 7> 7+7-4 (A) COMP 110lojojofo| folofojojolo| A1 ~@®
13-16a|1544-218-200-10| +7 77 -4 (A) COMP 1|ojo|o|ofojo|0(olojolo|o] ®~
13-17 | 1544=218-002-00| 7v- 1]/0jo|o]oj0oj0ofo|0|0|0]|0{0]
13-18 |V211-260-801-60| aws+:Lt () M8x1l6| 1|0of0|o|ofofoto]ofojofolo
13-18 |V720-102-401-40| “0"Vvyr P14 1/ofofojolojojofolofo]ofo
13-20 [1550-218-200—00| #7+7}7-4 COMP 1|olofojolo| |ofojojofojo| /41 ~®
13-20a|1550-218-200-10| 7> 7 +7-4 COMP ilolofo|o|o]ojo|o]ofo|0fo| ®~
13-21 |V580-140-502-50| A7V vy W) 5X25 1/0f{oolojojofofojofofo]o
13-22 Fowy 1.0x70| 1]ofo|olofo|o|ojofolo|o]ol &
13-23 |V201-260-802-00| = #F#F} M8sxz20| 1]o{olo|o|ofo|olc{ojolo]o

42



11 J180F [ 2 UOF
A N L - - B g 0
REES ’gﬁun_:"' F AR =S 25 0 plxin| 0 |.Ip B 5
| | 4 e s - g X X X 06
3-24 |V304-260-008-00) =&, } M8 2v. | 1f{0j0lofojoj0fojofolojo]oO
3-25 |1550-218-210-00| 7> 7b17 (A4) SET 1jofofofoje| |0f{0]0 010
3-25-1)1550-218-260-00| 47> +-47 SET 1 0]
3-26 |3625-112-001-00 - 7»~a (16X18X25) 2l0|ojofolo|ololofololo|o
83-27 | 1550-218-001-00| b=y ¥ (47 ) 110|0to(0fo| lofojo|ofofo —
3-28 | 1550-251-012-00| ¥7rms F(20-7) (B) 1fololojojofl |o|olo]ole]|o s
3-29 |1444-307-005-00| 4~ >3y A (M10) 1lo|o|o|olo| fofolofo]ofo
3-30 |V304-260-010-00| =#H&+» b Mi0 2:.| 1|oj0looiol folololoflo|o]
3-31 | 1401-304-011-00| #» b (L&Y A) Mi0 3w.| 1|ofojololo]| Jololololofo
3-32 |V411-260-008-00| :#Hzwwx MS 2fololofolo| |ololo]ololo
3-33 |V500-162-002-00| vypw 2%20 2lojololol0] jolo|o|ofo]o
3-34 |1550-218-230-00| #7>7+.247 (B) SET 1jojofololo| |ojolojolo]|o
3-35 11521-507-103-00| + 75> (16X18X15) 1{o|0|0f0}0 olofo|ofo|o
3-36 |3625-112-001-00| 752 (16X18%X25) 1jo{ofofolo| |ojololol|o]|o0
3-37 [1550-218-250-00| %7 v.i- COMP 110|0{ojolo| |ojofojofolol #1~@
3-37a|1550-218-250-10| 7 1-<- COMP 1{0j0fololo| |olofofolo]o] ®~
3-38 |1544-215-004-00| F=-7(14x130) 1/lo0{0fo]|0]0 o{ofo|ojo0jo
3-39 [1518-213-014-00] v.3-,7 1jolofofojo| |o|ofo|ojojo| A1 ~@
3-39a 1544-215-012-00| v.3i-,7F 1{ofo|0fo}0 ofoiojo(ofo| ®~
3-40 | V411-260-008-00| 3 »x+FH% M8 2lojofolo|ol Jofolo|o]ofo
3-41 |V304-260-008-00| a#&+» + M8 2va| 4|0|0|0f0j0] |0]|0|0o|0]|0O]0
3742 |1544-219-001-00| 7o v b7 8RAF - 1 o|0|0]o0 0foj0]|0
3-43 [V704-140-014-00| CHF 2O (22) 14 1 olojojo 0/0|0]0
3-44 [1544-219-002-00| ZevbF=vovTs 1 olofoio ololofo
345 [1302-225-003-00| 7827y v7 1 olojo|o ofolofo

L e e e o T e e e S T T S T S SN

I A« 5 A

IS
)



=X |

=0

—
(Fel

o
kI ]
Y1y

c

e fpy

— = = . _ ‘{E‘ 8 . \ =

REES H&a-—F R Z | D!X N "
| HERRENE 08

3-46 [V680-200-001-00| A5 -Am-1 5x16 | 1 olololo olololo

3-47 |1544-219-200-10| 7o v +v7+7- 4 COMP 1 0010 0(10|Clo| M1 ~@&

3-472(1544-218-200-20| 7= b7+ 7 -4 COMP 1 olojojo olefolo]| ®~

3-48 |1544-218-002-00| FL~} 1 ojolo]o oiolofo

3-49 |V211-260-801-60| a#H&ELr (S) MBX16| 1 0{0j0]|0 0j0|01]0

3-50 |V720-102-401-40| “0”y vy P14 1 010|00 0]0(0]0

3-51 |1550-219-200~00| 7= v Fuv-i- COMP 1 ololo ojof|olo| 1 ~@

3-51al1550-219-200-10| 7=~ b= COMP 1 0j0f{o|o0 o(o0jo|o| B~

3-52 |V580-140-502-50| A7V vr/E Y W) 525 | 1 olo|ojo ojololo

3-53 _ Foev 1.0x70] 1. olofolo o|ofolo|

3-54 |1544-219-006-00| ,7(12) 1 0|o{o|0 0{0101}0

3-55 |1545-218-001-00| #7 v~ . 1 ' 0

3-56 |1404-502-013-00| =#&Hat (MBX25) : 1 0

3-57 {V304-260-008-00| s# &%~ + ' Mg 2 1 0

3-58 |1544-219-005-00| vi-,7(12) 1 0

3-59 |1544-218-005-00{ ¥.-7(60) 1 0

3-60 |1544-218-004-00| v 7 pm F (7)) 1 0

3-61 |V411-260-008-00 | & #F#Hx - M8 2{ |0

3-62 |V500-162-002-00| 7pev’ ' 2x20 | 2 0

3-63 |1544-218-005-00| F.-7(60) 1 ololo]o ololo| |©~

180 | 180F | 200 | 200F
@ |Na254 | Ne2574 [No271 [Na1735
o= | | @] Ne255  Na2575 | Ne272 |Nal736
©1N222 Na1922 [Na210 | Nal1253 1]~




_]....
8 o
0

=
- S 1:8.0 2 2 O0F
Etﬂé% L3 — K = £ " DVXN 8 5 X s

X X 06
14- 1 ) 1550-251-001-00| 2Y9-7x4. 1jojojodo(ofolojolololo]o
14- 2 |1544-201-003-00{| »=S—pRbry b 1{0{ofojofolojololofolo]o
14- 3 |V520-100-801-60| ~favry (a) " 8x16| 2|ojo0fo]ofafololo]olofolo
14- 4 |V211-260-802-50 awEFEL b (S) M8x2s5| 7(0|ofo|ofo]ololo]ololo]o
—14- 5 | V211-260-805-00| =22+ (s) M8x50| 3|o|ojojo(o]ololo]ololo]o
14- 6 | 1550-251-002-10 IV -ThVv vrEY-(11) 1lojojojojojofolofololo]o
14- 7 |1550-251-003-00 7Y ~IAGvEFY - (25) 110(0jlojofofololojolo]o]o0
14~ 8 | 1550-251-004-00 IV -TFhuvrFEr_(43) 1|0]lofojofojolololofofolo
14- 9 | Vs00-110-600-40 | R.B. B 6004 1{0j0jo]ojolo|ololofoio]o
14-10 | V704-140-020-00( CH&bav (2s) 20 3fol0fololojojolololofo]o
14-11 |V600-110-620-20] R. B. B 6202 1{0|0lofojolofcfololololo
14-12 1 V705-140-035-00| CH &+ 7 (75) 35 2|0/0jo|ofofolololofo]o]o
14-13 | V704-140-015-00 CHErav(r) 15 l1i0)jolofofo|ofojo)jo|0fOo |0
14-14 | 1550-251-005-00 7V -THO vEFY-(20) 1{olojojojolo|olo|ofojo]o0
14-15 |1550-251-006-00( 2V -7+%~(21-34) 1/0{0lo]o|o|ojolojolofo]o
l4-16 | V600-110-620-20| R.B. B 6202 ] 2(olololo|o|olofololo]olo
14-17 [ V705-140-035-00] CH2 a7 (7+) 35 1(ofofojololotolofololoio
14-18 |1550-251-007-00| 2V ~7o 7827~ 1|0f0jo|ojof0(0j{0(0|040]0O
14-19 |V720-102-401-00| “0”yvr "P104a | 1]o]ofolofo]olololololo]o
14-20 |1550-251-008-00| 2y -7 o4 1|o{ofofo|o|&iolofolo]olo
T Ta-21 |1302-225-003-00] voERFY vr 1{o]olololoololololo]o]o
14-22 | V680-200-001-00| RF-AdF-i 5716 1|ojololojojolololololo|0O
14-23 |1550-251-009-00] A} vt} 1jojojo(ojofofololofojol0O
14-24 1V211-260-801-60| axs &Lk (S) Mgx16| 1{0/ofololofofolo{ofofo]o

14-25 |1544-219-200-10| 72v o7 r7 -4 COMP 1folojofojof Jolofojolo|of #1~@

45



ooy };‘j‘

e = TS
::p.'%? T-.:{v gr - — }‘ na = !i’:g 0 DIYIN 0 D X {I% =)
1 1% B3 106

14-25a|1544-219-200-20| 72 Vb7 +7-4u COMP 1lolo|0j0|0 gl|ojofojolo| &~
14-26 |1544-218-002-00| Fv -} tlofojojololojo|o|o}o|0f0
14-27 |V211-260-801-60( axm&xEAt (S) M8x16| 1|/0(0|0[0]0 olotololo|o:
14-28 |V720-102-401-40| 70"y v 7 P14 1{ojlolololo|ojolo]ojo{a]o
14-298 |1550-251-200-00| #V-7>v2r7-4 COMP 1{0jojojolo| |o|ojo|ofo|0| £1~@
14-29a|1550-251-200-10| 7Y-7¥7+7-4 COMP 1{ojojofojol lolofololojo| ®~
14-30 |V580-140-502-50| A¥Y vy W 525 | 1|0lolo|o|o|o|olojolojalo
14-31 7oy 1.0x70| 1|/0|o]ojofjolojolo]ejoio|o|a
14-32 |1550-251-210-00| 7V ~-F¥7+347 SET o1 1]0]|0(0]010 glojofofojfo
14-33 |1521-507-103-00| + ¥» > (16X18X15) 1jojojolofo| tofolojofo|o
14-34 [3625-112-001-00| » 5. (16x18x%25) 1{oolojojo| [ofojolojalo
14-35 |1550-251-011-00| ¥7tmy F(2)-7) (A) “1 1]ojojofolo| |olofolofo]o
L4-36 |1550-251-012-00| »7bms K(2Y-7) (B) «| 1]olololojo| |ofojolofa]o
. 4-37 | 1444-307-005-00] &#— 350 (M10) -{ 1lolo]o|ojo| lojolofojo]lo
14-38 |V304-260-010-00| a# &5 b Mi10 2] 1j0|ojolofol lolofofofo]o
14-39 [1401-304-011-00| 7» + (&Y 5) M10 3v=|~1]0|0|o|olo| [olo|ofofo]o
14-40 [ V411-260-008-001 I#*+#% . Ms8 1 2lojolololo| |old]|ojo]|o]o
14-41 [V500-162-002-00| V€Y 2%20 2i0lofofojo| lojofoj0|0;0
14-42 |1550-251-23088| 2V -797 +7 -4 COMP i 1ol
14-43 | 1550-251-240—00{ #Y -7 L,{— COMP 1 ol
14-44-11544-219-006-00| /7 (12) 1 0
14-45 |1544-218-005-00 ). 5= -7(60 ). 1 0 _
14-46 |V201-260-802-00 P T TR M8x20 | 1 e I
14-47 |V304-260-008-00| 2 #5755}~ M8 1 i 'ij ;

180 | 180F | 200 | 200F .

) A [Na254 [Na2574 [Ne271 [Na1735
@ {No255 | No2575 [Na272 |Nel736
2Oyl pfo28] 073708 - 97 v P2 I S AV I o mll

46



..ﬁ

=
© ©C 0000 0 000000 0000 O
| s 2 .
a O O O O O O O O O O O O O O O O o
< [ SO OO0 0O C o0 000 00 oo o0
o O O O O O O O O O O CC O o O o o O
o 0O 0 0O OO0 OO0 0000 0000 QO
No o :
O 0 00 00 000000000 Oo o
Z O 0O 000000000000 aoo
fxy -
= it O 0O 00 C o o0 000000 o0 o0
00 o) D0 0D 000 00000 0O 00O o0
i ! 00O OO0 000000000 C O O
5 ©C 00O 0O 00000000000 o O
=
UK, d @ 1
N2 A A 2\ ~ D
MmN N A W ~N X N
0558M ~ = (SRR
gRXRe X = S S
L N S o o o s
— = m
=== = —
N KN 2
B N
K NS R o
v(m.\
: _ A O
A = N Ay o
N 4 oz o ~om &R R [a ¥
=X 222D R
8 NE R RN 3K KK YA s
a Noee w0 E % X KN
LI L B B BN N N N N S o S N N - <
. .
FUd oy »f MNNMNNNREBXXR .
2D (N DRKRIKNIKD AR A 0
O 0O 0 000 000000000 OO0
O O W N W W o OO o000 In oo o O
“«. [T T N T T U T T T T A T N
L 2 B2 B~ R~ T T VI o I < o B~ ¥ o I o BN Vo TN A o B o
OO 0 00 00 00O 0 0000 O H
| O N OO O WO O o000 o0 0 Qo
L T I T T T A R S R R I S |
—l_ — e o O MM e H H OO
O W W W WO MmO OO0 O O W W
ng M N N N o~ M MmN MM
a | U T [ R I R U A S [ [ R N N S|
O N+ HHO 0 00 C O A O O a
ﬁ. [Vo BN Vo BNV o NN V0 Ve SN o N o S < N Vo BN Vo N Vo B U B e L L2 I T2 I = R )
Lo B B B o B BT R S N Ve T o RN Vo B o B o BT BN I A
. -
E—“ ~ N M ¥ W W - 00 0O ~ N M T W~
- L T T R B B B ]
H T T S S T S S T T S S R S T
Em [T T I VP I Vo R Vo R To N Ve N Vo BN Yo TN Vo BN Vo IR Vo NN To BEN Vo RERN Yo RENNT o N T o)
1111%111111111111

47



6-1 1550-304-003-00 | Afir=cv(11) (L)
1550-304-004-00 | Afac=4(11) R)

1550-304-005-10 | F7ey 2035, %

1

1

1

1
16-1
16-1
16-1
1
1
1
1
1
1
1

& O B
SR 1 180F .2 | 200F
REES HEa—§¢ | = SR | 8 0 X =
= x: an T £ ” 0 DIx|N| 0 D ; &
: X X 06
16--.1 11550-304~001-10] F74-=x
16- 2 [1480-301-002-10| F7r=s vov7} (4)
16~ 3 |1480-301-003-10 TI7e=Fvvr7r (B)
16~ 4 |1425-431-015-00 T7E=Fv(11)
= 5 [1427-301-005-00| v¥=4YARSApH5-
16~ 6 |1550-304-002-00| ~~isy~ (20)
16- 7 11421-301-012-00 AZARPHS - (43X58%1)
16- 8 |1425-431-021-00| F7=Fvovv hmry _
16- 9 |V520-100-801-60 | ~favry (4) 8x16
16-10 |1544-304-007-00| ~fave (&) 8X32
6-11 |1550~304-007-00 IFEFEAL (M10X28)
6-12 |V401-160-010-00| S.W M1 g
6-13 |V600~110-601-10| R.B.B 6011
4
5
6
7 | V600-110-630-70| R.B. B 6307
6-18 |V705-140~080-00| CH5 b (7+) 80
6-19 [1550-304-006-00 #5~(35%x45x3)
8-20 |V704-140-035-00 ) C#% Fr7(27) 35

6§-21 |1550-308-200-00 TI7Ry 078 COMP
6-22 |1550-308-210~00 TI7R, 007y COMP

HHHP—"—‘NNNNMHHMA-&-‘NH‘HNI\)%A(\JD—‘H
ooooooooooooooooo’o'ooooooo
ooooooooooooooooooooooooo
oooooooooooooooo.ooooooooo
ooooooooooooooooow'oooooooo'
ooooooooooooooo'oooooooooo
COOC 0D 00O OO0 OO0 00 OO0 00 0o o o o o
OO OO0 OO0 00D 00000000000 o o o o
ooooooooooooooooooo_oooooo
S OO0 0000000 0000 00 OO0 00 o o o6 o
OO0 0000000 0D 000000 o oo oo .o
OOOOOOOOOOOOOOOOOOOOOOO0.0

6-23 [1480-304-001-00 Ty
6-24 [V744-114-280-70| M- TC14287
16-25 | 1550-308-220-00 T7®y 07 -4 COMP




e

T
alk

w

I

bo
LL.

o N
@

L.
(4
PP \\ UA@D
AR 3 d

Ton

X

)
1§
; D .
N . ]
R : !
e, ~ 1
i : ﬁ@
' 8 o O o0 o o o
C I
5 o o o o o o
ihho{o Q o 0 O oo o
iy .
; < o 0o o o o o
oo
o O O o O o
=z o ©c oo o
(xy
o 5 o0 0O o o o
00 [ o o o o o o
— g
oo o o o o
=9 O O O o @ o
—o0 O
O 0 o o o o
Pt
2
R
x]
p—g )
N o &~
X ot o BEE
) ™ 0 |oo
o MD_I %33
~ mdﬂv
™ ¥i%
) N
aoMN = Byl fe-
== N @]
: MO O x K SOk
S 4
s vooRrR N RS
U e .‘.T../a ot
aex oy [els
3 d
'~ & N R = D Ed
weon 1o BN
o o o o o o
oo < o o
L ot
i N O O 0 &
: O MmO o N
| . O N N O WO
. B | S E S R |
a : < 00 00O O ™ —~
i . o O © w L o
‘ fofe ™M oM M NN~
; a [ R I T
: ; O O O ~ O -
: i 00 DD+ O ™
Ll <+ 0o ¢ 0
e ) L =
! oe «
: [f= 20 N < I =
N _mﬁ NN NN ™
i H I T T TR T
3 0 W W W W Ww
w :R o~ o o o~

49



ey | S B F S &

REES BRI-K & ' |
P - A = X X 06‘

17- 1 11550-306-001-10 | V¥7 2RA~w v (L) 1{o{o|o|ofolofo]o{o}ololo
17- 2 |1550-306-002-10| Y¥72AA~T vy (R) 1{0flojojojo{0]o{0|0|0]|0]0
17- 3 |1550-306-003-00| #AY >}, VF¥7 220 2lojlofo|o|ofolo]olofofo]o
~L7- 4 |V251-361-604-00| w=3iHEup Mt 6x40 2= 7T| 2|0|0|0]o|o]olojo|o|ololo

7= 5 |V211-261-003-50| s #FLb (8) M10x35] 6|0|0({0|0jo|o(o]|ololol0]O
17- 6 |V211-261-004-50| axa#Fit (8) Mi10x45/14}0|0{0({0]o|ofo]olololol0
17- 7 |V304-260-010-00| IH&x+5 + M10 2= 4(0(0|0f0]0}0]0 |00 ofofo
17- 8 |V401-160-010-00| S.W M10 4/0/olofojo|ololo|o|Ol0]0
17-.9 |V201-261-007-00] =¥ &£En} M10x70{ 2fo0jojojofojofofo{ofolofo
17-10 |V781-100-000~40] F2=vx75, PTi1/4 | 2(0[0f0]|0|0]| [ofo|olo]o|0]| 1 ~>R8g
17-10a}7955-201-026-00 Frvrs7(1/4) 2(0{0f0j0j010[0|0]|0]|0|0|0| 7REE~
17-11 |1550-306-200-10| =7Yv27 5%} (L) COMP 1/0|0j0|0|of0oj0|0({0{0|0}O
17-12 |1550-306-210-10 | =7Y 27555, } {R) COMP 1{ojojofo|ojo(o(o|of0]O|0O
17-13 |1550-306-004-00| 754 » 7L -} 2|0|0fo0fojofolofo|o]|o]ol0
17-14 |V201-361-215-00| =#ZxHEA} Mi2x150 7T| 6|/0(0|ojo{ojo|oo|o|olo]oO
17-15 |V304-460-012-00| 7y } Mi2 2> 7T| 6|0|l0|of0|o|ojo|0|0]0O{0]|O
17-16 {V401-160-012-00| S.W Mi12 glo[ojolofofojo|ololololo
17-17 |1550-307-001-00| H=fvv7h 2|0j0jofofofojofo|o]|o]Of0
17-18 |1550-307-002-00 | Hfrxv-(52) 2|0{ojolofojo|o|ojofo|o]|o
17-19 |1550-307-003-00 A4 7(139) 2|10jo010(0{0fojojo(o0fo]0]0O
17-20 |1550-307-004-00{ Ars 7V vy 4/0f0j0{0|0j0(|0}0{0l0]|0O]0O
17-21 [1550-307-005-00| ooz -n 2|0flofojojo|ojo|0fofo]ofo0
17-22 |V600-110-630-70| R. B. B 6307 2lof{ojo(0fojolofofolajolo
17~-23 [V600-110-620-90] R.B. B 62009 z|o|0|o|o|ofofo|of{ofolO]0O
17-24 |V705-140-085-00| CHA 27 (7%) 85 z|ojojofofolofofof{o|o|o]o




8-2
§-2
8-2
§-2

V511-100-805-00
1544-310-250-00
1544-310-004-00

1544-310-005-00 |

HFTYF - RA- 8X50
Fv-%#7-4 (B) COMP

Uy (36X58%x3)

Ty s (26X48%X3)

[ - = s e S
- B @| 1 [A80F 2 [200F |~
sise mRa-F 2 2 o | okl 6 | bLX] ® =
. o ﬁ N Bl B L5 -

. 23 Lo b X X 06
8-0-1|1550-310-200~00| v -* ASSY 2| ololojolo| jojofotololo|)
8- 1 |1544-310-260-10| » 7V oy FL—+ COMP 4(ofofololo| [c]olofolo]o
8- 2 |1544~310-202-00| « AF~AH-a 6lolojolofol [ololololo]o
8- 3 |1544-310-203-10| Yy s-vaFy vy 4|0|olojofo |of{o]ololo]jo
B- 4 |1544-310-204-00| -V vrakss 2(ofolofolo| folofofo|o|o](#l~7EE
8- 5 |1544-310-205-00| -vvaxsz 4{0/ololojo| |ojololo]|olo
8- 6 |V500-162-001-80| -7yt 2x18 alofolofofo] jolojolofolo
8- 7 |1544-310-207-00| +F4AsFL -} g|ololojolo| |olo|ofolo]o
8- B |1544-310-208-00| »4<L~-ZFL— } 4i0lo|olo|o| {ojofojofo]|o
8- 9 [1550-310-001-10| 7v-%#.3- (L) 1{ofolojololojojolojolo]o
8-10 |1550-310-002-10] Fv-=x,1- (B) 1|0|loflo|of{o|ofojolo]olo]o
8-11 [1550-310-003-10| #R&»b, FL-FHi- | 2|lololojololojolojololo}e
8-12 |V211-261-003-00| ax&&at (S) M10x30 (14]|0|0{0]ojo0{0lo|o|ofo]|o0}0
8-13 [V201-261-013-50| =2# &+t " Miox135| 6|0lolofololofolololo]o]o
B-14 |V401-160-010-00| S.W M10 6|0lojojojolojolofojolo]o]
8-15 |V744-135-480-80| A A Av-n TC35488) 1/0{0|ojofo[ojolo]ofolo]o]
8-16 Fv-%Huacy COMP 1/0lof{ololofololololo]olo] &
B-17 |1544-310-230-10| Fv-%»4 COMP 1{o0flo|ololofofolojoio|olo
8-18 |V744-125-350-60 | #4Av~n £12925Q1 1 ofo]afolofo]ofolo]o |00
8-19 FU-FT7-4 (A) COMP 1/0{0|ojolofo|olo|o|0o{Ol0o} &

0 1jolojololo|ofoloo]olojo

1 1{0j0fof{ololojofo]ojo]|o]o

2 1|o{o|o|ofo|olojolojolo]o

3 1]/ololojolo|ofolofo]o]o]o

4 1{ofo|olojo|ofofo|o]ofo]o

8~-2

V720-103-503-50

llollu./y‘ P35

51



' T =

! 171 J1ECF 3 1 20Cs
Eu_——,z:! ~p = . = - & 8 0 ., . —
.—:_‘s?i Mo —- K an = 5 0 DlxIN| O D X i =

, = X %
8-25 | V742-125-380-50 ] #Anc—-a vczsass| 1{0|olofololololololojolo
§-26 |V520-100-801-60 | ~favvy (A) 8% 16 4l 0j0f0l0j0j0|0f0lof0]|0O]|O
E-27 |1550-310-230-10| FL-%Hsr> SET 1{ololojofololojololololo
8-28 | 1550-310-240-00| 7v-% ASSY - 2l ol ojo|ojololo]ololo]o]o
8-29 |1544-310-281-00| - Fv-} ASSY glojojojojofofo]olofofo]o||
8-30 |1544-310-282-00| « 25— & 4| olojololofolo|ofolo]olo|]|
8-31 |1544-310-283-00| -AF-A-n 19,32 6lojojojofojojolofolofo]ol] TE~ ,
8-32 |1544-310-284-00] 27y v» (HE023) a|ololololojolofolo]o]ofo] —
§-33 |1544-310-285-00| -y 2ok 4 z|ofololojololololofo]o]o l
§-34 |1544-310-286-00| €~ (10X18) 4|olololo|olololololo]olo ’
8-35 |V500-162-001-80] «vyEy 2x18 | 4|o|ojo|o|ofolofololololo

NP

32



-

T -5 L&

o b

(

b b e b pm b b b8 b b b 4 e b b e b b et e s

A

1 2
SEES BRI— K 2 2 " o | lolxlel © | [olX |

X X 06
9 1 | 1544-312-200-00| 7v-%=&n () SET 110/0]0|0]0 0|0|0]0(0]0
9 2 | 1544-312-002-00] « 7> v= (25X28%X25) 2/ 0{0]0j0|0 o|ofofo|o]o
9 3 | 1544-312-230-10| Fv-=<51 (R) COMP 1lolololofejolojojalo]o]o
9 4 | 1544-312-220-00| 7~-4A COMP 1|ojof{of{olojojojoj0]j0]|0O|0O
9 5 |1544-312-001-00] 7 v-F>¥7 b 1lolofofofojojolofolo]o]o
g 6 | V511-100-805-00| #*vyF~-i-t v 8x50| 2|0folo|ofolojofojo|0lOfO
9- 7 |1432-242-001-00| ¥v 4|lololololofolojofojao]oto
9- 8 |V411-160-008-00| 3 #F+H% M8 41 0{0|ololojo|olo|o]olo|o
9- 9 |[V500-152-002-00| 9yt v 2x20{ 4|ofolololo|c|ojolC|o]O]|O
9-10.[1434-122-004-10| Tvva VATY 7 2lolajo|olojo|lofolofo]olo
9-11 [1550-312-200-00| FL-*=,F(500) COMP 2{o0|lololojojojo|o|o|of0]0
9-12 |1544-312-240-00| 75=<2% (L) COMP 2lolololojolojo|o|ojo|o]|0
9-13 |1544-312-250-00| 7%=2% (R} COMP 2lolojojofojofo|ofofo}ofo
9-14 [V304-260-008-00| =2#4&+v» b M8 2v.| 210(0|0]0f0j0|0j0l0f0|0]O
9-15 |1401-122-005-00( +» F(efdVx) M8 3> 2{0/0|0]0|0]0|0j{0|0|0[0]|O
9-16 |1544-313-200-10}{ ~4-F 7 .i~ COMP 1|/ojo|olo]|o ofo|o|o]ojo
9-17 |V411-260-008-00| 3HF+H* M8 1{ojolo|o|0 ojolojolo]o }ﬂ£1~2<%
9-18 |V500-162-501-50| 7y v 25x15| 1[0jofofofo ololojo]aolo
9-19 |1480-117-002-00| F¥<s vaFVV7(52) 1]o0lojojojo|olololojalo}o
9-20 | 1544-312-210-10}| Fv-==xA (L) COMP 1{o0lojojojo|ojolo|alo|0]oO
9-21 |1544-313-201-10] At o2 1lojolojojojolojojol|0]|0O]O
9-~22 |1544-313-001-00| ~i-%vre, ¥ N bl.a) 0l e adoreg 0 {00 [0 |0
9-23 |1544-313-210-00| 7> a7~ + COMP ﬁ;@%’@"&“%ﬁ”&‘o alolofo
G-24 [1370-405-003-00| ZvovsRARTY) v (33) i{ojojolololofolojo|0]0]|0
9-25 |Val1-260-006-00| 3 #F¥#5 M6 1{ol0]|ojolo|o|o]ofojo]o|o
©-26 |[V411-260-008-00"] :#Z¥u4 M8 1{ojojo|ojo|0|ofo|O|0|0]0
9-27 |V500-162-501-50| wVKEv 25%x15| 2|ojojofololo|ojoloj0lo]0

n
(&)



e

]

O 00

oo

=
E&%? | £ DIXIN pL- | {ﬁ %
fSan ; X X 06
20- 1 |1444-331-220-00| W7 -2 444y A COMP 2(0lofojo]o TAFRYHRTA b
- lal 1444-331-220-10| W7 -2 4+4AY) 4 COMP 2{ofojofo]o]o TS5y vakiA b
-0 - 2 | 1444-331-211-00| &4 % 83-24-4PLY| 2|0|olo{o]o]o '
- 3 | V889-000-082-40| 54 - 7 8-24 2lojofololo]|o
20- 4 1V999-300-001-00| #4+-SAv%¥,7 JISDa212A | 2l0lololololo |
20- 5 |1445-331-220-00| W7-22444)4 COMP | 2 ojofofofo]| | 7AmUATA
20- 5a| 1445-2331-220-10| W7 -2 244404 COMP 2 [o]ojojofo| | 755 vamoat
20~ 6 | 1445-331-211-00| &4+ 95-22-4PR | 2 0| foloj|o
.20- 7 |VBB9~000-092-20| . - 9-22 2 ol |ofo]o
20- 8 |V999-300-001-00{ 24 v AT %y, 7 JISD42124A 2 0 0j0jo0
20- 9 | V201-261-603-00| =# & b M16x30 12{0 ojofololololo
20-10 (V401-160-016-00| §.W Mié 1210 0joiojoloioio
20-11 | 1445-331-220-00| W7 - 2 2:x1 1V &C OMP 2 0
20-12 [1551-317-211-00| So7as4+ 9.5-22-4PR 2 0
20-13 | VB89-000-092-20| 5. -~ 9-22 2 0
20-14 [V999-300-001-00| £4 4 Lv%vsT Aws 2 0

54



.21

k)

o s

oA

o1~
KRR

FERE

1 ~B
B~

21-
21-
21-
21-

[\

(&)

(. cC O 0 0000 00000 0o 0o 00000 oo oo
o O 0000000000 0 cCO0000 00000000
o o 00 OO0 00 0 0000000000000 eoQoo
o~
O 0O 0O 0 000 000000000000 oo o oo
©C 00O 0000000000 000000000 o a
5| - . -
cC OO 0 0O 00 0 000000000l 0000 d o0
-, O 00O CcC OO0 00 0000 O O ] o o o = o
) O C 0O 0 0 0000000000000 00O 0O oOCo
0 ©C 00 0000000000000 OO0 o000 oS oo O
— -
O 0 0 0 C D 0000 00c 000000 o Cc oo o o0
0000000000000000000000000
A O 00 0O 0 0 00000 0000 o o0 o oo o o o
111111.111111211111111 L
& g
1
[Tl ] ©
o o (=] . m&u SO 0
a ™ ™ o o ™ o —_ 8y
[ ©w W © 3““._\)30 ~ X
&9 _0262 [Te) N,
! ~ o © % P
m ~ I~ 3\)8 [oNe]
m
™ A& — ~ ~ Mm% Qo
1 N X N~ g o ~
o~ [ _nw X & F v o 4 4
— “ % SN N~ Nk RN o
~ -~ -~ o WAA.(_:/".\. ~ K .//l}/ NI
(RS N Q2 m PA D W N N NN FRNS
FN@mmE o mexd R xNMNDNDNY ™R NN
¥ om oo oD DN s R £ .= 2D KK 2NN
OrMAmMmMO=R | MI xR OOKMHOOOXKN | VOO
H oa - L HN S N REBED - REHBEBEDNDNGS S HH
AR AR KE RO KAMOAAADNDNKD D AR
O 0 OO0 OO0 OO0 00000000000 oOo0CcC oo o0
O S N 9 O W o WwWo o000 00 ~~0 00 O InIn o ™
[ A A Y T T T T T e e R T [ N U N S |
N O O H O YO NO NONMO AN NMmMm oA NN OO
0033050203000020000000044
OO0 WO WMo WwoooOMNMo oo 0000000 S ™
[U T T T T T T T T T [ T e (T S T R I S (|
11002520202219~055—55a103266
Nl AN o~ 0l M oo N TN N~ N Y NNNNO O WO NN
o R T e B T 2 B e TS B e T2 T e T 2 SR T 52 B s TR 42 T 22 Y o2 T o NN 1 B o BN B e 0 B 2
TR T T T e T T T T N T T e T I I ) e RO I R S |
oW r~0o 0 ¥ 00O ¢ %O 000 w0 00000 Qs
R e =R =T T2 R A < T = N s =~ S Vo S Vo B » « B Vo B ae R Vo RN Vo SN Vo S wn T v S » o SN wie S S SR
556657465»1:.»545nl.D:uso.._:uro_.os—b—a
.l.iVV1V1V.1.V1111V11111VVV11
Rl i} « o
- N M < D WM~ 0 MO~ N M N W~ 0D ND D oy
[ T e T T e T e T B T e B SR B & B o N oo I N |
¥ 1 I R U T Y (Y [ AN T TN SN ST SN I B
L — P T s U e T T e D s TR o T S e B o B WS o TR o B e B B
: NN NN ™ ™M NS

2
£



[CEI W

[S- TR S WV )

[ I R R U R R X

[SCI S I G B (R L I I N )

o

‘ 1 2 G

= W= - o g 8 0 -

R2EES e -—F T =g 0 0 D =
| B i3

1-22 [1544—218—002—00 Fr- 1/ 0jojojo|o|0fojolo|olo]o
1-23 [V211-260-801-60| a#xs &L (S) M8x16| 1|0(0|ojo|0|ofotofo|o|0]0
1-24 [ Vi20-102-401-40| 0%y vy P14 1{o{ojofololololofololo]o
1-25 | 1550-326-200-00] PTO7-4 COMP 1/ olofololo} |ojolo]olo]lo
1-252| 1550-326-200-10| PTO7- 4 COMP 1/0lojojofo|ojololo]olo|o
1-26 | V580-140-502-50| 27V vy W) 5%25 1{olojolololofolololofo]o
1-27 Fotv 1.0x70| 1|ojolo|o|o|o]olololofolo
1-28 | 1550-326-210-00, PTO>7 {7 SET 1lolololo]o| lo{o]o]ololo
1-28-1/1550-326-250-00] PTQv7+.34% SET 1
1-29 | 3625-112-001-00| - 7» . (16X18x25) 2| oflololo]olololololo|o]o
1-30 | 1550-326-001-00| PTO .- ~170{olojojof |ojofololo]o
1-31 |1404-502-013-00| =24 2%} (M8X25) 1jofo{ojo|0|ofo|0flof0jO]O
1-32 | V304-260-008-00| =% &+, ¢ M8 2v. 1{olofofojolololofo]ofofo
1-33 | 1544-219-005-00( L=/, 7(12) 1lojojo]ofo|ololojolofo|o
1-34 |1550-326-002-00| ¥7 =5 F(PTO) 1{ojofololo|ojolo|olo]o]o
1-35 [ V411-260-008-00| #xwax M8 2|0jofajojo]o]ofolojajolo
1-36 |V500-162-002-00| 7y 220 2lojo]ofofofo]ololololofo
1-37 | 1550-326-003-00| ¥7 b7 - 1 o[o{o{ofo| |ofo]olo]o]o
1-37-1] 1550-326-004-00| 7 ho¥7 | 1 0 )
1-38 | V704-140-016-00| CH& +rx7 (27) 16 2 0
1-39 | 1545-218-001-00| 7 L-<— 1 0
1-40 | V201-260-802-00| angsEir M8x201{ 1 0

21-41 0-008-00 3755 FTaboo o . MB2Ya |1 o1

21-42 IR B Ry 10X120| 1 0

21-43 | V580-140-503-00| A7y vrey W) 5X30 1 0

180 | 180F | 200 | 200F
®|Na254| No2574 |Na271 [No1735
® | Na255|No2575 | Ne272 [Nal 736 |

|

it




)

Fig.22

M1 ~B
®-

Ml ~@®

! !
@ @
= O 00 00000000000 OO
| se =2
o O O 00 000000 000 00 O
.KO [a) O 000 000000000000
o™
Q O O O O © O O © O O O © O O O
= »< C 0O 00 00000000000 Q
Filovoo —
O 0O 00 0 000000000 0o
s =z c oo oCc o oo oo o o o o o
il P >< O 00O 0 0 O0cC 000000 oo o0
0 &) O 0000 000000 o0 OO o
—
] O 0O 0O 0 00000 0o o000 OO0
| o coococoo0co0oo0co0oo0co0oo0 oo oo
— 00O — G
O 00 0 0000000000 O o
fa o NN O NN A A e N+ A Oy
LI o ” —
PN o o M oo]
% © Pt ) ™ P et e
) X X — — o jinfn
) NN ™ ™ X X XIS
— e — o ve) =] o | 2lg
2 §8s5 2 = = 8 |2
o [B[&
yaRavd
oo oKk
N s
SR N 2| 2]
[a PR ™ ~ [45] [ OO\./../ e
Sos ~t 72} Ead O 0O My W33
o o ~ < A S 2|%lm
(OIS} = -~ 1~ ¥ laNa
~ — N ™ = (% | =l
» -_— .,
ng o 3 YAMIrERARAORIDT
o [N PNy o eom H almlm
tt.ﬂbW??.ﬂOk»».ﬂ.ﬁ# —|2g
FER » O R NBEH R LR NR N R i
E N LI 72 TR N BTSN R AP B SR @&
OO0 0O 0 O0O0 000000000
- NO OO 0 000 HMNO N OO
. L T e e A I I T T R [ I R |
C O W NN OO AN OO A MmO
O QO 1 A4 O O N O O O MM o o O
| N NN OO AN OO VNN a o
[ AN A I AN N SN R R NN N (Y T [ T N |
n 0N 10~ O O~ - -~ ¥ O Ww i o O
MmN W YW O —~A W O ~ WM m W M W
i m M AN~ MmN M N MO M DN
a T T O e T T T S R N I TR B
O O - O = -~ ™m 0 + ¥ O O O ™ 1N —
mnm. NI O O O M O W N I WD O
0 W N M P ¢ NP NN NN M
L B = T = B B B B R
:r,. «© ' ©
o~ N M ¥ 0 W~ 0D T = M ,
Em N o~ o o e~
H T T T O R T O T SO S T S T
i [ B N I B o oS o o RS BN I I
229.,‘222222222222




(ST NS o I G )

1
[ACT O B CL I AG B o

[SCT N B S A I S

[T &)

B 0D NN N

e Flg. 40-
40302 ‘i—g g.40-29

- & i B K
E 1 [ 180F . OO0F | ___ .

REESTHRRISF | T & % o | Iolxly RN

T X - X 06
37 1 ]1550-401-230-10| 7v-4 COMP 1jojojofolo| jolojolojo|o] A1~
3~ 12|1550-401-230-20| 7v-4 COMP 1{ojojofofojojofololo]o|0]| k=Eh
3- 2 |V201-361-604-50| ang&r b Mi6x45 7T| 4|olo|ofofolo|ofofolojo]|0
3- 3 |V401-160-016-00( 8§ . W M16 6|0j0|o|ojolojofofofolo]|0
3- 4 |V304-260-016-00| =2%&8F>» b Mi6 2= | 2}0|0|0f{o|olo|0|O|0Of0f0}0O
3- 5 |1427-201-016-00| 475+ (MI12) g8l ojo|o|ojojo|o|olofo|o]oO
3~ 6 |1550-401-260-10| 72 v }7 545+ COMP 1{olo|ofojojololo{ojola|o
3- 7 |V203-361-002-00 | =x&4k (R 2) M10x125%20 7T| 4] olo|olo|o|olololololo]|o
3- 8 |[Va01-160-014-00{ S.W M14 4|0lofo|o]o|ojo]olojolofo
3- 9 11550-401-002-00| Avrs5.3- 1]olojofoio|ojofo|olololo
3-10 |V304-260-008-00| =%+ b M8 2va 1/0{c{ojo(o|ojo|ol|oloi0o]|0
3-11 |1544-401-250-10| V+¥73% > + (L} COMP 1]ojojojo|ojofofolo|ofo]|O
3-12 |1544-401-260-10| ¥ ¥7 5%+ + (R) COMP 1/0|0jolojojolo|ololofo]o
3-13 |V304-260-010-00| aF &3, b M10 2>=| 4|0{0j0j|0|0|0f0{0j0l0]|0]|0O
3-14 {V401-160-010-00| S.W M10 4|0|0j0|0]ofo|o|o|o]|ojo|O
3-15 |[1544-401-001-00| =& v Pz 410/0f{0|0}0}0|0]|0]|0|0O]0]|O
3-16 |1544-401-310-00| AF»-71v~} (A) COMP 1lojofo(ofjofolofojo|olo]|o
3717 |1544-401-320-00| Ar»~A7v -} (B) COMP 1{o0j0jo|ofo|ojofojoj0{0]|0O
3-18 |1550-401-001-00| At oS L=} 1|oflofofololojo|ofojolo]|0O
3-19 |1550-401-240-00{ =}»-t COMP 1{o{ojojo|ofofololo]o]o]0
3-20 |V334-260-012-00| anF3» p (+vV2) Mi2x125 2> 4]0loolololololololololo
3-21 |V401-160-012-00] S. W M2 4|0{0|ojojoloio|ofo|olo|O
3-22 |V201-361-002-50| aHg5a} Miox2s5 7T| &|o|lofolo{ojo|0]oj0o{0|0(0
3-23 |V304-260-010-00] a#&=. b Mi10 2v- | 8|0fofofo|o|ojol0l0|0f0]0
3-24 |Va01-160-010-00} S. W M10 glojlofofojolojolo|ofofo|0O

[ ]

58



7L —

ABEVTTry b

2=

—
~ 44
ESErS

?;)/Fig.4o—29
e T = = @ %
. . . 180F [ 2 [200F
REES B&a- 3 z slelel 0 | o] ® =
e ] £ 2 i
- ' X X 06
23-25 |1550-401-270-00| _#FA 73555+ L) COMP 1/o0f{ojofo]o olo|o|olojo| #41 ~7EE
23-252a(1550-401-270-30| =_gA 7555 + (L) COMP 1{0|ololojolojol0lol0jo|0| RBA~
23-26 |1550-401-280-00| =&gAT55 5+ (R) COMP 1{olojo]olo olo0lo|0fojo| /A1 ~FH
"3-26a]1550-401-280-10| =&AL TS5+ (R} COMP 1(0j0(0|0|0]0lo|0Of{0O]|0|0|0| BB~
~23-27 |V211-261-002-50| =xs&at (8) Miox25| alololololo]ojofo|o]ofo]o '
23-28 | 1432-616-002-00| 79 va v a 2|ofjolololo({o]o{0|0j0|0f0
23-29 |1544-401-350-20] -3+~ COMP 1]ofofo|ojo|0|OlO|0}0|Of0 )
23-30 |1544-401-003-00] »Svrig-F 2|o0]olofo]o]0|0j0|0{0]0]|0]
23-31 |V201-261-203-00 aHzxAb M12x30} 8jo|ofolo|ojo|lolofojofofo
23-32 |V401-160-012-00] §. W Mi 2 glolojolo|o|oflolojojofofo
23-33 1544-308-200-10| F7vm, #&A COMP 1|o0(of0]|ojof0|0l0j0]Q|Of0] £a1 ~@®
23-33a|1544-308-200-20| F7m 5 241 COMP 1lolo|o|ojojolojo|o|olol0o| &~
23-34 |1544-308-220-00( 734+ COMP 1i0l0|o|olojololoj0j0j0]0
23~35 |V304-260-012-00] =2#H &+ } Mi12 2w~ | 1{0|0j0jo|o|oj0j0O[0{0]0]0O
23-36 |V401-160-012-00| S. W Miz2 1j{ololo|oto|ofolojo|ofolo
23-37 1544-508-003-00| =45 F(44) 1]0f{ofofo|of0j0j0l0Oj0|0]0O
23-38 | 1548-606-003-00] A~<-+ 2|o|0jo|ojo|ojo|0ioio|o|0| ©~
23-39 1544-606-018-00| Z=mx 5 F (8X13x2) 1|olo|0|o|ojol0f{0f0|O(0|0} ABE~
23-40 |1550-401-300-00| Zv&n-i- SET 1{ofofojolo|o|Of0|0Of0|O|O] %
23-41 1550-401-320-00| -4 COMP 2i0lolo|ojo|olojolololo|o| *x
23-42 |1550-401-003-00] - v (08x395) 1]ojojofo]jolojolololojolo| *x
23-43 |[V411-260-008-00| - I HFHFHF M8 2{alof{ojolojolo|lojo]olafof|*x
23-44 |[V500-162-002-00| ~7ypv 2x20 2lololo|ojolololojo]jololo]|
180 | 180F | 200 | 200F
@ No3536 No2381
® Ne3537 No2382
59 € [Ne222 [ Ne1822 No210 | Ne1253




JaC b7 HORLER

(2WD3)

#X
USRNSSR Y X 180F.-.2-] 20-0F - -
REES ®&o- K 2 B o | blxl 0 [ L2l w .=
: _ < 5 06

24--1 [1550-402-200-00| 7=v+7 x4 ASSY 1]070]
24-1-1|1551-402-200-00| 7 v}+722anr ASSY 1 010

24- 2 | 1411-401-001-00] - =%75 2 (25X29%X30) 41010 010

T 3 11412-401-004-00| =7 5. (25X29%40) 2|00 0{0

2 .- 4 [ V761-400-000-00] ZFVR=2 TN : A-PT 18! 2|00 0i0

24- 5 |11550-402-001-00| €#s b 220 (F) 1{0/0 0|0

24- 6 |1550-402-002-00| E#» b AZL iR) 1]0]0 0lo

24~ 7 |V742-140-550-50| Hfrs-n #32857D | 500 0/0

24- 8 |V201-461-203-50] =¥ &sn b Mi2x35 9T| 4|00 0olo

24- 9 |V401-160-012-00{ S.W Mi2 4{0]0 0}o

24-10 |V201-461-403-50| =H &KL\ M14x35 9T} 2(0|0 0|0

24-11 | V401-160-016-00| S .W M16 210(0 0l0

24-12 |V520-101-001-60 | ~favkEy [A) 10X16 4(0]|0 00

24-13 | 1550-402-003-00| «vavrE, r 11040 0lo

24-14 ) 1444-402-004-00| ¥y ph 5= 210]0 0|0

24-15 |V720-102-402-10] 70"y vy P21 21010 010

24-16 |V327-261-220-00| :Vvsi, FCav) M20x15 29| 1000 0fo

24-17 |V411-260-020-00( 3IHFH#r% M20 1]o0j0 0/0

24-18 |V500-154-004-00| 7y ¥y 4X 40 1({o0]0 0]0

24-19 761-400-000~00| Zy=x=%7n A-PT 1.8 20/(0 00

24-20 |1444-404-200~00| #» ZLREvFA COMP ' 2]o|o 0l0

24-21 |1419-402-001-00| »5-(25x42X4) 210]0 0|0

24-22 |V600-110~620-50| R.B. B 6205 21010 0o

24-23 |V600-110-620-40| R.B.B 6204 21010 0|0

24-24 11414-403-004-00] T.B.BRB 27TAG801 | 2 (0|0 010

&0



) 0y L

REE .
S - e - = X X 06
24-25 [1407-403-002-00| oo ¥sv-Aa 2| 0{0 olo
24-26 |V744-134-480-80| #fr-n 2(0[0 0)o
24-27 |1325-930-105-00| ThtesF 7L -ahF- 2| 0fo 0lo
24-28 |V327-262-112-00| $vVy*rs» b (F4) 2|0fo0 00
24-29 [V500-153-002-50| 7D 2{of0 olo
24-30 |1444-404-001-00| #f -2 2]0|0 0|0
24-31 |1550-403-001-00(| ¥35 527 -4 (L) 1]0|0 1o]o -
24-32 |1550-403-002~00| F3» 727 -4 (R) 1] 0fo0 olo
24-33 | 1326-708-005-00| =-4) ko Fo¥7 h- 2| 0[0 010
24-34 |1421-403-007-00] =927 5% (M12) 21 0{0 0]0
24-35 |1421-403-008-00| 7> % (13X35X5) 2100 0}0
24-36 |V300-260-012-00| +» k 210|0 olo
24-37 |1421-951-006-00| ~4 (&) (0.5) AR| 0|0 0f0
24-38 [1421-951-007-00| ~4 (&) (1.0) AR| 0|0 00
24-39 |1550-403-201-00| &A=y ¥ 2(0lo ofo
24-40 |1550-403-210-00| #4 =5 F=v¥ (L) ASSY 2|0{0 0fo
24-41 |1550-403-220-00| £4=» F=v ¥ (R) ASSY 2|00 10[0
24-42 |1550-403-202-00| v b M17%15 3>a| 2| 0|0 olo
24-43 |1550-403-203-00| +» b (e&YFRJ) M17X15 32| 20]0 0{0
24-44 |V327-262-110-00| s yv 3+, b (54 ) MIOX125 1¥a| 4| 0[0 olo Ml ~7NBR
24-442)V328-262-112-00| aya: v=5, 1(F0) M12Xx125 1ia] 4|00 0lo B~
24-45 [V500-162-502-50| my v 25%25 4l0]0 010 fal ~Bf
24-45a|V500-163-002-00{ 2y~ 3x20] 4|00 ofo R~
24-46 | V401-160-010-00| S. W Mio | 4|of0 0lo Ml ~FH
24-4%2|V401-160-012-00| S. W Mi12 | 4|0]0 ofo RE~

61



1= 1. 2. S
o — b T oo 4@ 8 0
BEES| MR- F R Z - o] iplkinl o] IpLX ] & =
: #
X X 06

25- 1 1421-400-052-00| A77) voH1A ASSY. - {-1|lofofle]olo]o]ololo]ol|o|O

25- 2 ) 1407-406-002-00| - RT7 Yo%y, 1/ofoflojojojojo|o|0jof0]0
25- 3 | 1407-406-004-00| vy Fotoxv 1{0[ojofojo|ofo]ofofo|0]0

25~ 4 |V327-262-110-00| :vwssa.t (74 ) MIOXI25 1v=] 1|0lolololololo]ololo]o]o

5- 5 | V500-152-002-50| 7y ) 2X25 1{o[0j0j{0|0f0|0{0|0j00]O

25- 6 | V411-260-010~00| 3H=+F#r* Mi10 110/ 0j0f0jo(0|0]0]0t0]0]0

25- 7 11544-406-220-00] =77y vsvvr7+ (A) ASSY 1/010l0(0]0 glolojojo|o

25- 8 1544-406-221-00} «v¥ 7+ (4) - 1l 0|lojofofo ol0{0folo|o
25- 9 1432-406-362-00| +«>¥7}F+ (B) 1{ofojololo0 ofolojojol|o
25-10 | 1432-406-243-00| - 707V vs 18 2loflojofojo ofojofoio]o
25-11 1432-406-244-00) « AFY vrvev il ofojolojo o(ofo|o]0fo

25-12 | 1432-406-245-00{ - Y=~y b 1|0/ 0f{0]0|0 0(0|0j0l0]0

25-13 | 1432-406-246-00| 34 2-ix 1|l olo|0j0]|0 ololololoijo

25-14 | 1429~406-205-00| - a3FAFyva 1l o0j0f0|0{0 gfolofofo|o
25-15 |1544-406-200-10| 277V vZ>¥ 7+ (B) ASSY 1{o0l0l0j{0|0(0]|0]0(0(0]|O]O
25-16 | 1550-406-201~10| - >¥7+ (A) 1{0/0{0f0|0}0}0|0]0O (OO0

25-17 | 1544-406-204-00( ->¥7} (B) COMP 1| o{olo|0]0|0|0|0(O}0(O|O

25-18 }1432-406-341-00| -=-27 ASSY 2l olojofojojojojotoi0f0]0
25-19 |V211-360-803—00| awx4A}(8SP) M8X30 4/ olololofolofolololo]o]o
25-20 | 1550-406-003-00| -7V v s ' 1{olojojojololo]ofoofo]o
25-21 | V580-140-602-50| A7V v/ W) 6X25 1{o0lofo]olofo]ojolofolofo
25-22 4 1.0x120 1|/ olo|o|ojofo|o|0]ofofofo|
25-23 |13550-406-210-00| AF7YvrxEHAr COMP 1l ojlofo]o}0 ojo0folo{o|o| 1~
25-2321550-406-210-10} RAF7Y vr/*® A} COMP 1lojolo|ojo| |ojofolofo(0o|®~
25-24 '211-360-802-50| ax&+ELt(SP) M8x%X25 4] 0[0]l0f0l0 olojololo]o

62



>4

' I
w w
W~ O W W 9 o wv

!
S
o

4
-4
-48
-47

w

1544-406-250-20

V211-360-802-00
V600-150-600-30
V704-140-017-00
V705-140-035-00
1544-406-230-20

V211-260-801-60 |

1432-406-330-00
1432-406-008-00
1432-406-008-00
V211-360-801-60
1544-406-002-00
1544-406-003-00
V720-102-401-80
1550-406-004-00
V201-260-804-50
V201-260-807-00
V411-260-008-00
V301-260-008-00
V201-260-802-50
V401-160-008-00
4101-102-028-00
1550-406-220-00

Y¥T7 bR g COMP
IFEFEALL(SP)
R.B.B

CHapam (99 )
CHsbam(74)
F-A+H-} COMP
2 HEFENA L (8)

I A4 COMP_

H-
Ry, 7
IHEELF (SP)
-z (L)
=~y -2 (R)
0"y vy

AA -0
IHEEL P
aHEEL L

1A EH R

F o h

IHFEFEAL R

S.w

ETIFIY 24H%

M8X2 0
600388
17

35

M8x16

M8x16

P18
OS18243
M8x45
M8EX70
M8
Ms
M8x25

224

Ms

NAEY - (14)YCOMP

© O 0O o o o o

OOOOOOO_OOOOOO

Qo 0o O o o o o o

0.0000000000000

OOOOOOOOO

OOOOOOOOOOOOOO

OOOOOOOOO

O O o o o

Ml ~Q




) 5 513 L EUF g AN
BEER BRI -—FK fa = o plxint O D X i E
| . X1 X s
25-48 I1544-405—005-00 _ALFEY - (16 ) 110|ololojolololofolo|0]|0
25-49 | 1544-406-006-10{ AFAtAT - (4) 1]0/ojajoj0j0|0|0j0]|0f0O0
25-50 | 1544-406-007-00| A3A+#»5- (B) 1]0|ololololololo|olo]|Of0
25-51 |V653-318-241-20| =- Fa(=a7s7>) TLA1B12Z| 3|o0lofo|ofofofolojojo]a]o
25-52 | 1545-406-001-00| AF7Y vrov7 b+ (A) 1 0 ‘
25-53 | 1429-406-205-00| 3547 % e 1 0
25-54 | 1545-406-200-00| ¥ 7 bhag COMP 1 0
25-55 | V211-361-002-00| =2a#2#xA+(SP) M10x20| 4 0
180 |180F | 200 |200F
® | 4385 538094399 |m27409
- ® 14386 %3810{ 4400 2750
©| /5383 43731\ 45396 (%2654

64



Y

——

.26~

REES

Map - f

26-0-1
26~ 1
26~
26-
26

26 -

2
3
4
5
6
7
26- 8
26- 9
26-10
26-11
26-12
26-13
26-14
26-1s5
26-16
26-17
26-18
26~19
26-20
26-21
26-22
26-23

1550—407—200—00

| 1544-407-260-0¢

1544~407-270-0¢
1544-407-261-00
1544-407-262-0¢
1544-407-280-00
1429-406-207-00
1429-406-208-0¢
1429-406-20g-00
1429-406~211-0¢
1429-406-212-09
1544-407-263-g0
1429-406-213~09
1429-406-214-g¢
1544-407-264-00
V332-460-020-0¢
V401-160-008~00
V401-160-020-0¢
1429-406-216-00
1429-406-202-00
1550-407-201-0¢
V252-341-002-2¢
V401-160-010-0¢
V303-200-010-0¢

AFTV vy SET
CARTTY v ASSY
CcE-AFL b ASSY
T VE-Ty S

LI ol (F RPN

VT AL
i G A

ASSY

R S - PO TP IR S

e V¥AA-sn SET
CrTUOYRARNRp Y L -
CTYVYARRNRSY L - oo SET

trY-ny, P

s IHEFA R
C2F L FEL
cF b

T (RYVA) M20X15 7T 3.

. I/O”ys/g'

-S.W
+S.W

CFROTS5

M8
Mz o

65




-%Kég a1 — F-

2.7 ~
27 -
27 -
27 -
27 -

pq -
27-
27 -
27 -
27-1
27-1
27-1
27-1
27-1
27-1
27 -1
27-1
27-1
27-1
27-1
27-2
27-2
27-2
27-2
27-2

N P N = L= e < JRES T - S < AT & T U L B (G I o B V= B o ]

-1 D W A WD =

1 1550-408-210-00

V252-341-003-20
V401-160-010-00
V303-200-010-00
7963-201-003-00
K135-016-000-00
K135-002-006-00
K135-001-007-00
K135-001-008-00
K135-001-009-00
K135-002-008-00
K135-002-009-00
V401-140-008-00
1404-503-006-00
1550-408-240-10
1550-408-240-20
1488-408-330-00
V720-102-401-20
V720-103-503-10
1444-408-005-10
V211-360-801-60
V210-260 601 -20
V781-100-000-60
1550-408-001-10
1550-408~002-10

R -2AF77Yyv7 ASSY

w3 IELE M10x32 7T
S.W M10
aFgFs b M10

R A4

F¥Rv7 ASSY

s HVYTHA-

A -0

AR & P6

O YT P22
QY vy G50

s IAFFAD M8x28 11T
-S.W M8
FANEVY TRy

FALE vy COMP

FArzrvs COMP

AANT4 42 ASSY

QT Yy P12
707 Y P31

ARG RT Ry -0
IHEHELE(SP) M8x16
FAr (S) Mé6x12
TE=RYVFTST PT 38
B VI AT -

75 VY

e T e T T~ S R S T R SR S R TR D Y « > T o S S~ S R R 8 R N N O

O O 0O O O O OO0 O O 0 OO0 OO0 O OC OO aCOoO O o o

O 0O 0O 0000000 0000000000 co 0 O O

O 0O 0O 0O 0 0O OO0 OO0 00O 00O 0 O 0O oo 0O o o o o O O

O O O O 00 0 O 0 00 Q0000 000 O 0 O O O O o

O O 00 000000000000 0000 o O O o O

O 0O OO0 0 0 0 0 OO0 0 O 00O OO 0O OC OO OO OooOoO O

Fig28 28

M1 ~TBA
TRER ~

8,




.rommmmmwmmmmt\immmt\f
IS RS RN B e T RN R R St i S S

-4 2

1550-408-003-00
V210-260-602-00
V400-160-006-00
V720-112-402-00
1550-408-250-20
1550-408-260~-00
1550-408-270-00
1513-408-004-00
1426-506-002-00
1550-408-280-00
1550-408-005-00
1550-408-006-00
V210-260-602-50
V720-112-402-00
1513-408-004-00
1513-408-004-00
1550-408-290-10
V211-360-801-60
1444-510-004-00
3748-185-003-00
V331-460-022-00
V401-160-022-00
1550-408-201-00

45° =

Fb (S) M6x2.0
S.W Mé&
I/OI/U-/y‘ on

FVYyk-2 ASSY
FVYq 7 [A) COMP
Pova vt T (A) COMP
F-AsS5vF(22)

EE N

Hove 47 (B) COMP
$7 s k- (A

Wy e vR-Z (B)

#ab ()

"0y vy
R-ArS5v7(22)
R-AITUS(22)

Fe JRAAT - COMP
aHEFELL(SP)

5-.- {A)

P2k --v¥(185)

Ty b (FyA) 202 M22X15
S . W M22
o bwrT—a

M6x25
P20

HH}—IHHWHHI\JD—‘AHH)—‘I‘JKQHHHF—‘Auh)—l

O C O T OO0 OO0 0000000 OO0 0O O O O
O 0O 00 0000000000 000000 OO0 O

O O OO0 OO0 0000000 OO0 OO0 00 oo O

OOOOOOOOOOOOOOOOOOOOOOO

O O O 0O 0O 0O OO0 000 O OO0 0O S oo

O O 0O 0O 0 00 000000000000 OO O

O 00 0 0 0 OO0 000000000 o000 o O o O

O 0 OO0 000 0 QQ OO OO0 0O O OO0 OO OO O

Mol ~78§

/\/f &7

M61~1805

21806~

f21922~
1806~

3



AT

1

(1]
RS)
(03]

INTD T

58

Pio] A K
= E = . F 00F
) S - | IO il 8 . e -
Gt SR PR RS g | O | [DIX|N[O | D b "
; < e o % :

'8 -0-1|1550-408-210~00.|. 250277 y>7 ASSY. v . | 1 o{ololo 10101 o o
'8~ 1 |1550-408-230-00| -*+5-x ASSY 1 olojolo olofolo
'8~ 2 | 1550-408-232-00] - +N.R.B 1 ofolofo olo|olo
8- 3 | 1550-408-233-00 cUAyFy 1 0lojolo 0lofo|o
8- 4 .| 1550-408-234-00] « «Ffnmn 1 ololofo olo|olo
8 TS [1550-408-235-00] «-57mvy vy 1 olojofo |ofololo
8 o |1550-408-236-00| - -7 Q%Y s S30{ 1 ojofofo olofofo
-8- 7 |1550-408-300-00] -#-A%, + ASSY 1 lvlolofo ololo|o
8- 8 | 1550-408-301-00| « + &Y yotmsms 1 olofolo olo|ofo
&- 9 1550-408-302-00( - 20"y vy — G50 | 1 0fofofo0 g|ojofo
8-10 1550-408-310-00 7B VbHAS~- ASSY 1 0folo|o 0(0] 010
8.-11 |1550-408-312-00| - -N.R.B 1 ololofo 0/0{0[0
“8-12 | 1550-408-235-00| » -F7mvy vy 1 olojofo lofojofo
8-13 |1550-408-236-00] « 707y vy S30 | 1 0(o|olo olo|o|o
8- 14 |1550-408-313-00| --"0%y vy JASO 66053036 1 olojalo olofolo
8-15 |1550-408-320-00| +-invmwysy ASSY 1 olofo|o 0{o|o|o
8-16 | 1550-408-321-00| » 75/ PT 1./8] 2 ololojo olofolo
B-17 1550-408-322-00| « +~v N yprzR v 4 0/0|0]0 0|0 0|0
8-18 1550-408-323-00 LR VRS- 3 a 2 0(0fojo 0f0f0}0
8-189 1550-408-324-00| « - “Q*V vy JASO 10167 1 0(0f{0|o 0|0] 0|0
8-20 | 1513-408-217-00] » » %~y } 1 ololofo olofofo
8-21 1444-408-312-00 LRI RS 3 1 0]0{0fo0 010}0]0
B-22 | 1550-408-325-00| » + 7Uw ALAZ Yo 1 ololofo 0lojoflo
8-23 |1550-408-326-00| « 85255 h 1 ojojofo ojo]olo
B-24 1550-408-330-00| -4 Fh-{- ASSY 1 010{0|0 g{o|o0]0




#Ra-F |

1550-408-332-00
1550-408-333-00
1550-408-340-00
1550-408-342-00
1550-408-343-00
1550-408-344-00
1550-408-350-00
1550-408-352-00
1550-408-353-00
1550-408-211-00
1550-408-212-00
V401-160-010-00
| 1550-408-213-00
V720-101-900-80
1426-426-306-00
1550-408-214-00
1444-408-325-00
1550-408-215-00
1550-408-216-00
1550-408-217-00
1550-408-218-00
1550-408-219-00

1426-426-321-00"

1550-408-221-00
1550-408-222-00
1550-408-223-00

+-N.R.B
O & I/Ol/u./y
s Y7Hh- ASSY
+*N.R.B
ceF I v-a

s e Ry TV Y
A - T b

G660

ASSY

e TUSANARIY &

s v T Oe AR
- FHAb

e Fs b
-S.W M1l0
'”O.”U‘/ﬁ' S70
o //'O I/v yy‘ P8
Qv 7% b

« A Q-

- HT -

«Hh T -

«N.R.B

CARFe TV VS

«Fv b

cFo b

-;:,;"r‘/

« A& 5 VEALV

vy b

sy VTSI S

M10x1.25
M10x1.5

[a3}

B b= b= D) e ke e DI DR =1 R DD e e e e e e e
O 00 0 0000000000000 0o oo [= N o B = B o B o ]
00000 Q000000000000 00 o0 oo oo oo
0O 00 000000 0000000000 000 o0 o0 oo
OO0 00000000 0000000 o oo O O O O O O
O 0O 00 00000 000000000000 000 Qo
O 0 000 00 000000000 0Do oo O oo o O o
C 0O 0 OO0 0000 00000000000 000D OO0
OO0 00 0000000000000 000 o0 oo o o o




"1

M
N
w

A=

PrAd — ILESER

(2WD)

- @ g B X
T e e 11 180F [ 2o | 200F [ . . .
N VPSS S| . BT "0 -
REES #Wma3-— K E £ " 0 pixIn| © D 1 %
. X 1 X 06] -

29- 1 |1545-411-210-00| 4 AY4a(300Dx12) 21 0] 0]
29- 2 |[V888-144-001-20| &4+ 400-12-4PR| 2{0|0
29- 3 |VB889-004-001-20]| Fa-~7 400-12 2(0!0 L
T89- 4 |V989-200-003-00| A ¥ SATFY. S CL#% | 2{0|0
-9~ 5 |1551-411-210-00| A1) 4(300DX15) - 2 00
29- 6 |V888-144-001-50] &4« 400-15-4PLY| 2 oo
29- 7 |VBg8-004-001-50| #.-7 400-15 2 “lofo
29- 8 |V999-200-003-00| £ ¥ Av%v, CL¥% | 2 10]0
29- 9 |1421-411-001-00| 78 v} kA /KR 2|0|0 ojo
29-10 [1411-411-002-00| A AFv o 7 2|o]o 0]0
29-11 |1411-411-003-00] 5% 2lolo olo
29-12 |V210-260-601-20| Faipr (S) M6x12 6]0[0 010
29-13 |V201-261-202-50] =a¥#£ Hir MI2x25 | glolo 0|0
29-14 |V401-160-012-00| S.W M1 2 8100 00

70



Fig.30 700 bARA—LEE(4WD)

BEES ®&a ~f |

30~ 1 | 1421-438-210-10| 7= vrkiAY A COMP 2 0|o]o 1olo
30- 2 | 1421-438-201-00| 54+ , 6-14-4PR| 2 olojofol | {o]ofo
30-2-1) 1551-441-201-10{ &1+ 6-14-4PR| 2 0
0~ 3 | V883-000-061~40| .- 6-14 211 |otofolo| | [olo]o]o
T30- 4 V899-300-001-00| #4 4 A7%+%»7  JISDa2124] 2 olofojol | {olofolo
30- 5 | V201-461-202-50| =x x5}t M12x25 (12 ojojojo|™{ folojo]o
30- 6 | V401-160-012-00] S.W Mi2 . 12 {olojotol [ lofo|o]o

71



;O —_ K.

31 -
31~
31 -
-1 -
o1-=
31-
31-
31-
31-
31-1
31-1
31-1
31-1
31 -1
31-1

[ B 7 =T = B » - B« DI 4 4 N JU I (R

1550-431-001-00
1427-431-220-00
1427-431-011-00
1427-421-009-00
V705-140-020-00
V580-140-603-20

1550-431-200-00
1427-431-013-00
V401-160-012-00
1427-431-014-00
V742-120-320-50
1544-431-230-00
1544-431-220-00
V211-260-801-60

V34 7vv7 b (a)
Ys4v}r (B) ASSY
s ATSL v~

c ¥ -FE s F

S CHZE AT (TH+)20

A7y vy W
Tt

Vadvir-x COMP

“y bAsb
sS. W
Fova(21)
FAAV—
I N AR
« B -FAE COMP
s aFFELE (S)

2SET

6X32
1.0x120

Mi12

VC20325

M8X16

[ R R L T o R S S I 7C IEE'IY I o < S 1 SR U (N Ty W
O O O O 0O OO0 OO0 OO O O O O.

O 00 000000000 0 O C

O 00 00 C O 0000 o000 0

O 00O 0O 00 00000 O O

C OO0 O 00 0 0 0 0 o0 o0 oo O

O O O O O O OO O O O O O O O

©O O C 0 0O O 0O 0 0O 0O Q0 O,

* * X

N



Fig.32

RXNNLHy — 2B

=
171~

= m| 1 | 180F 2 T200F

REES WERI- K = s = N o | okl 0 | IoL% =
SE Ee - o ot - - %1 | . %
32- 1 | 1550-432-200-00| <<A¥=sy SET 1 olofafo 0|0]|o|0.
32- 2 | 1550-432-001-10| ~~4 = : 1 olofojo] | [o]o]o]o
32- 3 | V744-120-350-80| #qrv-n TC20358{ 1 olofc|o olo|olo
2- 4 | 1444-411-210-00| =vAf=wsos ASSY 1 olojolo oJolojo
T32- 5 | 1444-411-008-00 HZ-(48%x56%4) 1 0lo|ojo o|jofofo
32- 6 | 1444-411-009-00] = a (4) AR ojojofo o{olofo
32- 7 | 1444-411-011-00{ A& (B). . |AR o{olofo 0|0f01{0
32- 8 |1444-411-012-00| > (C) AR o[ojo]|o ofofofo
32- 9 ] 1444-411-013-00| v & D) AR 0/0|0jo0 o|ojo|o
32-10 |1444-411-014-00| ®» 295 + 1 ojolo|o olofofo
32-11 | V705-140-056-00| CH& 27 (75) 56 1 0jojof0 ololo|o
32-12 | 1444-411-003-00| F7 23 2 olofo|o oflojo]o
32-13 | 1444-411-004-00| 4 (4) ; 8 olofo]o ojolofo
32-14 | 1444-411-005-00]| >4 (B) AR o0jofoio olojo]o
32-15 | V201-260-802-00| 3IH&+14 b M8x20 | 8 0joloio0 ofolojo
32-16 {V401-160-008-00{ S, W Ms 8 olajolo otolo]o
32-17 | 1550~432-002-00| 7o v }F745 -2 1 0|0{0|0 ojofofo
32-18 |1444-411-006-00| F7¥=4vo¥7 ¢ 1 ololo]|o 0{0{010
32-19 | 1427-432-003-00{ F7v=av(11) 2 0[{0{0}0 olofjo|o
32-20 [1427-301-005-00| ¥=F VRS2 55~ 2 olojofo ojojoio
32-21 | 1427-432-004-00) F744 F¥Fvy-(15) 2 ojo|o|o ofojofo
32-22 |1427-432-005-00| R3AFH5-(30x45x%x1) 2 olofofo glojolo
32-23 |1550-432-004-00| ~M 3wy () 8%28 1 0/0]0|0 olofo|o
32-24 | 1550-432-003-00| ~f 29> (a) BX14 1 o{ojolo ololofo

73



i 180F z00F
e _ B| g 7 ¢ I
EEES &I — K & S | 0| [Dx|vL0 pl X | fE =
X X 06
|
32-252|1544-304-006-10| =24 &=L (M8%22) 4 0 0 0
32-26 1V600-110-600-80| R.B. B 6008 2 0
32-27 |V401-160~-008-00| S . W M8 6 010 01010
_ L I P B - e

74



70T ORI

S8 /L

ESGE

(4WD)

@l ]

REES HEa-—F 2 % . o | lolyly 1x] & =

X X 06
33- 1 |1550-433-200-10| 72AA~UL VT COMP 1 o|0j0f0 010]0(0
33- 2 |V521-101-002-00| ~f 2w v (B) 10x20 | 2 olofojo olololo
33~ 3 |1444-412-001-00| 7V -¥75 7 PT 38| 1 olojo|o ololo]o
33- 4 |1480-433-001-00| v=aifnr(v-2452) 18 0lolo o|0fojo
33~ 5 [V401-160-010-00| §.W M10 8 0lolo|o olojojo
33- 6 | V300-260-010-00| 5 b M10 8 0jojofo ojojo|o0
33- 7 |1550-433-210-00| ¥#, 441 (F) SET 1 ololofo olofo]o
33- 8 | 15507433-212-00 - 7» a2 (70X75%25) 1 0{0f{o0j0 of{olo]o
33- 9 | V742-170-950-70 | #4av-n .f;%%gg?o 1 0j01{0|0 oloiolo
33-10 |1550-433-220-00| ¥#, b2 44 (R) SET 1 olofo|o olojofo
33-11 |1550-433-222-00| « 75 va (70X75%x30) 1 ojolofo ololo]o
33-12 |1488-412-006-00| Xy v7 1 ojojolo ololo]|o
33-13 |V520-101-001-60| ~f awes (A) 10X16 4 olofolo ololo]o
33-14 |V201-361-203-50 | =& #£A} Mi2x35 7T| 4 olojo|o olofofo
33-15 |V401-160-012-00} § . W M12 4 olofojo olojo]|o
33-16 |V201-361-403-50| axa=At M14x35 7T| 2 ololofo lololo]o
33-17 |V401-160-014-00| S.W Mi 4 2 olalolo ojojofo
33-18 |W201-461-205-50| #rt 1 o{ojo]o ololo]|o
33-19 |V302-260-012-00] #, ¢ ' Mi2 3va| 1 o{ofo|o ofololo
33-20 |1550-433-004-00| AS5AtH»5-(57X69%X5) 1 0l0f0|0 0i0(0]0
33-21 |V742-150-720-60 | 4L —-n {é‘égggggo 1 alolofo olofo]o
33-22 |V761-400-000-00| # U=y 7a A-PT 18| 2 ololofo ololo]|o
33-23 |V720-105-707-10| “Q”yvr P71 1 ojolofo olojo]o

75



T74 7L —2

54

17<s

] a 1 1BO0E.] 5.] 200 F~dmm mmmmmm o

swEsl Haa <k & % o | okl 0 | o] # . =

= X X 06
34-..1 |1421-433-001-30| 77454 -2 (A) 2 olojolol | [o]o]o]o
34- 2 |1444-413-002-10| ~~<A¥¥-(13) 2 o|lolofo 0(0{0]0
34- 3 |V600-110-620-70| R.B.B 6207 2 ojojofo 010f0]0
—4- 4 1444-413-003-10]| 7y AL ¥SL T ov T} 2 0|0f{ofo0 0|0j010
-4- 5 |V201-361-002-50| aH&z#A} M10x25 7T/12 olojolo ofofo|o!
34- 6 |V401-150-010~00| §. W Mi0 12 ololojol | Jolo|a]o]
34- 7 |1421-433-004-00| /» 76y 4 | {ojolo|o]- | |o]ojo]o
34- 8 [1444-413-004-10| <~<AF¥-(17) 2 oloofo o|olo|o
34- 9 |V600-110-601-00| R.B.B 6010 2 ofolo]o olojo|o
34-10 |[1444-413-005-10] 2o vasv 7t 2 0|o|0]|0 0(o0jojo
34-11 |V704-140-025-00| CHabav(7) 25 2 0|10{0}0 0/0{0{0]
34~-12 |1421-433-009-10{ <7V vorH.i- 2 0jojojo 0{0(0;0
34-13 [V211-260-802-50| axz#EAt () M8x%25 12 olofofo olofolo
34-14 11444-413-210-30| 77414 -2 (B)(L) ASSY 1 gjojo|o 0(0}010
34~-15 11421-433-014-10 <=7 5. (50x55%x30) 1 0j0]|0}0 0j0f0]|0
84-16 |1444-413-240-00| 7,4 745 ~-2 (B) R) ASSY 1 olojofo 0|0j0f0
34-17 [1421-433-014-10| + =27, > (50X55%30) 1 olojofo] | |olofo|o
34-18 |V610-115-110-60| ~f £ YASAI (> ¥s1) 51106 2 ojolofo o|ofo|o
24-19 |1488-413-023-10]| oov=ov-n QIN50689145| 2 0{0f0]{0 ojofolo
34-20 |1550-434-200-00| F5»7/7-4 (L) COMP 1 ofojolo 0{ojo]0
34-21 |1550-434-210-00| ¥5» 77~ & (R} COMP 1 ofo|ofo 0(0]0]0
24-22 [V761-400-000-00| #yR=. T A-PT 18| 2 ojojojo 0(0j0}0
34-23 11421-433-031-00| #4142 -1 0530374 | 2 ololo]o 010|0(0
34-24 |1421-951-008-00| >4 (B)( 0.5) AR olololo olofo]o
34-25 |1421-951-009-00] >4 (B)(1.0) AR ofofo|o 0(0]0{0

76



REES &ga-_

AR ' 2

34-26 V201-361-002-50 IH R EA} Mi0x25 7T
34-27 V401—160-010—00 S. W Mig
34-28 V520-101-002-20 ~MIvey (4) 10%22

429 | 1444-413-013-1¢ SSAFv-(16)

T34-30 V600-110-620-50| R.3R. p 6205

34-31 V705-140-052-0¢ CHEbL 27 (75) 52
34-~32 1421-201-003-00] 52—,
34-33 1444-413-014~20 FA N7 h
34-34 1444-413-015-10 NANAFEY - (44)
34-35 1421-433-022-00| =+, =y vy
34-35 1421-433-023-00 ASAMHS -
34-37 V600~-110-630-70 R.B.B 6307
34-38 V600-110-620-60 R.B.B 6206
54739 1 1444-413-022-00 squ 2o bt -
34-~-409 1444-413-023-0¢ AL Iy - QLN3072131¢9
34-41 VE20-100-802~20 ~M ULy (4 8x22
34-42 V781-100-0.00—80 TE=Y XSSy PT 1.2
34-43 V211-261-002-50 IHEF () M10x25
0= a4 1550-484-221-00| #4 =, ¥
34-45 1550-403-210-00 s4m, r=uy L) Assy
34-456 1550-403-220-00 #4=> ¥=vF (R) ASSY
34~47 1550-403-202-0¢ Fw kb MI7X15 3w
34-438 1550-403—203—00 Frh(e&yzre M17x15 29,
34745 | VB27-262-110-00 [ yuy . , (74 ) M10X125 1o
$47 492 | V328-262-112-00| 2y 4« Iy %7y b (34) MI2X125

77




g o 0z =z |
L | 160F [ g |20
= = Z'E | F = g ‘@ é 6
ZOES 3L ap — T { =
AR w| 0 | DX 0| D X =
% n
|X 4]
V500-162-502-50| 7 Vv v 25%x25 | 4 0lo|o olojo|o
V500-163-002~00| vy vy 3X20 4 0lo|o olololo
V401-160-010-00] S.w M10 4 olo]o olololo
V40;-160—012—00 S.W Mi12 4 1010|0 0iololo
TU180| TU180F |TU200{TU200F
@®| 221 | 1921 | 209 | 1252
|®1 222 | 1922 | 210 | 1253

78



1 30
112 29 30a

|

180F { » | 200F
. Dk LI 0
REES| BMHEI— K SR =>4 0 X & £
# DIXIN]| | D
X X 06
35- 1 11550-501-200-00) ¥V v#¥-=x SET 1{0|0flo|o0 0[0[0|010(0} 41 ~&
35- 1a|1550-501-200-10| vV &5 -= SET 1{ofoloi0fo| (ojo|o|0]0|0|@®~C
25~ 1b|1550-501-200-30| vVv&r-x SET 110j0]/0|0{0jol0lo|o]O}0]0| D~
5- 2 | 1480-501-002-00] »=F7 5. (45X48x35) 1(0jojofOfo|o|Of0|0|0|0]|0
T35- 3 | 1480-501-003-00| -=F7, . (40Xx43%X30) l1]0/{0j0f{0|o|Of0lOf0]|Of0O]|O
35~ 4 |1550-501-002-00{ vV vayr -~z t,%y 1({0joj0|0jojolo|o|0j{0{0]0
35~ 5 |V211-261-003-50| =#s#ntb (S) Miox3s| 8|ojoflojojololo|ololofolo
35~ 6 |V401-160-010-00! S.W Mi10 2|0lo|0|ojojojololo]oOlO]0O
35~ 7 |V304-260-010-00| =#%+s ¢ Mio 2v.| 2|0foflofofo(0]oflo]ofo|0]0
35- 8 1550-501-003-00 >V v&~, ¥ 1)10]0[0]j0]|0 010(0|0]0]|0|Mm1 ~@
35~ 8a|1550-501-003-20| ~U v~y ¥ 1tojoflojolojojojo|olofofo|B®~
35~ 9 | V780-100-000-20| vX:754 PT18 | 1]0j0(0|o|ojojoio|olofo]0O
35-10 |[V720-112-401-20( 0”7y vy P12 2]ololojolofo|ojo]alololo
35-11 [V721-113-106-50| *0Q” Yy v/ Gé65 1({0|0]jolalo olojololo|0|lm1 ~®
35-112a|V721-113-107-00| 0%y vs G170 1|oflojojc|o|o|ofolo|ololo|@®~
35-12 |V201-461-203-50| =¥ &&EA} Mi2xzs oT| 2|0jo|lojojojofololo|olojo
35-13 | V201-461-205-50| =x##At Mi2xss oT| 2{0j0{0l0|0|{0fc|0|0|0O|0]|0
35-14 |V201-461-208-50| =x&£r 1t Mi12x85 9T| 1|0{ol0|ojojo|lojolo|o]|0]0
35-15 |V401-160-012-00| S.W Mi2 5|0fojoj0f0j0jof0|0[QI0]O
35-16 |1444-503-220-00| AB-Y&-vF=,s~<v ASSY 1/o({olo|0jojojof{O(0|0|0]0
35-18 }11550-501-210-00| 7522ty COMP 1(0|ofofojojo|0f0O|OfOiO]|O
35-19 |V401-160-010-00| S.W Mi10 2]ofcolojololololojololofoO
35-20 |V300-400-010-00| +, + M10 7T} 2|0{0j0]j0|0|{0|l0|o|0]oO|O}fO
35-21 |1444-503-007-00| 70w b Fa 1{0|lolojo]ofojo|of{o]|oj0]0
35-22.|V580-140-401-6C| =7y vrry W) 4X16 10f0f0j0joj0l0010/0/0}0

4
0



=

SR

W W oW W W W W W W W

111 2% 5 | LCGF
S - ) 2| g 7 0 =5 = -
ZoEE B&Ea-— K &R 4 1o 7-..{1' L ~| > ii® =
# ARG [ i
AN D 08
I
35-23 Ty 1.0x70 | 1)o0jojojo]ololololojololola
35724 |1550-501-220-00| 417 COMP 1/0j0/0j0f0fo|ol0Olo0|0fO
35-25 |1427-611-001-00| Ta-tp3 1|0(0j0|0f0j0olo]|0j0j0]l0]0
35-26 | 7954-205-101-00| #4Axv,7(30) 1{0{ofofololojofololo|olo
35-27 |V211-260-801-60| 3#&FAL (S) M8X16 | 2{0|o|0|olofololololololo
35-28 |1550-503-001-00 | YALv 1{0|ojojo|o| [o|o|ofofoloiml~@
$5-282a|1444-503-001-00| YA} v 1/0fojojo|olo{ololofolo|o|®~
25-29 [V720-115-706-50| “0”Vvs P65 1{0flojojofo|ofolololololo
35-30 [1550-503-002-00| 527+ 7y v# 1{o0lofolo|c 0iof0j0j0|ojsml ~@
35-30a|1415-505-006-00| <»27>7Yv7 P65 1{o0lofjojojojo]o|0j0j0|0|0|®~
35-31 |1550-503-003-00 | =» ¥ 1{0{ojo|olo| |ojolofofolo|mi~@
35-31a|1550-503-003-10| = ¥ 1{0jofofolo| |o|ofolo]olo|®~©
T -31b|1550-503-003-20 | = K : 1{olo|ofofo]olololololo]o] @~
5-32 |1544-641-250-10 | A= -7+ ASSY 1} |o 0 0 00
5-33 1550-501-005-00{ 7354 » b i o/0jololoiolglololo]0O
5~34 1550-501-004-00 ZrvavIa 2 0j{ojojoj0o|0]0l0j0|0]|0O
5-35 | V200-260-603-50 | FEarT M6 X35 2 0i0jo|o(of0jo|0|0|0|0|NBAIRNX NUXE
5-36 |V300-260-006-001 ¥ k Ms6 2| {o]o]olololalolololo]o :
5-37 |V401-160-006-00| S.W M6 2| jojofolojo|ofolofo]ofo
5-38 | 2737-172-011-00] 75+ Ya~—FRA2 3T vt .| 1} [o]0fojojojolo|ojofolo
5-39 |V211-261-003-00| ax&#it (8) M10X30| 2(0] |olp ofo 0|0 NBA)JiNV, NUD#
5-40 | V251-341-002-50| vz sk 7T M10x25| 2f0i0{0lo|ojo|alo|olo]o]o[ZY 77 e~
5 - 4771 K250-007-000<00{ V'V - 757 ESSY 7 717115 0l 0l0]0 0 lolololololo
5-42 | 1550-501-006-00] wv4h.{- ~ 1 of0 0 o | ®~
= L1180 | 180F | 200 | 200F
@Ni290 [No3193 [Ne311 [Np2111
® No291 | No3194 [Ng312 [Ne2112
. ©[No382 | Na3717 [Na394 [Na3634
D[Ne383 | Ne3718 [ Na395 |Na3635
EINoABE | No565 [NoZRBE| Na365

80



=i
L
]

i
ol
i
'

180F [ o 00F
DIXI|N 8 D % i <
x| | | Josl
36~ 1 11480-502-001-00{ Vv povv 1lofojojolo]| lololojololo £l ~@
36~ 1a)1480-502-001-10 V7 rowo t rfojofofofo| lololololo]o B~0
56~ 1b|1550-502-002-00| V> oy ] 1{0lofolofolo]ofolo]ololo O~
6- 2 | V742-140-520-50] Hqns- VC40525( 2/0(0 ojojolofofofolololo! .

36- 3 | 1550-502-001-00 VI RsS vy i Hofolofofo]=]olofo]ofo]o|m1~@ -
36- 3al 1550-502-001-10 V7 ho5vy 110lofoiofo| (ofolofo]olo 8~0
36~ 3b|1550-502-001-20| y7 o5 s 110jofofojolofo|olololo(o]| D~
856 4 | 1480-502-201-00| yopr7-a 1jojojojojojolofofofololo | A1 ~®
86~ 42)1550-502-202-00] pvp7-a 1jofolofojofojololololo|o|®~
$6- 5 |1550-502-200-00| v 7 p7 -4 (L) coMp 1iojofolofol fojojojofolo |41 ~®B
36- 52{1550-502-200-10| Yo r7-4 (L) comPp 110/0fojojofolololojolofo| ®~
36~ 6 V704-140-040-00 CHEbAw (p) 40 2i0jojofofolojolololololo
36- 7 [ V704-140-045-00 CHabamw(wy) 45 1fofojofojofofololofoo]o
36- 8 | 1444-502-002-00] vy 7 r7-sp 2j010j0j0fofofolofolololo
36- 9 |1404-502-013-00 AHEEAL (MBX25) 210 {010 00 00 NiIN. ND. NU. NUD®
36-9-111491~511-004-00 PAR(MB X1 4) 2(0( {olo| {ofo| (o]0 &~NUD®
36-10 |V304-260-008-00 IHEF ok M8 2. 2|0 00 0fo 010 N}iN.ND.NU.NUw;;
36-11 | 1444-502-220-00 V7b7555+74-2 COMP zjolojofojofololoioolo fo
36-12 | 1491-511-004-00 Pazo (MBX14) 2| o olo| o 1o {0
86-13 1 1550-502-210-00| 7,-s554, COMP 1 |o ofof |o 0 0}1}51-® NITX
8614 11550-502-220-00| 07 } 7= 4 s4 ASSY 1| {o olo! |o 00
36-15 11550-502-221-00 « 4 vwp. 1o 1| o olo| |o 00
86-16 |1550-502-222-00| «wowmy_- 4 1l o oo fof {-]olo
36-17 |1550~502-223-00] «'prmx 1 |o olo| o 00
36-18 |1550~502-224-00] » ooy ASSY 1| o olo! |o 00

81




A il

ot

Y]

&

(=1
Ty o

v
o«

: 1 1B 1 G¥F
~ e 8 0 .
EEES| #HHEI-FK & Z e ol iyt 0 ol = =
X I X 06
3i6-189 1550-502-225-00 RARE 1 0 010 0 010"
36-20 |V111-163-000-80| - F5Ar~axy M3xs | 4| |0 olo| o 00
36-21 [V401-160-003-00| -S. W M3 4l |o olo| o 010
36-22 |V300-260-003-00| «%5 k M3 4l |o olo| o 0o
36-23 |1550-502-226-00| - #.i- 1| |o olo| |o 0o
36-24 |1550-502-227-00| + #45, A3vr 1 |o ofo| |o oo
36-25 |1550-502-228-00| «=2-20vFL-h 1| |o olo| fo 0o
36-26 |1550-502-229-00| +£¥47 555k (97 ) 1l |o olo| |o oo
36-27 |1550-502-231-00| »&v¥7-4 1l fo olo| (o 0o
36-28 |V211-360-801-60| =% #Ah (SP) M8x1i6| 2| |0 olo]| |o oo
36-29 |V380-140-502-50 | A7V vrty W 5x25 | 1| |0 olo| |o o]0
36-30 |1425-621-004=00| ~-%2/ 57 1f to| | |olo| o} | {olo
-31-|1480-503-200-00 | =» K&y COMP 1j0}0ofololo|ofojolo]ofo]o
36-32 |V211-561-002-00| =#adny (8) 7 Mi0x20- 7T| 1j0{0fojoloofo|ofo|o]o |0
36-33 [1550-503-200-00| =vhm-As5v ASSY 1jojolofo]ololojolofo]o o
36-34 |V720-112-401-20| “0”y vz P12 2fojololoolofojolofolo o
36-35 |V211-260-804-00 | 248 KA KS) Ms8x40 | 4|olofofofojo]olofo]o]o]o
36-36 |1550-503-004-00 | Fvava7Uyvsr(84) 1{o|ojolo|ojojojo|ofofo]o
36-37 |1550-503-210-00| A7-a4yvs COMP 1jofojolo]ololofofolo]oo
36-38 |1550-503-005-00| 74 -F<,0pvs 1{0ofofo|ofofofo]ololo]o
36-39 |V710-140-004-00 | E#&bxv 4 2(0lofofololofojololo]o]o
36-40 |1550-503-006-00 | 7 =Fsipsey . 1j0]ofoefo|o{o|o|ofo|oo: e
36-41 |V580-140-301-60 | A7V vre»- W) ~  3x16 | 1lofofofoloolololo]o]o]o]
36-42 |1434-503-002-00| £v(5%17) ~ | 1/o]o|olo|olo]o]o]ololo o o
36-43 |V500-162-001-50 | 57y v’ 2x15 | 1jojojofolojolo]ofololo]o
36-44 |V411-260-005-00]| $#++rx M5 1{olololoolo]olo|ofo]o]o
26-45 |1550-503-220-00 | ## -+ s COMP 1jofololofojoo|olofo]o]o
36-46 |1550-503-230-00 ##-+Ky COMP 1{olojotololojoiolololo]o
T -47 |V720-101-900-70 | "0”yvr P7 1{ololo|ojofo]o]olo]o]o]o
S0-48 |V211-260-801-60 | aws£at (S) _ M8x16 | 1({0|cjofo|o|ojojolo]o]o]o:
36-49 |1550-503-240-10 | V257 +7-4 COMP 1jolojaololo]o{alo]o o fo-
36-50 | V742-114-240-60| s, 0, 1{ofojojofofojolofolofofo]
180 | 180F | 200 | 200F
® [ Ne290 [ No3193[Na321 | Na2111
®){Na291 | Ne3194 | Na312 | Ne2112
©|MNe382]Nu3717 | Na394 | Ne3634
©[Na383 | Na3718 | No395 | Na3635
®{Nel1B|No. 927 |Ne 86 |Na 5989
®i{Ne 77! No 503 |No. 48 |Ne 320

g2



1
gQ
(78]
~J
~
-
~—
A
J
3
I

. 2
B S SR B| g Exnsaih
RLES gﬁnn:]—]‘ z:ﬁ:_ ) 24 0 IDIxIN 0 D X & =
- | | #
: X X 06
37- 1 | 1550-504-200-10| 79 -7S4 45417 ASSY 1| |o olo| |o 0o
37- 2 |V720-111-901-00] « “0”V vy P10} 3 0 010 0 0o
37- 3 | 1491-541-220-10| Yv/ A ¥ A7 ASSY il 1}0 00 0 0]o
37 - 4 | V720-112-401-20| « 70”7y v 7 Pi12| 2| |0 olof fo 010
37~ 5 [ V201-260-809-50| =#H&HAL} M8x95| 1| |o ojo| |o .loto N B NS o
37- 6 | V211-260-805-00| ax&&Lr (8) M8xs50| 2| |o oj|0{ |0 00 o
37- 7 | V201-260-806-00| =#&FA b M8X60| 2 0 010 0 010 :
37- 8 | V401-160-008-00| S.W M8 3l |o olo| |o olo
37- 9 | 1513-541-003-00| =% 7% (4) PT1/8| 2 ol-| |ojo| o 0|0
37-10 | 1513-541-300-00| FV-UA~-R COMP 2y |o 010} |0 010
37-11 | 1544-504-001-00| Af~A{ A50 : 1lo] |0 olo]
37-12 | V720-112-401-40| “0” Vv s P14- 1 8|oj]ofo| |olo 0 NBAEN.ND. NU.
37-13 | V211-260-802-50] axz#it (8) Msx25] 3lof |o 0 0lo NUD&

83



aL bR —-ALNN-FE

s & B X
o T e = T — "] | 180F | 2 | 200F
= o= — o -l 'D.;—, B 8 0 X "
REFS He T B Ha & w| O | D[N0 | |p}= S ol
' L i3 X 08
38- 1 |1544-505-200-00| #'>ev7 -4 COMP 1{o] lo ol |o £1~®
38~ la| 1550-505-240-00| #¥¥a v7-4 COMP 110] o of |o ®~
38- 2 |V580-140-502-50| 27y vrey W) 5x25 | 1/0| |o ol lo
- 3 ) >y 10x70| 1|0 |o o |o S
58~ 4 | 1550-505-002-00| =» F¥( 80) 1|o|ofofo 0| |0 0
38- 5 | 1544-505-004-00] 2o F(42) 1lo{p|o|0 lo{ |0 0
3B~ 6 |1444-122-002-00( &#- 3y s (M8 ) - 1|{olofolo|o| |o] |ojo|0]o0.
38- 7 |V302-260-008-00| ¥ + M8 3xa| 1f0f fo| || |0} |oO
38- 8 | V411-260-008-00] IH=wr* M8 2|0 0 0] |o
38- 9 |V500-162-002-00] 7y 2x20 200 |0 ol |of
38-10 |1550-505-210-10| v-3-kA%¥ COMP 1lo} o ol o i1~
38-10a|1550-505-210-20| L-<-4&A%¥ COMP 1lof lo ol |o RE~®
38-10bf1550-505-210-30| v-i{-A&¥ COMP 1{o] |o ol |0 ®~
38-11 |V211-260-802-00| =2#&xxEAT (S) Msx20{ 2{0| |0 o| {o
38-12 | 1550-505-220-00| v-<- (4 COMP 1jo0] |o 0| |0 £l ~®
38-12a|1550-505-003-00| v,i- (A) ‘ 1|0l |o 0| |o ®~
38-13 | 1444-116-006-00| 54 =7 20| |o0]- o |o Sl ~B
38-13a| 1414-117-005-00| 54 =7 (13%X50%3) 2|0f |0 ol |o ®~
38-14 |1444-116-007-00| 7» >+ (11Xx30%X2) 2|0 0 0 0
38-15 [1404-117-008-00| Fv.v+rFYvs(22) 1|0 0 0 0 %1 ~0
38-16 | V3a04-260-010-00| anZ+4 b Mio 2> | 1}0] |oO o| |o
38-17 |V302-260-010-00| 34 M10 3>a| 1|0 0 0 0
38-18 |1550-505-001-00| Koo ey Loin i1lolo]ololo] {o]o]o M1 ~B
38-18a| 1550-505-001-10| Hova YLsi- 1jofojololol jolofjoO ®~
38-19 |V210-260-602-00| #A+ (8) M6x20 2{0|ofololo| Jolojo H1~@®

84



Q- ba-LL—-EE

38-19a V210-260-802-¢¢ £ (S) M8x20 ®~

i 38-20 |V301-260-006-0 Fob ' M6 2va- S 1~@

; 38-20a|V301-260-008-00 v b Mg - ®~

' 38-21 | 1432-242-004-00 7Y 57 ()
§ | —38-39 1427-117-001-0¢ Vr¥% (13%x50x3)
i 38-23 |1415-505-011-0¢ | ¥5.ix
3 i‘ 38-24 1544-505-230-09¢ V7¥% (13x50x03) Comp o~
oy 3825 |V302-260-010-00 F s b _ MO 32 )

' 38-26 [1560-511-013-09 -k

1444-116-007-0¢ vy (1 1X30x%x2)

28-28 |1404-117-008-00 VYL AT vy (27) B
38-29 V304-260—010—00 IHRF b Mio 20n
38-30 V302-_260—010-00 F o b Mo 3on

| 180 | 180F | 200 | 200F

@ [Ma368 M35 25 [Na354 a5 0]
® [ Na370 Na3626 |Na385
@Nﬂ34;Na10931Nu102 No. 707
(D[ N135 Ne1094 | Nal 03 | Mo 703]

85



S R R A YA

EHES BRI-— K-
39- 1 |1544-505-200-00| #Uvsv7-4 COMP 1 0
39- 2 |V580-140-502-50| A7y vrscy @) 5X25] 1 0
39- 3 |V590-131-007-00| Fs+v 1.0x70| 1 0
T - 4 [1550-505-002-00| = F(80) 1 0
29~ 5 11544-505-004-00| => F(42) 1 0
39- 6 |1444-122-002-00| #- 3y s (M8) 1 0
39- 7 |V302-260-008-00| F» k M8 3val 1 0
39- 8 | V411-260-008-00| Ix+#x M8 2 0
3¢- 8 1V500-162-002-00{ 7V &V 2x20 | 2 0
©39-10 [1550-505-250-00| L-i-754»F COMP 1 0
39-11 |V211-260-802-00| =2#&xLb ) M8Xx20| 2 0
39-12 |1550-505-004-00| v.i- {4) 1 0
39-13 |1414-117-005-00| 54 =22 ({13%50X3) 2 0
39-14 | 1544-505-005-00| 7» <+ (11X50%x2) 1 0
39-15 |1560-511-012-00| v~} 1 ol
39-16 |1415-505-011-00| #3-34% 2 0
38-17 |V304-260-010-00| =aH &3y b MiI0 2va | 1 0
39-18 |[V302-260-010-00| = b MO 12| 1 0
29-19 |[1550-505-005-00| #Howa Y-t 1 0
389-20 [V210-260-801-20| =itk () "MBx12 2 0
39-21 |1432-242-004-00| ZV»7 (B) 1 0




Fig. 40

N g

2y

Oy 7184 €5 8%

ZIN

e . B/ s B OoR -
180F | 2 200F .
= = ! . ’ {@ 8 1 5 i .
BEES WHRI— K AR : & g olxIn| O D X| % =
e ) ’ #
e - e b 7 - {1 T1xt-1 | los|~ - -~

40- 1 [1550-508-200-00| 47> a3 7 (A) COMP 1{0j0|0j0|0| [0{0j0f0j0|0] A1~
40- 1a|1544-508-200-10| #2av34F (o) COMP 1/olofojojo|ojolofo|o]o|o| k=
40- 2 | V720-103-502-40| 0%y vy P24 1|ojoflojo|ojolololofo|o]o '
40- 3 |V211~-260-802-00| awx&£it (§) M&x20| 2|0|0|olofojo|ojofo|o]o o', i
40- 4 | 1550~-508-001-00] *-A(70) 2|0{ojo|ojo| |ojojofofofof /A1~ N
40- 4a| 1550-508-001-10] ®-A(90) 2/o{ojololofo]o|olo|o|o]o| =
40- 5 |1427-101-011-00| #3v7(35) 4)0/olofo|olojololo]ofofa]
40- 6 |1550-508-210-00| /x4 7 (B) COMP 1/olo{ofojo| lojofofo|olo| &1~
40- 6a|1550-508-210-10| ¥ 7. ¥4~ (B} COMP 1/o|o|ofojojo|ojo|c|o|a|o| REHK
40- 7 | 1423-616-004-00| 75> av=a(10X25 ) 1|o|lojojojololo|olo|ofo]0
40- 8 | V304-260-008-00] a# &+ b M8 2. | 1{o0{ojo|o|olojo]|o|olo]o]o
40- 9 |V211-260-801-20| =2#a£E4tk (S) M8x12 | 1|ofo|lolofo|ololojojo|o|o
40-10 | 1544-508-270-00| +7>av74A2 ASSY 1{o|lofolo|ojofo{oj0fo|o|o| 1 ~7xB8
40-10af 1544-508-270-10| /> v7418 ASSY 1{0|ofojolojofo|Of0|0|D|0] TREE~
40-11 | 1444-510-222-00] -4 -x 1/olo|o|ojojo|olofofo]o]o
40-12 | 1444-510-250-00| =¢&%» 1+ ASSY 1{ofojojojolof{ojolo|ofofo
40-13 | 1444-510-229-00| * o biorv 1|ojojololofofojojo]o]o]o
40-14 | 1544-508-271-00] =LV} 1{0loflofolojolololo|o|o]0
40-15 | 1444-510-226-00| -<yxv 1{ofofolojo|ofololo|0]o]0
40-16 |1444-510-227-00| « 24 LAF Vs 1]o0loflolofololo|o]o|ojolo
40-17 | 1444-510-231-00| «“0”V v (S820) 1({0flofofojojo|ojofo|o}fofo0
40-18 | 1544-508-220-00| 74A4~<-2 COMP 1{o{ojofolol [o]|ojo|o]a|o| m1~@©
40-19 [V211-260-802-00] =# &=Lt (S) M8x20| 4{0|0|0j{0|0|0J0{0O{0O|O|O|O
40-20 |V211-260-803-50| =## 4+ (S) M8x35| 1]/0|ojofolo|of{o|Clo|o]|o]o
40-21 | V211-260-801-60] =2#% #r + () M8x16] 1|0{0fo0floi0 ojofojojofo

87



B L OB =]
|1 | 180F |9 [26GCF
- . 8 g 0 . o -
ERES| HZ&Za3-F R 2 | olx|n| 0 D X i 2
= | X 05
40-22 ]1550—508-002—00 Sah- R () 1]o|ojolojo|ojololololo]o
40-23 |1427-101-011-00| #5v7(35) 2{0|0f0of{0f{0|0j0JO|O|0|0]O
40-24 |1550-508-230-10| #2vs V347 (C) COMP i1jo0/cjo|0|cjojol0|olo|o]o0
40-25 | V720-102-402-00| “0”yvy P20 1{olojojolojololofolo}fo]o
40-26 |V210-260-604-00| #=At (S) Mex40 | 3lojolofolofo|olo]ofo|olo
40-27 |1550-508-003-10| =akh-2 (B) 110|0|0j0o(0jo|o|ojOf0]0Q|O
40-28 | 1427-101-011-00| 25 v7(35) 2j0fo0|ojo|ofafolojolo|afo
40-29 |1550-508-240~-10| ¥+ 2>sv-i47 D) COMP 1]ofolofolololofoiolo]o]o
40-30 |V210-260-802-00| #i b (8) M8x20 2to|o0|o|oj0tofo|o0foj0olof0
40-31 | 1550-508-250-10| FU-3y-47 (4) COMP 1|o{olojolo] |o|ofofo]olo| 41 ~@
40-3la|1550-508-250-20| FY.3y.f 7 (o) COMP 1/olo|ofololololololoalo] ®~
40-32 | V720-112-402-00| “0”yvys P20 1/olololo]olo|ofo]olololo
-33 | V210-260-603-00| it (S) M6x30 | 4|o|olojo|o|olo|ololololo
40-34 |K135-011-000-00| #¥#v7 ASSY 1]o|o]ololojololojo]o]o]o
40-35 | K135-002-006-00 | + &¥Fh-i- < 1|ojolojolo|olo|ofo]olo]|o
40-36 [K135-001-007-00| A - 7 1|lo(ofo0jojolo|ojololo]|olo
40-37 |K135-001-008-00{ - ~“0”V vy 1|ofojolojojofo]ololo]alo
40-38 | K135-001-009-00{ -“0"yvs al0folojo|o|ofolojolo|o]o
40-39 [K125-002-008-00| - ”Q~*Vvs 1{olo]jojofolofo{ofolo|o]o
40-40 |K135-002-009-00| - =axz&Ert M8x28 | slofojololojofolofololo]o
40-41 |V401-140-008-00| - S.W M8 6|ojlojojojojofolololofolo
40-42 | V411-260-008-00 | s ¥ Mg | 4|o]ofolo|ofo|o]0 0f0|0]|0 -
40-43 | V304-260-008-00| an£+» b M8 2v.| 2zlolololofo]o]olo]o]ofo]o
40-44 | V401-160-008-00| §.W" M8 4|ofojolafolololololo]o]lo
40-45 |1444-510-002-00 77555 b (M8) z|ofoojojofojolofolojolo}
40-46 | 1550-508-260-00| FU.<)h-2x COMP 1jolo]ofojo| |olofofolo]o| 41 ~@
40-46a|1550-508-260-10| FY-Ysk-=x COMP 1|ojojojo|ofolo]ololo]o]o| ®~
40-47 | 1550-508-004-00] axs% 2lo|o|ofojo| |ojo|o]o|o|lo| /&1 ~®
T =48 [ 1544-508-006-00| 7 avh.So 1|ofojofololofololojofo]o :
40-49 V720-112-401-40 O Y 4 P14 21010{0]0]|0 0(010(010]04
40-50 | V211-260-802-50] aws#£at (3) M8x25 | 3|o|clo|o|ofojolo|ofo{o]0
40-51 | 1550-508~270-00] VY -7.47 ASSY 1{0|0|0j0]0 o[o]0fo(o]oO ]Aﬁ1~®
40-52 | 1550-508-280~00| FV.iy-i4 7 (B) COMP 1jojofojofo| j0fof0jofofOf/)" _
40-522|1550-508-280-10| FY.3y-f 7 (B) COMP 1j0lo|olojolojo{o{0i0|ol0] ®~
40-53 (V720-112-401-40| 0%y vy P14 2|0/0jolo|0fojofo|0|Of0]|O
40-54 |V211-260-802-50 | =xasrt (S) M8x25 | 2|ololojofolololo]o]o]o]o:
40-55 | V211-260-803-50 | sxama} (S) Msx35 | 2|olololofolafoleloloo]o
40-56 [1544-508-008-00| akz2 (4) 1{ofo|olojo|o|o{ojojofol|oO
40-57 | 1550-508-005-00| =%2% (a) 1|ofofc(ojo|ofolojololo|o| @~
40-58 | 1404-503-006-00| A AH Stk 1/0lolofofolofololo]ofo|o
40-59 |K250-013-100-00| Yy -7.in7 SET 1{ofojofolololojo]olo]o]o
40-60 | V720-112-402-00| #0%y vy P20 1]ojlojolojololoiolo]o]o o}®~
180 | 180F | 200 | 200F '
@®|Na362 |Na3569 [Na376 |Ne2423
®[Na363 | Na3570 [Ne377 [Ne2424
©[No 48[Na 276 [No 27 [Na 163
©[No 48 |No 277 [No. 28 [Na 164
®|Na253 [No2542 [Na269 [Nal716
®|Na254 [Na2543 [Na270 [Nal717
©|Ne366 [Ne3611 [Na38B3 | Nu24 84

88



[45]
N

al

)

N

7.

>
¢
&

Fig.22-1

{7is

=

B -F -8 X |
J |1 [180F | 2 J200F
= B g 70 :
BEES HRa-—F I % o] Iplklul o ] [pLE] ® =
ﬁ .1_ : &
X X 06
41- 1 |1444-514-220-00| =7-Yv7 COMP 2)0|oflojojojo|ojoln|Oo|O|0O
41- 2 |1444-514-002-00| =7 -)voEy 2|0|ofofofolo|olOfofo|o|o0
41- 3 |V411-160-022-00| :¥F+¥% M22 2io0|ofofofolololo]ololo]0
11- 4 |V500-154-003-50| 7)Ev 4%33 2|olojofo|ojo|olofofolo]o
41- 5 [7963-611-230-00| F¥=-75=-> (A)-COMP zlolo|ojojolofofoloja]ofo
41- 6 [7963-611-240-00| ¥=»2%=-v (B) COMP - 2lo{ojofolojo|ojofofolo|o
41~ 7 |1444-514-230-00]| £- s 7 (4) COMP 2|0loj0f{o{ofof0j0l0 ({0010
41- 8 |V304-260-016-007| a#Hs+ 5 b - M16 2v.| 2{0[0/0}0l0j{o|0j0|0j0(0]0
41- 9 [7963-611-003-00| v (12X48) . "4]o0/ojojolojolojolo]ofo]o
41-10 |V500-163-002-50| vVyEv 3X25 4lolojolofolofofojojolofo
41-11 |7963-611-001-00 | F=~vt 2|o0jolofolojololojo|oj0!l0
41-12 |V304-260-016-00| I#&¥» + Mé 2>~ | 2|0|o|olo|o|ofojo|ofojofoO
41-13 |V401-160-016-00| S. W M16 2|olo|o|olo|ojojo]olo]ofoO
41-14 |1416-511-400-00| =7 -y vs5F=> COMP 2(o|olo|ofofojo|ofofo|o|oO
41-15 |1550-514-310-10| V7 +twms ¥ (L) COMP 1{o|lojo|ofol (o|ofojoiofo0
41-16 |1550-514-210-00| A2V~ (L) COMP 110 oo o fofo £l ~B
41-16a|1550-514-210-10 | R4V (L) COMP 1lol |o]o| |ofo| (o0 ®“N‘1NU.NUDQ
41-17 |1444-514-260-10{ A7 V. (R COMP } 110{ jofo| jo|0| [0}0 NiINU. NUD #
41-18 |1444-514-270-00| &-+3y sA (B) COMP 10 010 ofo! |ofo .
41-19 |V302-260-020-00| +» ¢ M20 3. | 10| |0|o| |ofo] |o|O NiZNU. NUD®
41-20 |1444-514-003-00| £+ (19x72) | 2]o0] |o]o] jolo] jolo
41 -20-111444-514-003-00| € (19Xx72) 1 0 0l0 0 0] 0| NiaDL NUXR
41-21 |[V500-164-003-50| 7y v 4%35 2|0t |ofo} |ofo] jolo NiNU. NUD&
41-21-1|V500-164-0023-50 | 7y v 4X35 11 |0 ofof (o (0] N NUX &
41-22 |[7863-613-005-00| £ (16%60) 2iof{o|ofolofo{olo]o}0O 0

89



= 2R
= -é 18CF ;6> 200F | _
REES HF&E23-—F an %z wr | O plxInl 0 ol X i =
R X 06

41-23 |1305-931-003-00| Fvorvamv-vy 2{olojojolololofotololoio
41-24 |7963-905-004-00| =-2(m-41) afololofolojojolololo]o]o
41-25 |7963-905-005-00| =-2(v, %) alofololojo]o|ololofojalo
41-26 | 1444-514-280-10{ +» 7V 2 (L) COMP ilojojofojcjofolofofojo|o0
41-27 | 1444-514-300-00| F» 7Y v7 (R) COMP 1jojololojololo|ojolofo]o
41-28 |1550-514-290-00| £- .3y 20 COMP ifololotolojojoiofolofo]o
41-29 |1402-511-600-00| bw 7V 285255+ COMP 1jojojololojo|ojojolo]o]o
41-230 | 1444-514-004-00| +» 7V vsEy (&) 1|ojojolofejofolo|olo]olo
41-31 | 1444-514-005-10 ~¥ -+~ (109) 2|0j0jolojolofojololofo]o
41-32 |1444-514-006-00] +» 7Y voEY (B) 1{ojofolojojololo]o]o]o|o
41-33 | 1550-514-220-20| V7 b Y% ASSY 1| o oglo} |0 00 \Fig2-1-22£R
41-34 | 1513-541-005-00| 2%7% (C) PT1,845| 2| |0 olof jo 010

-35 | 1488-541-006-00| ¥ (16x65) 1| (o [ lojof {of {-|olo
41-36 | V411-160-016-00| IFFHH% Mi6 1| (o 0|0] |0 00
41-37 | V500-153-003-00| 7VEv 3X30 1 0 0o |0 010
41-38 | 1550-514~250-00] At2-24wv4 ASSY 1] o 0lo] |0 oo
41-39 |1550-514-280-00| 7V~ + (A COMP 1l 1o olo| lo 0|0 | PNSANNK. NUXHY
41-40 |1550-514-001-00| 7v-+ (B) 1y |o 0jof o 010||Fig42-23~4021
41-41 |V211-360-802-00( T HF£ELL(SP) M8x20 1 0 ofot 1o 0]0
41-42 |V120-266-001-60| 7T AF~=% (3) 2| |o olo| |o 0o
41-43 |V411-260-010~00] I FEFrx M10 1 0 o(o} |o. 010
s1-44 | Vann-zeo-oossoo | s+ Frx g Ll fol | dofolfo] | fofoll o
41-45 |V500-152-502-00 | PV¥¥ = a2sxz0 | 2| |o ofo| |o oo )

. | 180 | 180F | 200 | 200F )

@ Na339|Na3442 [ No347 [Na2271
@[ Nu340 | No3443|Na348 | Ne2272

20



1514
! g 8 32
- "f)' w36
@5 ' 27
| &35
I 18 I
16 & |
G
oy
8B—S 2|5
38
26—ﬂ
. H 34
. 25 " '
- I 3
& BOR
B | L 180F [ 2 [200F
REES B&I—FK 5 % o | okl o | plX] ® =
o i R X 06
42-0-1{1550-514-220-20| Y7b>Yv¥ ASSY ~ - ‘1] -Jol | |e]ol- |o 00
42- 1 |1550-514-230-10| *€Xk¥a, ¥ CoMP. - | 1| |o olo| {o oo
42~ 2 | 1444-541-242-00| * ¥V VE~s K - 1| o olo| |o 0|0
42~ 3 |1444-541-243-00| 7 »¥a 1| |o0: 010 0 0|0
— 42— 4 |1444-541-244-00| 742~y vy [ |0 00 0 0|0
42- 5 |1444-541-245-00| Uy ¥s 1| o 0l0] {0 olo
42- 6 |V720-113-504-40| *"0”V vy P44 2 0 0l0 0 0fo
42~ 7 1444-541~246-00| *"0" Y7 - tlot L (oo 0 00
42- 8 CEARY 1| |o o'lo] |0 00
42- 9 | 1444-541-248-00{ 92T TV VS 2| |0 ofol |o 00
42-10 |[1544-511-222-00] *"0" Vw7 2 0 oflo 0 0{0
42-11 1444-541-249-00| *Uws» b 1 0 0]0 0 oo
42-12 |1488-541-289-00| -~ ATEA}FYV 1| |0 ojol (o 0|0
42-13 |1488~541-291-00| +-AF> -} 1| |0 olo! |o 00
42-14 |1544-511-221-00| -#H~s b 1| |0 00 0 0|0
42-15 |1488-541-293-00| * A7V~ 1| |o 0|0 0 0|0
42-16 |1544-511-223-00| * 737 (541) 1| |0 olo| |o olo
42-17 |[1488-541-296-00| =737/ (v=sv) 1l 1o 00| {0 oo
42-18 |V720-112-401-80| *"0"Vv7 P18 1l o ojo] |0 00
42-19 [1488-541-297-00| % 0"V vy 1| |o o{o| |o olo
42-20 |V?80-100-000-40| *¥Xi757 PT 1/4( 1} |o 00| (0 0o
42-21 |[1544-511-224-00| VAPV ovaviny 1 |0 0{o{ |0 0|0
4222 V780-100-000-20| ~¥Xi757 PT 1/8| 2| |0 olo| {o 00
(:/42—0—2 1550-514-250-00 | Atm—-yx4 ASSY 1 0 00 0 0|0
42-23 |1550-514-252-00| 54 av.iy 1l |0 oo |0 0|0

91



' L B !
m| L [S80F 17 [20CF
SWES HAEoa-— K 2 z - . 100 x| B =
- ol DIX|N D
X X 06
42724 1 1550-514-253-00 | » T4k s 2] |0 O EOrIIC g
#2725 1 1550-514-254-00| - &» b 7L} 2| |0 Wy e
42-26 1 1550-514-255-00| - v¥7 ¢ 1) 0 010 |0 0|0
42727 | 1550-514-256-00 | - 254 ¥¥m,/ ASSY 1| |0 o B b)Y
42728 | 1550-514-257-00| - FRk-n 1010 ool |0 010
42°29 | 1550-514-258-00 | - 757 1 |0 O} ) B ale
42-30 11550-514-259-00| - 70" y vr 1|0 0oy |0 010
42-31 1 1550-514-261-00| - hoim 1 |0 U 010
42732 11550-514-262-00 | - Tarm 45 b 1l |0 ofo| |0 00
42-83 11550-514-263-00 | - ~-%% ASSY 1|0 WS e
42734 11550-514-264-00 | - A7) vrEy 2x1z2| 1| |0 Olog o i
2735 |1550-514-265-00 - E#& bav 5 1 10 0o} |0 0}0
2736 11550-514-266-00 | - =t #HEY v/ L 0p o0 o G
42737 11550-514-267-00 | « 75 A#5 3% Maxs | 4| [0 0lo1 jo i
42°38 1V111-163-000-60 | - 7524524 M3x6 | 6| |0 RIS e
42-58 1V401-160-003-00| S .W M3 6 (0 0lo| |0 010
42-40 11550-514-268-00| =-vwrrL-t 1o 0ro| 0| | |o]0
] PR v 8 o~ e -

o2



L T et St N N N N Y N U O N SN N

@A o B K
1 180F { 2 | 200F
- . @ g 0
REES| R/ I—F &R 2 0 plxin| © DX % =
#

X X 06
3-0-1[1550-531-200-40]| #-tm-2Y SET 1j0/o{o|ofo|olofolo|ololo
3- 1 |1480-531-330-00| -F+5~<v ASSY 1|0/ololo|ololo]olololo]o
2~ 2 |1550-531-210-00| 7Y+ Abm+ ¥ CQOMP 1|0)0|0j0j0({0|0f0|0|O|0}O||A1~B
3- 22a|1550-531-210-10| +F7oyAabms F COMP 1|ololofojojolojolojolojol||®~
3- 3 }1550-531-220-00}| «+7,2-7—-4 COMP 1j0/0/ojojo|0jojo{0|0|0l0}| A1 ~@D
3~ 3a|1550-531-220-10| «7y>.7—-4 COMP 110/olofofojololo|ololojoll®~
3- 4 |V201-260-802-50 | - 2% Fu} M8x25| 1{0/lolololo|o|o]o]o]o]ofo
3- 5 |V301-260-008-00| =5 b M8 2. 1|o|lolojolo|olofololololo
3- 6 |V580-140-402-00 | X7y ¥/Ev W) ax20 | 1|olo|o|o|o|ofofojofojofo||41~@
3- 6a|V580-140-502-00| - AFY vrEY (W 5%x20 | 1{0{ololojololojo]ololo]o||®~
3- 7 T ek 1.0x70| 1}0{olo|o]o|olojolalofofo]|le
3- 8 |1550~531-230-10 | n, yqas COMP 1{olojolalojofololojojo]o
3- 9 |V211-360-802-00| -=#&+#Lh(SP) M8x20| 2{0/01010/010/010101010 0+ D:X. UD. UXE
3-10 |1550-531-240-00| 7o+ AkDv2s COMP 1] ojofofojojolojofojofofolf
3-11 |V411-160-010-00 | « i HFH#5 M10 1[0{ojofofofoj0j0|0i0j0 0
3-12 |V500-152-002-00| -9y 2x20 | 1[0/0/0/0}0/0]|0}0/0]0/0]0
3-13 |1414-312-002-00| 5 vve Y27V 7 (53) 1[0/0(01010/010|0}0|0]010
3-14 |1444-531-002-00| ==y Fu-5 1/0/0(070/0/010/0100 00
3-15 |V410-260-008-00 | - a#z+#% M8 1/0{0(010/0}0|01010}00}0
3-16 |V500-152-002-00| -vye 2x20 | 1/0{0{0[0]0(0100}010/0}0
3-17 |1544-531-002-00| -Haz1— b 1]0}040(010/0)010/010 /010
3-18 |V211-360-802-50 | - =#2 4L+ (SP) M8x25| 2{0/0|0010/0}00/0}0100
3-19 |1550-505-001-00 | - #rw e/ loi- 1[0/0[0/01010]01010]0}0]0 },;,;1~@
3-20 |1432-242-004-00| - 7y, 7 (B) 1}0[0/0101010/010101010 0}

90
w



1601 2007
N _ . |B|é i - . .
Z2ES &I —F Ao = " 0 plxIn| 0 D X i =
X ER 06

43-21 |V210-260-602-00| - =4t (8) Mex20| 2{0(0|0|0|0 ojojolololo
43-22 |V301-260-006-00| =54 b M6 2v.| 2{o{olo]o|o| lo|o|ojojolo|lim1 ~®
43-23 [1550-531-250-00| - v.i-754, + COMP 1{olclojojo| |o|ojojolo]O
43-232|1550-531-250-10| +13-755, } COMP 1lo{ofojaiol {ofalojojojo|l ®~
43-24 |V211-260-801~60 | - amz#atr (§)  Mex16| 2| 0lolololo| |ololo]o]ofol]
43-25 |1550-531-260-00| -v-<-4ag (P) COMP 1{olololofo| |o]jojo|o|O]0
43-26 | 1444-116-006-00| 54 =vs 2/ 0{o|ojojo| |o]ojojofofofll
43-27 [1444-116-007-00| - 7,4 (11X30X2) 2l 0/0|0]0f0 o|ofojo0lo}o0
483-28 [1404-117-008-00| +FVvoovwrxrVvr(22) 1lof{ojo|olo| [o]o]ojojo]0
43-29 [V304-260-010-00| - ax&+5 b Mio 22+ 2{0lof{ofofol |o|ojojojofo
43-30 |1550-531-001-00| -FFA i 1/0{0|0[0]|0 0l0|0f0j0}0
*3-31 |1432-242-004-00| - 7V AB) 1{o|olo|ojo| [o]|ojo]o]o]o

=32 |V210-260-602-00| -#Fap (8) M6x20 { 2[/0{0{0|0|0| (0|0jOlO[0O]O
43-33 |V301-260-006-00| -+ b M6 2v- | 2|0|ojo|olo| [o]|o]ofo|oloiliz1 ~®
43-34 |1550-531-270-00| - Loi-his D) COMP 1{0|olofojol {o]ojolofo|af||
43-35 |1444-116-006-00| -54=vy 2|o|ofojojo| |Jojojojolo]o
43-36 |1444-116-007-00| - 7%y (11X30x2) 210{0|o|ofo| o|o|o{o]o]oa
43-37 |1404-117-008-00| 7Ly oyA7Y v (22) 1|olo]|o|ojo|-|olofo|olo]o
43-38 |V304-260-010-00] »as sy b M10 2. 2{o0|ofojelo] |o|ojojojolal|-
43-39 |1550-531-280-00| -Uafvhmy ¥ COMP 1|0/ olojojo| |o]|o]o|ofolo
43-40 |1550-505-002~00| +=» F(80) 1{o|ofofolo| |o]ojolofo]o
43-41 115447505-004700) =25 ¥ (42) o . |-1]l0|0l0]0}0|- |0{Of0f0]|OlB|t|- -~
43-42 | 1444-122-002-00| %= 350 (M8) ] lio0/o]j0|l0(0 olofojojofo] SR
43743 |V302-260-008-00 | - b M8 3> | 10|ofo|o]o| |o]ofofolo|o|lhe(p, x up,
43-44 |V411-260-008-00{ - s AFrsk M8 4{olo]ojojo| lofojojofofo}il UXBzER)
43-45 |V500-152-002-00| 9Ky 2x20 4f0ojolofojo| |ofojoiolofoil
43-46 |1550-531-290~10| +FFA75% %+ COMP ilololo|ofo| {o|ojoloqolo
43-47 |V201-260-812-50 | - amasa} M8x125 1|oflo|ofojo| |o|o|o|0j0]0
T -48 |V201-260-808-50| - awssah Msx8s | 2|oloofojo| |o]ojojofojo
43-49 |V401-160-008-00| -§.W M8 3jo{olojolo| |o]o|olo]ofo
43-50 |V411-160-008-00| - ¢ ms+#k- M8 3{olojojolo|l [o|ojolo|olo
43-51 |1550-531-300-00| «7- s4is COMP 1|olojojolo| |ojojo]o]o|of
43-52 |V411-160-010-00| - I #¥+#=% M1 0 1folo|ojo|o| fo|o|o|0|O]0O
43-53 [V500-152-002-00| -wypew 2%20 1lojololojo| |ofojolafo]0
43-54 |1550-531-310-00| -=w>v7-4 ASSY 1{ojofo]olo| [o]|ojo[o]c]|o
43-55 |1444-531-001-00| -+ 7»>2(10X12X20) 1{ofofoio|0 0i10fofojojo
43-56 |1550-531-330-00| -#rv,v7-4 (4) COMP 110jo|0fo]0O ojcld|ojo|ol|l4£1 ~@
43-56a|1550-531-330-10| &> wv7-4 (A) COMP 1/olo|olo|o| |ojofo]o|ofo|l®~
43-57 |1550-531-340-00| -#oouv7-a (B) COMP 1{ololojolo| [o]|olo|o|ofo
43-58 |V581-140-502-50| &7 vrEy (V) 5%25 1{ololo]ojo| [ojojo]o]of0
43-509 “Fay 1.0x70 | 1|ojofolo|o| [o]|o|ojo|ofofja
43-60 |1550-531-002-00| «FvsYA7Y 5 (85) 1]0/0|0|0]|0 0[0j0]0[0]0
43-61 |1544-531-360~00| - 74 vHhis (A) COMP 1|o|ojojof0f {0jofo|0jOf0
43-62 |7957-501-004-00| «~¥-t(10=a) _ 1{o{otololol [o]ol|o|o|ofo
43-63 |1550-531-350-00| «74-F<,574% ASSY 1{ololo|ofo| fofo|o|ojofo
43-64 |1544-531-370-00| 74 ¥&rs (B) COMP 1|ojolojojo| [o]|o|o|o]|0fa
43-65 |1305~241-001-00| -hA A= o~T LV 1lojofojofo| [o]lolololofo
43-66 |[V411-160-008-00| - :m=+#x M8 1lolofo|ofo| [o]|ofolojofo|| a1 ~®

=Y



RLES

HeEI— K

<

43-67
43-68
43-69
43-70
43-71
43-72
43-73
43-74
43-75
43-76
43-177
43-78
43-79
43-80
43-81
43-82
43-83
43-84
43-85
43-86
43-87
43-88
43-89
43-90
43-91

1444-531-005-20
V211-360-802-00

11444-531-320-00

1444-531-006-00
V411-160-008-00
V500-152-002-00

1444-531-330-00

78985-401-001-10
1305-241-001-00
V411-160-008-00
V201-260-801-60
V401-160-008-00

| 1550-505-003-00

1560-511-012-00
1414-117-005-00
1444-116—-007-00
1404-117-008-00
V304-260-010-00
V302-260-010-00
1550-5331-001-10
1415-505-015-00
V210-260-802-00
V301-260-008-00
1550~-531-280-00
V411-260~-008-00

R a3
caHEFEALL (SP)
*7-4 COMP
v (88)

- HHEFH R
LYy
=y ¥ COMP

D e AV
cRANBITIA~NT -V
I HEFEHE
CODFEFEAN
*S.W

- LS (A)

s Tr-t

*54=v7(13X50%3)
"7y ¥e (11X30%X2)

M8x20

M8
2x20

Ms
M8x16
M8

C VsV ATY VS (22)

cAHKXFy b
b

s FFRALS~
cLoiozy
cAEAL (S)
*Fo b

e dvhm, F
. S HEFH R

ComP

M10 25a
M10 3>a

Mgx20
M8 2=

M8

D B T - R SR O R R L I ST T R N T N S S T

OOOOOOOOOO‘OOOOOOOOOOOQOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

O‘OOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOODOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOO_O_OOOO

OOOOOOOOOOOOOOOOOOOOO_OOO_O

OOOOOOOOOOOOOOOOOOOO_OOODO

Mol ~@E

}M1~®

* (D,X,UD,UX
pilEgz2ey

Y

®”

OOOOOOOOOOOOOCOOOOOOOOOOYO

35



? &/ & = =
i 18CF | 7 S{LUF
{E 8 0] =
= = =t s Ped ==
EEES HHI-—-K R 5 5 0 Dlx 0 D =
X X 06
43-92 |V500-162-002-00 AU 2X20]| 2/0]0j0]0(0 olo|o]o}ofo
423-93 |V411-160-005-00 I HEFWH R M5 1{0{0|0|0t0 o(ojolojojfo %(D, X, UD, UX
43-94 | V500-162-002-00 7Yy 2%20] 1|0j0{0|0]0 000|000 3 EE)
43-95 | V211-260-801-50 aFEFEALL (S) MBx16| 2|0]{0|0]|0]|0 ofolo|o|ofo
43-96 | 1550-531-003-10 FYTVIL VAL Sy 1jojojojojo olo|olofolo
180 | 180F | 200 | 200F
Ne359 [Na3498 {Ne361 {Ne2313
)| No.360 | Ne.3499 | No362 [ No2314

26



@ ] 180F | » 200F
RHES MEa-— K = % - 108 X| & =
. 5 DIX|N D
: X 06
44-0-1]/1550-531~400-10 | #-+=-4Y SET 1 0 )
44- 1 |1480-531-330-00| -F+«>~Xv ASSY 1 0
44- 2 11550-531-210-10| 7Ly Ak »F COMP 1 0
44- 3 |1550-531-220~-10( +FwvaT7-u COMP 1 0
44~ 4 |V201-260-802-50| «=2H&EA} MB8x25 1 0
44- 5 |V301-260-008-00| 25 b M8 2w 1 0
44- 6 |V580-140-502-00| «AZV v7/Ev W 5X20 1 0
44- 7 cF eV 1.0%X70 1 0 PN
44- 8 }1550-531-230-10] .=, Vs COMP 1 0
44- 9 |V211-360-802-00] «ax&#Ab(SP) M8x20 2 0
44-10 |1550-531-240-00) 7Y% ArY vy COMP 1 0
44-11 |V411-160-010-00 | +  FEHFH*% M10 1 0 { *(ND NX, NUD,
44-12 {V500-152-002-00| - 7yvrv ‘ 2X20 1 0 Wﬁ(ﬂﬁti&%ﬁ)’
44-13 |1414-312-002-00| -5 vwe YAFY v (53) 1 0 (N, NU}2 %)
44-14 [1444-531-002-00| =y Fm -5 1 0
44-15 |V410-260-008-00| « aH&¥FHZ M8 1 0
44-16 |V500-162-002-00| «7ytEv 2x20 1 0
44-17 11544-531-002-00| «»a7Vv-¢} 1 0
44-18 |V211-360-802-50| - =#&a1 b (SP) MBx25 2 0
44-19 |1550-505-004-00| -« v-3— (a) 1 0
44-20 |1560-511-012-00| «7L -} 2 0
44-21 11414-117-005-00| + 54 =v27(13%X50x3) 2 0
44-22 [1415-505-011-00| »4+3.<% 2 0
44-23 |V304-260-010-00| - zx&F» k Mio 2. 1 0
44-24 |V302-260-010-00| -z F MO 2o 1 0

97



| i 180 s | EQGE
- _ . 18| g 0 - -
ERES HHEo-—F & = 0 | Iplxint 0 D_k; f® 5
X T 3

44-25 ]11550-531-004-00|  FFARL,I= 1 0 A

44-26 | 1415-505-015-00| « Li-=%y 1 0

44-27 |V210-260-801-20| « &t (8) M8x12]| 2 0

44-28 |1550-531-280-00| *vsM1vbry ¥ COMP 1 0

44-29 |V411-260-008-00] « § #¥Fas M8 2 0

44-30 |V500-152-002-00| - vy 2X20 | 3 0

44-31 |1550-531-290-10| +F7A754 5+ COMP 1 0

44-32 |V201-260-812-50| - aHs&Enb M8x125| 1 0

44-33 |V201-260-808-50| - 24& s b M8x85| 2 0

44-34 |V401-160-008-00| -S. W M8 3 0

44-35 |V411-160-008-00| - 3 #¥+ x5 M8 3 0
44-36 |1550-531-300-00| «7-akrg COMP 1 0]

4-37 | Va11-160-010-00| - e M1 0 1 o

44-38 |V500-162-002-001 -9y 2x20 1 0

44-39 |1550-531-310-00| -awv>»7-4 ASSY 1 0

44-40 | 1444-531-001-00{ + - 7» = (10x12%20) 1 0

44-41 |1550-531-330-00| - #o2w 7 -4 (A) COMP 1 0

44-42 | 1550-531-340-00| - Ky v 7- & ®) COMP 1 0

44-43 |V580-140-502-00| « A7y vrEvy W) 5%x20 1 0

44-44 R PV ©1.0x70] 1 0 =

44-45 |1550-531-002-00| ~F v a AT Y7 (85) 1 0 % (ND, NX NUD,
44-46 | 1544-531-360-00] 74 ¥As (4) COMP 1 o . | - NUXE emse)
44'-477|'7957-501-004-00| < ~¥—E(10~n) 1 0 S
4448 |1550-531-350-10| 7, - ¥olusngw ASSY" 1 0 e Bk
44-49 |1544-531-370-00 - 74 vrs (B) COMP 1 0
44-50-]1305-241-001-00] -dfiap~T—ty 1 lo

44-51 |V411-160-008-00| - : pF4 Ms 1 0

44-52 |V500-162-002-00{ -7yEy 2x20 | 1 0
T 4-53 | 1444-531-005-20| sy -x 1 0 .

44-54 |V211-360-802-00| - aF&#rb (SP) M8x20| 4 lo

44-55 |1444-531-320-00| *7-4 COMP 1 0

44-56 | 1444-531-006-00| - (88) 1 0

44-57 | V411-160-008-00| = s wa##k Ms 1 {0

44-58 |V500-152-002-00| -7y ¢y ) 2%x20 | 1 0

44-59 11444-531-330-00| = » ¥ COMP 1 0

44-60 1.7995-401-001-10| -+wv+7L-} 1 0

44-61 |1305-241-001-00| «hfrzo~T-ry 2 0

44-62 [V411-160-008-00| - $ H=HH% M8 2 0

44-63 |V211-260-801-60| « awz &AL (8) M8X16| 2 0

44-64 |1550~531-003-10| = hYTY AL ey A1 n 1 0

44-65 | 1544-505-005-00 1 0

* 794 (11X50%2)

@8



ooB i BOR
1 | 180F 00F
Eﬁ%a :;B:::_F A 4 -é b 8 I X ==
= AP AR , AR E< -ﬁ 0 D|x|N| O D & =
1 X 06

45-0-1 11550-532-200-10| Af~f=-4Y SET(OPT) 1|0 0/0 0 0|0
45-0-1-1{1550-532-300-00 | A4 ~fe~%) SET(OPT) 1 0
45- 1 |1544-641-250-10 | . Ao -F=v¥ ASSY < 1{o] |o|o| [o]o]| [o]o
45- 2 |1550-501-005-00| « 7544 1 h 1lof |olo| loja| [o]o
45- 3 |V211-261-003-50 | .=xs®At (S) M1oxas| 2|o| |o|o| |olo| [ofo]
45- 4 |1550-501-004-00| «25cavoa 20| 1o]o| {o|o| |ofo
45- 5 |V200-260-603-50{ . g0} M6x35 | 2|0| [o]lo]| |o|o] {o]o
45- 6 |V300-260-006-00| .5, p M6 2|0l |oje| {o|o| |ofo
45- 7 |V401-160-006-00| .8. W M6 210 |olo| |oloy folo
45- 8 |3737-172-011-00| « 75 4 YurmeFiAs S 1{0{ loflo ol tolo
45-8-1[3737-172-011-00| « 73 5 o pommiA TSt 3 0
45~ g |1550-502-210-00| .7, -s754%45 1 COMP 110 0{0 010 0|0
45-10 |1550-502-220-00| «y7 r7—-shutvy ASSY 110 j06j0) [0j0] |0}0
45-11 [1550-502-221-00| .« .4 4hs5- 1/o| |ojol| |o|of jofo
45-12 |1550-502-222-00| « «v4fYa-a 1]0| {0]|o| |0j0] {0¢{0
45-13 |1550-502-223-00| « . yax, b 110l |o]ol |ofof jo}o0
45-14 |1550-502-224-00| « .44 a-F ASSY 10| lo|of |o]joj foj0
45-15 |1550-502-225-00| « ..ty 1ol |olo| [ofo] |o]o
45-16 |V111-163-000-80{ . . —Sa5~<ax M3 x8 4|0 |ofo]| |o]o| |o]o
45-17 |V401-160-003-00| . .8 . W M3 4|0 00 010 0|0
45-18 |V300-260-003-00 ey b M3 4{0| |olo]| lolo] jojo
45-19 |1550-502-226-00] . » ».,i- 1{o|l |o|o| {olo| lojo
45-20 |1550-502-227-00| '« 8435, F 3¢ 1lo| |ojoj [ofo] jolc

S



| W
-

4

i

fi¥

Y 200F
S L= ::iz = l" = P ﬂ_E_] 515 g ; {# =
SLAETS 2l ar L] =) . 0 DlxIN 0 DI " IR ==
& ¥ |X 06

45-21 |1550-502-228-00| « +a-2gvrr—} 1{o| |ofoy| |oto] jolo
45-22 11550-502-220-00| « ~&v#734 5 b (V7 ) i|0 0fo olo0] [o0f0
45-23 |1550-502-231-00| » » &v¥7— 4 1f{0 010 0(0| |o0j0
45-24 |V211-360-801-60 | - awzFEL L (SP) M8X16]| 2|0 olo 0|0 0l0
45-25 |V580-140-502-50 | - Ry vy W) 5x25 | 1lo| |ofo| |olo] {olo
45-26 |1425-621-004-00] » - ~-%A25 v~ 1foy {ofol| lofol lojo
45-27 |1550-504-200-10 ] - 75 -%54 45407 ASSY 1|0 010 0|0 ofo
45-28 |V720-111-901-00] 707V vy P10 3jo| folo] [olo} |olo
45-29 |1491-541-220-10 | - Y Vv/ 4 Kiny ASST_{’—"';; 1lo} (olo| |o]|o] oo
45-30 |V720-112-401-20 | - - 70"y vy T P1z | zlo| |o|o| [ofo| lo]o
45-31 [V201-260-809-50 | - ax&&Kit M8x95] 10 0|0 0lo} jolo
45-32 1V211-260-805-00 | - ax£##a}t (S) ME8x50]| 2|0 0|0 010f{ j0}0

5-33 |V201-260-806-00 | + aw&FL b M8x60| 210 |o|of |0jol {00
45-34 [V401-160-008-00| - 8. W M3 3lo| [ofo] {ojo| Jo]o
45-35 j1513-541-003-00{ - =%x2% (A) PT1.78.90°| 210 0o 010} |0]|0
45-36 |1513-541-300-00 | .- FU<Usk-x COMP 2lo| |olo] [o]o] |o]o-
45-37 |1550-514-220-10] - Y7 roy v¥ ASSY 1lo| Joo| [ofo| [o]o: Figdl-1-22818
45-38 |1513-541-005-00{ - 2%74 (Q) PT1/8.45° 2io| [olo| [o|o] Jofo
45-39 11488-541-006-00 | v (16X65) 1{0| |olo| |ojo| |ofo
45-40 |V411-160-016-00 | - s #e+wrx MI 6 1io] jolo| |ofo| |o]o
45-41 |V500-153-003-00] -7y v 330 | 10| (o]o]| |o]o| {o]o
45-42 1550-514—250“_—_.@_0"? . ,'_.",1“,,,",:;"‘1‘/.."7‘,.'..- ASSY. .. 10 ~4040-{---|0-04 -| 001 1-Figd1-23-40 58
45-43 |1550-514-280-00 | - 7k~ b (A) COMP 1{o| |ofo| [o|o| fo]o
45-44 |1550-514-001-00 | - 7L - b (B) 110} folo| lo|o] [o]o]
45-45 |V211-360-802-00| +» a#&&A K (SP) M8X20( 1jo| |of0]| [0]of lo]o :
45-"46 |V120-266-001-607 - #3Aar~axu () Mex16| 2]o0] |ofo| [o]o] lo|o
45-47 [V411-260-010-00 | - & #FFH5x M1 0 1le| |o]o] |ole]| [o]o
45-48 [V411-260-008-00 | - : #FE+rH M8 110] |o]o] |ofof| lofo
T 5-49 |V500-152-502-00| -7 YK 2.5%20] 2|0 0o 0]0| |o]o0
45-50 |1544-641-210-00 | - A y 5y 72 ASSY 1ol [ofo} |ofof lofof
45-51 [1544~641-211-00| « +#-=x ASSY "> 10| |o 0 0lo| |o]o
45-52 |1544-641-212-00 | « - hoi- 110 |ofo] Jofol fofo
45-53 11544-641-213-00| - - Fas, %y 1lo] fojo| jojo| [o 0
45-54 |1544-641-214-00| » «-~~%x ASSY 1lo| |ofo| {o{o| {o|o
45°55 |1544-641-215-00 | -+ sax 5 } (4) 110t {ofo] [o]of| |olo
45-56 [1544-641-216-00| -+ 7= x4 b (B) 1lo| lolo| fojo] [o]o
45-57 |1544-641-217-00| « «FY = A 5 1jof Toloj |ojo| jofo
45-58 |1544-641-218-00 | + oo Voas 5 1fo] Jofo| |o]of |ojo
45-59 11544-641-219-00| « -4y FEY o —u 1|0 folo] |ojof jolo
45-60 |1544-641-221-00| - - v=¢ 2|0] |ofo| |o]a| |ofo
45-61 |V300-260-006-00| « -5= M6 2lof {ofof lolo| [clo
45-62 |V401-160-006-00| - -8 . W M6 210} Jofo}| jojo| j{olo
45-63 |1544-641-222-00 | - -M3P &4+ ' 4lof |ofo| lo]o] Jofo
#5764 |15802641:210-00 | -=vreaadazx ASSY. | 1lo] fofo] Jolo] o]
45-65 |V120-366-001-60 | - 732r~3x(SP) wmexis| 4lo| |olo] [ololTols
45°66 |1550-641-220-00 | - »F Ty +yh=2Af 5 4SSY 1{o| Jolo] [olo| |o]o
45-67 11376-402-003-00 | - 94 v.Sv ¥ (1 40) zjof Jolo| jot0y |ofo
45-68 11480-541-004-00 CAE—= -2 2V ED) 1[0 010 010f (0]0

100



|\ B 2 K
|l 180F 200F
= =] - s o ‘ é g | X =z
REES| |HI—F R & 4 0 plxin| © D s =
X s 06
45-69 | 1550-501-006-00| «-tvHHh - ‘1]0] {olo 0}0 0|0
45-70 |1491-511-004-00| - pxF (M8BX14) 210 0|0 00 00
45-71 |1421-621-038-00| - 74 ¥-v¥(170) 1{0 0|0 00 0|0
45-72 |1550-532-001-10| * FYTYA VAL Vs 110 010 o|lo| Jo|o
45-73 [[T550-641-230-00)] -=vfm-nd,sx ASSY. 1ol {ofo| lolo] |o]o
4574 Wms—/oalz—_gg— - 75AF<ax(8P) M6X16| 4|0 0|0 00 0|0
45-75 |V300-260-006-00| 3+ b . Ms 80 00 010 o|of|
45-76 | 1545-606-250-00| « »—AH-- COMP | 1]o0 010 olo} [ofo
45-77 [V210-360-601-60 ] ~FLFCSPY """ ~"Mex16| 4alo| |o|o]| |o|o]| [o]o
45-78 |1488-541-015-00| « 7225 F(14X28%2) 110 ofo 00 0|0
45-79 [1544-616-014-00| » =49 b (~—%R) 10 0{0 ofo 0|0

101



A
o)

-
Fig

7
. - = B & B R
e e = L oD o it wtenn e e RPOE e a— — PO . —_1 8OF 2 20 OF
=] =] A. . pe- S -::; { é 0 X i& -

EH’J%”‘? 51_31:;: T~ K T 2 ) 2 0 Dix|Nt 0 Il I= s CE I

: R = X %
46- 1 |1550-601-200-10| ®v&» +-(a) 1|olo|ololo]|a]olojolofo]o
46~ 2 |1550-601-210-00 | &% » b (B) 1|ojojojolojolojofololo}o
46- 3 [1544-601-240-00 F#v& - trvy COMP 110/oflojofojo|ololo|olo]oO
TS~ 4 |V211-360-802-00] =¥EHEAF(SP) M8x20! 4|0jo0fojo|o|lojolo|0|0]0]0
~ o~ 5 |1544~601-001-00| H£vx, e vy (L) 1(ojolojolojo|ojojOfO|0}0]
46- 6 |1544-601-002-00| & s bevy (R 1{o0{otojo|ojo|olo|0f0j0]0.
46- 7 |1544-601-003-00| -~ 1|olo|clo|ojo|0l0|0[0]0]0)
46- 8 [1376-754-023-00| ®Ab(M10x32) 2|ololof{o|olofojo]|ofo]oiO
46- 9 |3560-201-018-00| #» V7 7#¥4% (B) 2{0|ofojo|ojo|0f0|0|0|00
46-10 |1444-116-006-00]| SA=v7 4lolojolo|ofojojolojo{o]0
46-11 |V304-260-010-00| a# &+ b M10 2va-| 2|olclolololofololojololo
46-12 [V211-360-802-00| a#&#Atr (SP) M8Ex 20 a|o|ojojololof{o|olo]ofo}0
46-13 [V301-260-008-00| F» b M8 2. 4|ofolojolo|o|ofo|ofolo]o0
46-14 |1544-601-250-00| =+ »-t COMP 1|{o]lojofofojolo]jofojolo]o
46-15 |1509-601-001-00| «v& =Rz, b ilololololololololo]|olo]o
46-16 [1444-601-003-00] 7»<%(10X20%x15) 1i0|/ojojolojofojolo]ofofo
46-17 |V302-260-006—00| #» b M6 3va 210{o0lojolojojojolo]olo]|o
46-18 |1444-601-025-00| 7>+ (10%X40%2) 1io0f{o]jolojojo|ololo|0|0|0

102



>~ b

/70

12 Fig.25-23

o= S X - X ]'@ F‘LT\ 3:@ Et = S .
s . 1 | 180F [ 2 [200F [ ,
e = S . {E] 8 = 0 . 5 oiE s F
REBER WHIa-— K ) £ L0 bplklnl o | IpLX ] ® =
#
]| . X -106
47- 1 |1550-602-200-00| 72w +s/ Y ASSY 1]olojojolojojo|olojolo]o
47~ 2 |1544-602-202-00| ~¥T ¥V 7v2sx (L) 1/0{0joj0j0j0|0|O|0O|0}j0]0O
47- 3 |1544-602-203-00| «#f Fy7L22 (R) 1lojofololo|olojolofjo|o]o
47~ 4 |1544-602-210-00| #YAA7 -~ COMP 1|{olofololo]|o]o]olofolo]o
47- 5 |V210-360-601-60] #Ar(SP) Méx16| 4/0{0{0|oflolo]jofo|olo]0}0]
47- 6 |V210-360—601-20 n»:;w’(sp) Méx12| 3|olojofo|o]ololo]o 0|ojo]
47- 7 | 1544-602-001-00| 3wt 1|0|ojofojojofojo]o|o|o]o] 74TV r-
47— 7al1544-602-001-10| <3 _ 1|olalojofo|ofojo]o]o]o|0 IAET -
47- 8 |V350-150-006-00| A& - F+» + (P 6 5|0/ololofolofo|o]olofolo]
47- 9 |1544-603-002-10| AF 7Y vI/HAL (L) 1{ojo|o|o]o] |ojofolofo|o
47-9-1|1545-603-002-10| AFT7 Y vs#ERL (L) 1 0
47~10 |1544-603-003-10| AF 7Y vs#EAL (R) 1]0|lojo|ofo] [o|o|ofo|O}O
47-10-1 1545-603-003-10| AT7 Vv 7/ #A+ (R) 1 0
47-11 |V120-166—001-20| F3AF~<axy (P) Méx12| 6{0|0j0|0j0j0|0|0f0O|0]|O]|O
47-12 |1544-603-004-00| 7>~ s T4 (8X23X3) 4lo0fololojo|ofclojo]o|O]|O
47-13 |1545-603-001-00| 7-Y (AFT7T Y V) 1loflojolofofofololo|OfO]|0
47-14 Foev 1.0x700 1{0|0|0|0|0j0|0|0j0fO[0j0|&

103



I

(Q
S
o

3 3
G

4 37 35| 33 35

d

|
{37
P4

2 |

.|1I‘
4

34

v

"%
F- I R S
o e gl 1 [ 180F 2 [200F | - e
RHES BRI K % = o | bolklul o1 o] & .-=.
¥ X X 06
48~ 1 [ 1550-604-200-00| 77 vh-i- (L) COMP 1/ojojojolo|o|ojoiojo]ofo
48- 2 |{1550-604-210-00| =73x5- COMP 1{0j0jojoj0jofoj0jofolo|0
48~ 3 [V211-360-801-60| =#2#EAL(SP) M8x16| 4|0l0|ojO|O|l0|0fOl0]|0Of0]0O
T'B- 4 | 1550-604-220-00| 7y vH-i- (R} COMP 110|0jo0|ofoiololololoio]o
48~ 5 | 1550~604-001-10| 44 FaF—- 1/0folo|o|o|ojololo|alo]o
48~ 6 [V211-360-801-60| =axs#EAh (SP) M8x16| 3|0flojo|0|ojojo|olojofol0
48- 7 |1550-604-230-00| 7v&H.i- (L) COMP 1|o|olojoj{ofojo|ofo|o|0}o
48- 8 .1550-604-240-00| 7v&H- -~ (R COMP 1/ojojojojololololofjofojo
48- 9 | 1544-604-400-00( ~v¥F A COMP 2lojoflojololojofojofolo]o
48-10 |1544-604-015-10| 7+ % FL— k 2loflojojolojojol0]|o]0]|0i0
48-11 |V411-260-008-00| :#HF¥H+x - M8 2{o{ofololo|oflojo|0j0l0]0
48-12 |V401-160-008-00| S.W M8 2l0jofloflofojo|0jolol0|ofo
48-13 | V300-260-008-00| +» b M8 2lofjolojojololofo|ojofo]o
48-14 | 1550-604-250-00] #--7-2 (L) COMP 1{olojoj0j0lo0jof0|O|0|0O]|O
48-15 | 1550-604-260-00| »-3-25 2 (R) COMP 1|{0jojojojo|olo|o|Ofo}0]0
48-16 |V211-360-801-60| =ax&#EAL (SP) M8X16 4l0lojo|ofojojoljolojofofo
48-17 |1421-602-005-10| 7,4 T4 (B) atojololojofojolofolofo]o
48-18 |V304-260-008-00| =#&+» b M8 2>=| 4|0|0|0j0{0]l0l0{0Oj0f0fO]|0O
48-19 | 1544-604-290-00| 7= vt»-{- COMP 1{0jo|o|olojololojofo|0i0
. 48-20 |V120-366-002-00| /5A+<a%x(SP) Mé6x20 2|10lo|o|ojoj0j0j0]j0o|0]|0{0
48-21 |1544-607-200-10| Zmv}+H-i- COMP 1]0]/0l0(0j0 gjojojololo| 1 ~7<8§
48-21a1544-607-200-30| 7= vh#»-\- COMP 1lololo|oo| |o]ojojolofo| s~
48-21-1| 1550-607-300-00| 7= vF5- - COMP 1 0
48-22 |V211-260-801-60| awzait (§) M8x16 |10|0|0[0|0|0]l0|0}0|0{0{0]0
48-23 11550-607-001-00| +4 ¥FAh.i- (L) 110|0|o|0lo|ofofO|o(0}0]|0

104



L~
i

E‘é\

3‘2 3
35 34 37 36 33 35
37 |
% | ‘
\(‘
/.

-~

11384,

" Fig.23-1
10

— - - # L % R
1 [180F | 3 [ 200F | .
shEs| a3 r 2 K 5 x|
= n,Dn':_l\ AR 2 " 0 plxin| 0 D &
- e : X1 1 I X 1 joel T
48-24 | 1550-607-002-00| +4 ¥5.3- (R 1{olofojolojolofofojo|o]o
48-24-1|1550-607-004-10| w4 ¥F»-- ([R) 1
48-25 |1550-607-003-00| 7=v& by a 2|ololojolo] [ofo|ojojo]o
48-26 |1550-607-210-00| Y+¥*.i- (L) COMP 1{olojojojolololo|ololo]o
48-27 |1550-607-220-10| V+#.i- (R) COMP 1{olojojojo| [ofojo]o]o]o
48-28 |V211-360-801-60| =245 =4+ (SP) M8 X1 6 gjolo|ojojojofofo]ofo]o]o
48-29 | V201-460-801-60| zH& =it M8gx16 9T z|ofo(o|ojol|o|o|o|ofo|a]fo
48-30 |V401-160-008-00| S.W M8 2lolofojolo|o|ofolofo]ofo
48-31 |V411-260-008-00| $#H=¥ =% M8 2lolofaolofofojolofofo]ofo|
48-32 | 1550-607-230-00| 4 F»-{- SET 1{olojojo]jo|olo|o|ofojo]a|*
48-33 | 1550-607-240-00| -#-‘- (L) COMP 170/ofofo|ojo|ojojofojofo|*x
48-34 |1550-607-250-00| -#-~ (R} COMP 1j0(0(0|0jofojofofofo|0O|0]|*
48-35 |V211-360-802-50| -3 x&#&Ar(SP) M8X25 glofojololololo|o]o]o|o|o]|*x
48-36 |1550-607-260-00| +AF- COMP 2{o0jololo|o|ojo|o|ofo|ojo|*x
48-37 |V211-261-003-00| - =HF&&L b (S) M10x30|.2|0jo|o|lojojo|ololofojolo|*x

105



) B OE 8 R® ‘ e
= i 1 [ 1BOF | 2 [200F
- = . — . 4@ 8 O r - = L =
REES MR-k 2 2 0 | Inlvll o | 1ol X1 8 =
, o 4 D% [N D
X X 06
49- 1 |1550-606-200-20| 7=v% COMP 1|{0jojofo|o} Jojofolojo|o
49- 2 | 1550-606-001-20| - (L) 1/0j0|0f0]0O| (O0|Of0|O|O]O
49~ 3 |1550-606-002-20| - (R) 1|0 olo 0 Q10
3- 4 | 1550-606-005-10| = - (R) (A) 1{o] (o]0 0f lolo
49- 5 |1544-606-016-10| - (R) (B) 1 0 0 0 010
49- ¢ | 1544-606-006-00| F¥»F(23) 4 0 10 0 0|0
49- 7 |V211-260-801-60| am&&EL} (8) M8x16( 2|0j0jo|ofo| Jo|olofofo]o
49- 8 |1550-606-240-10| #F=vuHq ¥ (L} CoMP 1(ofofojo|o| |o|o|o|ojo |0 | LEte=2mEE
D) 8 L8080 s _on | = — - oorg 1 (1) C-OM-R dtokolo oo g=lockelalela Lo
49- 9 |1550-606-250-10| F=vuxfF [R) COMP 1f{ojofofolo| Jojololo]o|o
49-10 [1544-606-004-10"| >7 h#if ¥ (x4 v) 1lorojojof0f {0]0(0[0[00 | prs—smgh
LTG5 F =3 et e e Befepepgebbelgalompe
48-11 [1550-606-004-00| ¥7+Hq ¥ (+7) 11010101010} 10100000 | stemzescug
m e ALl la 5'1\5:::\3#..'11\‘ 3 —:LJ."/lL'i_i,-,—’\ 1 alnlnalnln NDilnlnlnln ln z|lﬁ\'
49-12 |1544-606-001-00 | F=vo7r—} f3lololojo|o] [0100{0]0 (0| preorgs
e SR et F AN Y SIS N LS oodotato o e o e e Ao ]
49-13 |V300-260-006-00]| # s F Mé 8lolololo]|o 010001010 [~ o0 o
49-14 [V401-160-006-00| S. W M6 glojojolojo; |ojoloiolo|o }A’q~2§§ﬂ’
49-15 |3614-321-001-00] SV =-FHh.-n.,s=TA 6lolofololo 0i0f0]0l0 10
49-16 |1544-606-007-00| 707 7-v l1|ojojo|ofo| {o]|o]ojolo|o
i — LR - . V. X S V) ) L Oacgonaen) olpgleliolele clalelain Py Tr:-n:
48-17a|1544-606-018-00| #o 45 h(8X13%2) 2|ojo|ojoio ojofo|0joj0 | ==&~
49-18 [V200-260-602-00]| #a b Mex20| 2/0lolo|ojo| Jo|ofolole |0
49-19 [V300-260-006-00| ++ h M6 4|o0|ojofojo| [ojo]o]oloio
o ,fjg'o.-—geé-wc"@o 6.:_ SV L L#7) ) 0j0j0|0|0 0|0 f0(0[0|0

106



RSO LA

R N - T - S N R T T

REES a3 —F =
# X X |06
9-20 |3728-364-015-00 | AAf »F#» 2 AFHF alolo]olofe| |o]o]ojo]o]o]
9-21 |1544-606-005-10| Ab -2 1|0jofo(ot}0 o(o(of{ojo|o’
9-22 |V211-360-801-60 | a2 &Lt (SP) M8x16| 1|o|o|ojojo| folo]o|ofo]o
9-23 [1544-606-260-00 | ~vVF*¥,5+ COMP 2lololo|olo| jojofoj0jo|0] A1~@
9-232a|1544-606-260-10 | ~v¥F*¥,5¥ COMP 2toloj{ojojo| |olojolofolo| ®~
9-24 |1544-606-008-00 | ~v¥FZ.3- 2|ololojolol |ojojololo]o
9-25 {V300-260-008-00 ] + v b M8 s4|0jolololo| tojojo|o|o]o
9-26-|V401-160-008-00| S.W M8 slololololo] [ofolo]|o]olo
9-27 |3560-201-015-00 | & 5 Y2 D 7FFx 4lololofofo| |ojolofofofo
9-28 |1544-606-270-00| V¥ 7v24 ASSY 210|o]olojo| lojojo]ofoiD
9-29 |V300-260-006-00 | +» b Ms 2|o0lolojofo| |ojolo}ofo]o
9-30 |V401-160-006-00 | S. W M6 2{0|o|olodo] [o|ojo|olojo]
9-31 |V411-260-006-00 | § FEFHx M6 2|olojololo| |o]lolololoio
9-32 |1544-606-280-10 | At »-* (A) COMP 1|ojolojolo| |o]olololo]o
9-33 |2701-101-052-00 | # -V bU Yy HERIOFHR 1]0{o|ojolo| [o]ofojofo]o
9-34 |V120-266-001-60 | ¥5AxF==xy (8) Méx16] 1(o0lo|o|olo| jolofo{ofo]o
§-35 [1544-606-012-00 | v-A¥r-A 1|0 olo| | |o 010 TAT VT h—
g -35a2(1544-606-012-10 | v~Ak -RA 110 010 0 010 aRET -
9-36 |1544-606-014-00 | =+»7(30) 210| |0jo0 o| |0}0
9-37 |1548-606-003-00 | A=-+ 2lolofololo| |ololelojatlo
9 3.8 _41544=606=019-00. | -FFxHEZ AR - --8{040-10 10.[0.{. -4+6-1010_ 10 | 0~}8-—AB5 ~
49-39 |1488-541-015-00] =22 F(14X28%2) 1 0 0 olo
[ 180 | 180F | 200 | 200F
A{Nc358 | Na3496 |Ne360 {No2310
®Na359 | Ne3497 [Ne361 |Na2311 |

107



REES

BRa= K

5

0

50- 1
50- 2
50~ 3
T - 4
20- 5
50- 6
50- 7
50~ 8
50- 8
50-10
50-11
50-12
50-13
50-14
50-15
50-16
50-17
50-18
50-19
50-20
50-21
50-22
50-23
50-24
50-25

1550-606-300-00
1544-606-006-00
V211-260-801-60
1544-606-240-20
1550-606-310-00
1544-606-004-20
1544-606-001-10
1544-606-019-00
3614-321-001-00
1544-606-007-00
1544-606-018-00
V200-260-602-00
V300-260-006-00
3728-364-015-00
1545-606-230-00
1544-606-005-10
V211-360-801-60
1560-606-001-30
3560-201-015-00
V211-260-801-60
1544-606-270-00
V300-260-006-00
V401-160-006-00
V411-260-006-00
1544-606-280-10

=& CQOMP
4"’\’77’(23)
=HEFELE (S)

F=voF4 ¥ (L) COMP
F=vOHA Y (R) COMP

Y7 hIFAVN(2AY)
Fz/OoTL- b
TSRHSaZY

SO -FHhR-py pT 4

7e7 7=
VmAy b (BX13X2)
A4 b

F9 b

A v F oy FAFHF
Abo-t .COMP

A b w2
IHEFENMF(SP)
7YV F(ToAL)
YoV IR
SHFEXRAP (S)
VZ7vr28% ASSY
F v b

S. W

HFTHR

Al w2 () COMP

M8x16

Méx25

M6X20
Meé

M8x1 g

M8 X1 6

Me
M6
Mé6

Ll S e A A T e i T T SO v T - SO SR, N N i U U WP O N

© O 0O 0 0 0 3 OO0 0 000000 O 00O OoOocCo o o

108



I

b
[T ¢
 |«w
e |2
ol :
(en] [
o~
ka3
NoO O
) o 0O o o o
fr,
o <
ol A
~— )
>
— 00O
~ o~ N o~ N
B
=]
—
X
w0
o0 =
&~
R
S
7)
m v ~
K o
N N o
H K O
N e N
oo =~
G “ h N B
' = K o 4
o o g
LA S LI
o o o o o
| TR
" 1
i . n o~ o Q
ol OOO%V_O
1 i LI T |
W_l_w.. — W W ¥ W
| [ O W o n o
DD -~ N © v W
o | R [ T N |
. LT Y o B o]
.m\.nr o N T ™
~ —~ 0 9 w0
2V111
:w.
m@ W~ 0w o O
) NN NN m
H [ T B
iy o oo o o
W ov N N N

109



*

1

16

Tl

Ce 4

T 51

22- ;

12

P—11. -

©&—10._ . B L B =
e | F R e e e - e e e 4“‘ ‘Y | 180F | 2| 200F | ~
RBES| MR- F oy g - 10| ikl 6 | [plX]em o
S51- 1 [1427-612-240-00) ~-+ ASSY ‘110lojolo]o| [olojofolo|o| 747 v
51- 1a|1427-612-240-10| ¥-+ ASSY 1jojojolofo| [ojojojojojo| aIRETA-
51- 2 |1427-612-241-00| - -+ (A) 1folojolo|of |olo|ololo]o]|”
- 3 |1422-668-202-00| - -} (B) 1{olo|ofo{o| |olo]|o|ojo]o

- 4 |V200-260-603-00| - &b Méx30| 2|0|ojojojo| |olojolo]ofo
51~ 5 |V200-260-602-00| - #nt Méx20( z{ofofofo|o| [ofofolo(O]|o
51- 6 |V401-160-006-00| -S.W Ms afo|o|o|ofof |O|ojo|ofoloO
51- 7 |V413-160-006-00 | -+ 3<iAyFsx 4lolofofolo| |ofo|ofo]ofo
51- 8 |1544-611-210-00| »-+72+2xx (1) ASSY 1fofo|olofo| [ofojolofofo
51- 9 [1544-611-220-00| ¥-+r7v 25 (R) ASSY 1(0(0j0j0]0 olofojo]olo
51-10 |V300-200-008-00| 4 b M8 slo|ojojojo| |ojojofofo]o
51-11 |V401-160-008-00| S.W M8 alolojololo] [olo|olo]ofo
~12 |[V411-260-008-00 | 3 ¥+ M8 4lofojojolo| [ojojofolojo

51-13 |1544-611-200-00| - +554 .+ COMP 1lofo|ojolo]| |ofolololojo
-51-14 |V300-260-008-00]| +5 M8 4jo|o|olo]o} {ojofolo]o|o
51-15 |V401-160-008-00| §.W Mg 4j0|ofofojo| {ojolojoic]|o
51-16 |1488-611-001-00| Z»v=v (A) 2lojofojolo] |ojojolojo]|o
51-17 |1488-611-003-00| v-h YUY s e 1{ojolofolo] [o|olofo]|o]|o
51-18 [V500-162-502~00| wyey 1folofojofo| |o|ololo]olo
51-19 |1488-611-002-00| 7> w54 (B) 2loloofolo| |ojolofo]o]o
51-20 |V300-260-008-00| 5 t M8 2lojolololo| |o]ojofo]ofo
51-21 |V411-260-008-00 | I#++#% M8 2lojofojolo| |ofo|olo]o}o
51-22 [1544-611-001-00| #,v s voa 4lolojololo| |olofofjojo]o
51-23 |3560-201~015-00| #» V2o sF5x 4lojofolojo} {ojolofojolo

110



7
. / ._/
\ Fis.35-8 @ %
— s | N T
NEEAN ) \ VAR b i -
- f@ ‘m‘ Z_;;J_ .,.K..«_..“ BT oo e
o epay S , 1 | 180F | 9 [ 200F ,
= n o s o “ i @ 8 . 0. '( 3 :; = e
REES| ®H& 32— K AR Z 0 ; 0 4 - =
e 4 - . % D|X|N D
ot : | - |- X| - 06 - -
52- 1 |1550-611-200-00| ¥~h COM 1 0
52- 2 |3614-240-001-00| ¥-hZuav=a 2 0
52- 3 |4101-102-038-00 | x4 2V =23+5% 2 0
52- 4 |1550-611-210-00] »-tev COMP 1 0
52- 5 |1550-611-001-00 7 H-~- = . ) 1 0] .
52- 6 |V210-360-601-60 | KA (SP) . Méx16| 2 0].
52- 7 |V211-360-802-00 | a##&Ar(SP) M8x20]| 2 1o i
52- 8 |1550-611-220-00 | v- X5 - COMP 1 0
52- 9 |[1550~611-230-00| ¥—+754% 5+ COMP 11 0
52-10 [1488-611-001-00| 755 vu (A) 2 0
52-11 |1488-611-003-00 | ¥~ prYYsrey 1 0.
52-12 |V500-162-502-00| wyvev 2.5%20| 1 0

111



130

------- i Pl L pis b=y
B = B ] 180F | 2 | 200F
REES BRI— % 5| o | loklnl 0| lolX ] ® ===

T X X 06
53- 1 |1550-612-200-00| 7a-=1% s COMP 1fo(0fojojoj0iofofo|0|0|0
53~ 2 |V211-260-801-60| =HzxAb (S) Msx16| 4|0|0j0|0jo|0|0j0|O|O|O]|O
53- 3 |1544-612-001-00| #A}(30) 4/010|0f0|0|0|0jOj0|00(O
T3- 4 |1376-606-005-00| 7 svv( 9X32%2) 4l0f{o{o|o|o|o|o0jo|o|0|04{0O
23- 5 [V500-162-002-00| 7V v 2%x20 | a|olofofofalo|o|lo|o|ofo]o
'53- 6 [1407-111-001-00| ##%(8x12x2) 1/o|lo|ololo|o|ojolofo]oi0
53- 7 |[V200-260-801-20| #Ab M8x12| 1|0|0{0|olofo|0lofo|alo]0
53- 8 |1518-621-310-00| 7ao=AAf,5 ASSY 1/0|ojojolofojojolojolo|0
53- 9 |V200-260-501-00| #. b M5x0.8x10| 5/0/0|0|0{0]0]|0|0{0j0]0O]|0O
53-10 |1442-111-210-00| *#¥.¥ ASSY 1/oflofofo|olojojololoto|o
53-11 |1317-606-205-00| =v73 ilojojo|olojolojolojofo]0
53-12 [1550-105-200-20| 7a=ih-=x COMP 1/0]/olofololo|ojofofolo]oO
53-13 |1550-105-001-10| 7.=ak-2 (B) 1/o|lojo|oj0j0|0j0j0i0]|0|0
53-14 |3768-164-006-00| A~-A-vr ASSY (11) 2lolololo|ofo|ofo|ololo]O
53-15 |3741-141-005-00{ +-A- ¥ ASSY(12) 2{0t0]jofolojo|ojoiolo|0O|0
53-16 |3737-172-011-00{ 735 Yy~ —FARI S5 /A 1{ojojo|ojo|o}olojoj0|0]|0
S53-17 {1444-102-200-00| 74244352 ASSY ijofojolo|0j0}jo0|0j{0f0]0|0O
53-18 |V720-102-401-00| -“Q%”Vvv# P10A i1{o|ojo|ojo|ojo0|0j0l0|0|O
53-19 |1415-102-009-00| «h»7 1/0]/ojo|o]o|o|0jo|0]0]|0]0
52-20 |1444-102-204-00] «pvrr»t 1/o0f{ofojojolo|0l0o|0]0}0]|0
53-21 |V720-101-004-40| - ”70”Y vy P44 i1{0fojo|ojo|o|ojol0i0i0]|0
53-22 ]1415-102-011-00| «=vA vt 1lolololo|ojolojo|0lo|00
53-23 |1415-102-012-00| - =7 -%=%75/ 2|0jolcjolo|o|olojolo|o]|O
53-24 [1415-102-013-00| «.3,%v 2{0(ofolof0f0|0Oj0j0{0l0]O
53-25 |V201-260-807-00| =#sHEL b M8x70| 1]0|0|0]0|0O[0]0[0]0(0]|0]O

112



11
m

(8]
W

§F—9

72— IS I EE

REES .E%E:Dj K AR
L £ X X 1067 .
53-26 |V401-160-008-001 ‘8. W M8 1|0lofofofojo|ojolojofofo]
53-27 |1550-105-210-00| 7a-=AT7 A sx5- COMP 110lolojolojofololo]ofo]o
53-28 |1550-606-260-00| #v» 554 »+ COMP 1|oflojojo|ojojojololo]olo
53-29 [V211-360-801-60| asz#4 bk (SP) M8x16 | 3|ojofo|ofolo{ojo]lololo]o
'53-30 |V211-361-002-00| 3#£FA R (SP) M10x20| 2{olojofolo{o]olo]olololo
53-31 |1550-606-003-00| 7»>av=a 1jopolofololofolojo|o]o|o]
53-32 |1432-621-012-00| ®v o vaa s8lo|ofolofo]o]ololojofofo

113



CREES| BRa- K , X

. X X 06
54-"1 |1544-616-200-00 | 72727 »7 (L) COMP 1{ojojolofo] |ofolojolo]o]| s1~@
54- 12a|1544-616-200-10| >=7RxF -7 (L) COMP 1/0{0{0j0]o|o|o|oc|ol|ololo| ®~.
54- 2 11544-616-210-10| v=72x5+7 (R COMP 1|0j0j0{0}j0{ [ofo]ojofo|o] m1~C
T 4- 2a|1544-616-210-20| 28T AT, (R} comPp 1/ofo|o|ojofofojo|0i0f0{0| @~
54- 3 |1544-616-001-00| 7e7+xv% 11o(ofojofojo|ojofo]olo]o
S4- 4 |V211-360-801-60 | a# &AL}t (SP) Ms8x16)10|0o|lo|0|lofo|ojolofojo|olo.
54- 5 |1544-616-002-30| 7m7=y } 1{o{ofotofojololofoioloio
54- 6 |1550-616-200-00| ¥7A¥»7 COMP i1|o]ofolofojolo]ofo|olo]|o
54— 7 |V304-260-008-00| =#&vy b M8 2vd 2]o|lo|oflo]olojo|ojolo]o(o
54- 8 (V401-160-008-06 | S.W M8 2|o0jojojo|o|ojo]olololo]o
54- 9 |1550-616-210-10| 7= vbwt~-A COMP i(ojojojofo] |olofolololo
54-9-1|1550-616-300-00 | 7o vbwd-A COMP 1 0
54-10 |1544-616-015-00]| 7" VI DF-nAF - 2|ojolojo|ojol0fo|olo]olo
54-11 |V211-360-802-00 | 2#%#A}+(SP) M8x20| 4{0|0|o|lolo|o]o({oio{ojo]0
54-12 |1544-616-013-00| Zmus b (2=-2k-F71) 1|0(o|lojojofofo|ofofOfo]oO
54-13 11544-616-014-00| 2" x5 b (~-%R) 1]0J0jolofo|0i0{0|0l0}0]|0O
54-14 |1544-616-003-10 | «v&H. - 1]ololojofojojololololo]o
54-15 |1432-654-007-00 | ZFusxv+7(80) 1{o{oflojofojolo|ofolofo]o
54-16 11444-621-017-00 | 752x7~3%J(M6X12) ajojojolololo]ofolo|ololo
54-17 |1444-621~018-00 | F+i=A¥%5 (M6 ) 3jo0lofojofojofojolofolo]o
54-18 |1544-616-004-00 | w4 YF(RATF»7) 2{0lolof0folo|o]ofofo]o]oO
54-18 |1544-616-005-00 | ¥-ATa(AF>7) 2|0f{o|ojo|ofo|ojoio{o]o]o
54-20 11427-621-012-00 | #54» p(10xX14) _1|o|ojofofojoj0fofofo]0]|0
54-21 |1550-616-001-00| 7-F ljojojofo.fo|ojofo|0o]ofjo]0O

' o - |ofololojolololololololo

114



i
o

#
I 1 | 180F ] , [200F
sEs HEo— K 2 £ B s : x| @
75 = ncT =] = ﬁ 0 DIx N 0 D G|
DAl ' X 06
54-22 | 1550-616-002-00] v—n=a 1{ofojo]oj{ololojo|olo]|o]o
54-23 |1544-616-008-00| 7-Vvo-n (L) 1|10|0lo|cjololojofofo]|oio
54-24 11544-616-009-00| 7-¥F- (R) 1/0f{0|ofo|ofolofoloiofolo
§4-25 | 1544-616-011-00| 2y av=n 14/ 0lolo|olofo]olo]o]o]o]o
54-26 |V111-166-002-00] 7Sxsr~<axs Msx20| 6|0(ojlo|lo]o| (olololofolo
S4-27 | 3728-364-015-00| AA sxH, srFrE g8lojoflojolalolojolojolo]o
54-28 | V300-260-006-00| ++ M6 2lo0{olofof{olololojololo]o
54-29 | V120-366-001-60| #5x+~<ax(SP) M6x16| 4[0{c|0|lojol |ofololololo
54-30 | 1544-616-260-00| #v&»s b 742 7L~ p COMP 1|{ofo|o|ofo]olololofolo]o]
54-31 1544-616-012-00] £V%ko + 7y 227Y v 5 11010{0(/0]0j0j0|0f0|0l0]0O
54-32 |V211-360-601-60| a#4#£r} (SP) Méx16| 210l0/ofofofo|ofo]olo|ofo
54-33 | V111-166-001-60| 75 Ar~axs Méx16| 1|0flojoflojolojololalololo
54-34 | V411-260-006-00] :#*+xx Ms6 1/ojoflojo|o]jololofolololo
54-35 | V401-160-006-00] S.W M6 1]ojojojololofofolo]ofolo
54-36 |V300-260-006-00| +» k M6 1]ofof{ofojolo|olojofo]o]0
54-37 |1425-621-004-00| ~-%%xs5vF 1]10({0f0f0j0|0f0]0}l0(0]0]0
54-38 |1527-604-002-00| bPYyasy, (8) 2 0
54-39 |V200-260-602-50| &t Mex25]| 2 0
54-40 |V200-260-602-00| =1 p Mex20| 4 0
54-41 |V210-360-601-60| #A+ (SP) Mé6x16]| 4 0
180 | 180F | 200 | 200F
A |Ne365 |Ne3609 | NaS83 |Nan4? 8
®|No366 |Ne3610 N384 [Nad87 9.
©[Ne366 | No3611 | Ma383 | Ne2484
D/ Ne367 [Ne3612 |} 384 Na2485

115




|
(133}
(& 1]
(81
a0
Hif
A
34
Pl

'«-!
R

ooy i

- = = S
Y s T T - @l ! 1B0F [ 9 [200F
REES ®Eo=F | & % AERANE: X-| oo
! 5 D[X|N D
X X 06
55- 1 [1544-619-220-00| -3»7:5-12% SET 1/ofjojofojojolofo|olololo
55- 2 |V300-260-008-00| #4 b Ms 1{0jojojolojolo]|ojolol0lO
55- 3 |V401-160-008-00| § . W Ms 270(o0j0j0fof (0]0j0|0f{0]O
TT - 4 [ V411-260-008-00 I mFHFuyE: - M8 2{0jo|o0|0f0 ojofofofoloN sl ~@B
- -7 B [V201-260-802-00 | =45 #ab Mgx20| 2i0/0jojolof [o|o|ofofofo
55- 6 |1550-621-200-00 2 -%.%%,. ASSY 170(0|oj0fo| Jo|ofoj0]|0]0O.
55-6-1|1550-621-300-00| x—-4.4%,. ASSY 1 0 1
55- 7 | 1444-621-017-00 | #5257 <=2x(M6x12) 4/0|olojojofofo]ofololo]o
??— 8 | 1444-621-018-00 7“51»-&'75"* (M6 ) 4/0(0|0701010/0{0|0]0]0O|0 )
55- 9, [1550-621-063 -9 A=sy-FASET 1191010101010101010J0)|0) 0] 20 5 505 2t sie?
5-10 |3728-173-003-00 | #% /5 vy, s ASSY 1101010]0]/0]0]0[0]0[0]0]07i,sowesce-387 Fw 3672~
5-11 |3728-173-005-00 | -%- : 1/0]0/0]0[0{0]0[0[0[0]0}0] teome 75 wer  356c
5-12 |1491-622-200-00| ¥4 v»5+7 ASSY z{olojojofojojofolojolo]fo Fortawad-zjls
55-13 | 1427-621-262-00] - ia7 12V20W 3|o0fo|ofolofofolololofo]o
55~14 11427-621-263-00| - Lvx 4(0j0jo0|0jolo|o|ofololo]o
55-15 |1427-621-264=00] - 2o vsrasy. 4%25 8(0j0j0/0]0{0f0{0{0]0]0O]|0
55-16 |1427-621-267-00 «ts5v zjofojojofojofojolojafo}o
55-17 |V401-160-010-00| S . W M10 2(0|o|ojojofofo]olo|o|o]O
55-18 |V330-260-010-00] #» F (hyx) Mi0x125| 2]0fofolclofololojololo]o
55-19 11488-621-270-10] ~» F5v~ ASSY 2l0j{ojojofojojolojololofo
55-20 |1488-621-272-00| ».1> 12Vr/45) 210(c|ojolofolojolojo(o|0
55-21 |V211-360-801-60 IFEELL(SP) M8x16 | 4fo0jo|0]o|ofolo|olo]|o|oloO
55-22 |V211-360-802-00 IFFELL(SP) M8x20 | 2 0 B~
55-23 | 1545-621~001-00 | ~<5ah.i- 1 0
55724 |W286-204-007-40| 751 »Fy~, » 4X 74 2 0
55-25 | 1480-604~204-00] 742w (4x14x%1) 2 0
180 | 180F | 200 | 200F

A Na221{No1921 |Na208 [Nael1252

®|Na222 [ Ne1822 Ne210 |Nol253 116




=

56

R N U T - v
B j @l 180F | 9 [200F
REES ®BRI-F | & % . o | Iolglyl 0 | [ol X |

X X 106 -
56 - 1 {1427-621-008-00 | - v 11o0j0fo|ololofojofofjolo]o
56 - 2 |V200-260-601-20| #at Méx12| 2|0|ojo|o|ojo|ojofo]0{0]|0
56 - 3 |V401-160-006-00| S.W M6 2|0|ololo|ojo|ofolofo|o]o0
56- 4 |1425-621-004-00| -~~~ %Rs5 v 1{ojofofolofolofo|olojofo
- 5 |V300-260-006-00| 7+ Mé 2{0fo0(0 ofo olofolofofo]o
56 - 6 |1488-621-220~-10| A&-4Af 55 SET 1{ojojololofo]o]oO 0{0j0|0
56 - 7 |1444-621-320-00) .*- ASSY 1{ololo]o|olo|o|o|o|ojolo
56- 8 |1544-623-009-00 | AL 5 FH.3- 1{ofolololojolofoi0joto]0
56- 9 {1544-623-006-10| 74 v~-%xx(s4) 1/0(ofo|ojojojojojojofo]oO
56-10 [1544-6223-001-00{ = v¥Aqf -5 ASSY 1{0jojojolojojo|0l0]olo]|0
56-11 |3615-264-002-10| F¥—-UHhf=a=y b 1j0lojojofo| {o|oOflo]ofo]0
56-12 1V210-360-602-00} #4+(SP) M6 x20| 1{0[{0l0jof0olojo|0f0]o|0]|0
56-14 |1426-621-036-00]| 752 v¥=azy b<—-2A 1|ojofofo|ojojofolo|ofo]o]
56-15 |V200-260-602-00] #V b Mé6x20| 1|0ioj0|ofo} (0]oj0|0|0]|o0

56-16 |V411-260-006-00| IHF+#HH M6 1|0j0|0fo]|o} [0{0]|0]0j0{0|} 451 ~>RER
56-17 |V401-160-006-00| S . W M6 1/0{0i0(0]|0 0{0j0{0]|0j0
56-18 |V300-260-006-00]| #>» b Mse 1|olofojo|0| |olo|ojo|o]|oO
56-10 |1444-621-300-00| F=»HPAfsF ASSY i1|lotolojojofojolo|ofojo0f0
56-20 |1421-623-220-10| «-7F1 Af»% ASSY 1{olo|ojojolofo|0jo(OfO]|0
56-21 |1491-623-222-00| -M207F» b+ 1|lo|olojo|of{oj0|0O|0|0j0O]0

56-22 |[1550-623-001-00| 74 ¥~-FA(M1 ) 1|o0fo|0f0(0 o|0tojo|ofo A1 ~FE
56-23 [1550-623-002-00| 94 ¥ ~-FA(M2) 1/o0/0l0(0]0 olojolojolo
56-24 |1508-623-009-00| 74 ¥~-%A(46) 1{0jofotojolojo|Ofo|o0]0]|0O
56-25 |1545-623-002-10 | 74 v~-%A (/6 ) 1lojolofojojolol0o|aj0|o]|0

117




i

5 UV oV
=11 TELF 2 | 200F
zuzsl maa-§ S z = e 108 x| ®m o=

DIX [N D

= X X [06
56-26 |1544-623-008-10 | 74 ¥~-%A(48) 110{0|l0j0lo|o|ofjololofofo
56-27 |1545-623-003-00 | 74 ¥-~-52 {49 ) 1|olojo|ololo|o]ofololo]o
56-28 |1376-402-003-00 | 74 ¥<v¥F(140) 10r0jofofojolofolojojofolo
56-29 |V210-360-602-00| #A+(SP) Méx20| 1/0|ofolololololololololo
56-30 |1426-621-035-00| 75, % ASSY ' 1{olojofolojo]ojolololo]o
56-31 |V111-164-000-60 | + 7327+ ~=x M4axe | z|0jo{olofofo|ofololofolo
56-32 |1550-623-001-10 | "4 ¥~-%R(41) ASSY 1{0jojo]o|olo|alo]lojolo]o
56-33 |3625-261-204-00| *ea-U7AY vs 1{0|ofojo|o|ojo|o|lojolo]o
56-234 |1544-616-014-00| - A5 (-~ —HRA) 1]o|o{olojolo|ofo|alofofo
56-35 |1423-621-201-00| +ka-X»(15AX30) 154 2|oflojofojo|ololofolo|o]|o
56-36 |1432-621-272-00 | »t--X»(10AX30) 104 1{oj0fojojoioiolo|ofofojol|. .
56-37 |1411-621-005-00 | + ta-X ' 54 1/0jojolafo|o|ofolofolofofl”
T 6-38 1550-623-002-10 | 74 ¥ ~-xA (M2 )ASSY 1joj0jojojojo|ojclofo|O]|O
56-39 |1432-621-272-00( *ka-ZX»v(10AX30) 10A 1{0jofololojo|olojololo]o
56-40 [3737-172-011-00] 755 v¥—-RRIT V2 110|0|ojo|o|ojof{ojolofo]o
56-41 |V211-260-801-20 | axs#rt (S) M8x12| 1|0|0f0|0joiolaolololo]o]0

118



"
f

T4 vN—RAEFEA

3

TAPN=RA(NaBIN
_ - JIVERAYFEAN p
Fr—IUER
IZw b Fryh—-21yFA

BEEH—N

22 AEEIN AR A
2/ 2, S
A —22 [
= (No.4)YA SA N2 R
7 \LL (No.9)

i
|
Ay FSA4 kA / %
. i

H¥—=IZw kA

o TER—EN XA WFA

TATN=R2R
(No.1) (BIN

DAP—SUTEN

FO—U5F N O_“\]_‘HD HO-TSHA

(<0 1

2%
FAFN=ZZ(No2N i>% ﬁﬂ<“§ ISyyriTyrAa DA PA— %A (No D) (N
2
o [Bo—t , s Pl BRIP NN —_—T— ==
o |
27 %

B —
= e

MowA

0.4)\
L. D4 N—2 2 (No.9)N
32
>—" — 8 Sqrh—
DA UN=SLTEN

S o=y
ATYFN

&’é‘.}’)’(\!‘a‘}?\" TAPNA—R2ANG.ZIN

VLA FACyFA

119




il
i8]
(8]
~.]
il

Ik

i
Al

2
4 ﬂ !
3 2 )b
14
3
12
17
o118
./‘7\ A :
;j\ e
22 | B
S
S @ 1 180F [ 2 [ 20CF
RLES BEZI - F 5 5 Lo bk x| ® =
N A 1 X X 06
57— 1 |1544-641-210~-00| Af »5#Fo2A ASSY 1 0 0|0 0 0|0
57- 2 [1544-641-211-00| =»¥-A ASSY 1 0 0]0 0 00
57— 3 |1544-641-212-00| +« h.<- 1 0 ofo 0 00
57~ 4 |1544-641-213-00| - Tai, %V 1 0 0{0 0 0}0
57— 5 |1544-641-214-00| «~-%x ASSY 1 0 olo 0 0|0
57~ 6 |1544-641-215-00| -2mx» b (4) 1 0 olo 0 0)0
57~ 7 11544-641-216-00| - 2swx» + (B) 1 0 0lo0 0 00
57— 8 |1544-641-217-00| *Yh=xAf 5 1 0 ofo 0 010
57- 9 [1544-641-218-00| »va VU AL »5 1 0 0(0 0 010
57-10 11544-641-219-00| 4ty rHFEVa- & 1 0 o(0 0 0|0
57-11 |1544-641-221-00| -v=3 2 0 00 0 0|0
57-12 |V300-260-006-00{ =% k M6 2 0 olo 0 0{0
57-13 |V401-160-006-00| - S.W M6 2 0 olo 0 0l0
57-~14 |1544-641-222-00| -M3PZ£A 4 0 0lo0 0 0|0
57-15 |1550-641-210-00| =vt=m-AH, 2R ASSY 1 0 0 0 00
57 -15-1{1550-641-230-00 | = vtw-AFssA ASSY 1 0 NX, NUXHE
57-16 |V120-366-001-60| 75A+~Xaxy (SP) Mé6x16| 4 0 0lo 0 0lo0
57-17 |[1550-641-220-00| #57=V*VH=Af 25 ASSY 1 0 0|0 0 0|0 NHNX , NUXE
57-18 [1376-402-003-00| 74 %3 vF(140) 2 0 olof |o 010
57-19 [3737-172-011-00| 73+ v¥n-FAI5 2 2 0 0{o0 0 0f0
57-20 |V300-260-006—00]| +» F Ms 8 0
57-21 |1544-616-014-00| P 25} (~-%2) 1 0 N2, NUXE
57-22 |1545-606-250-00| #~A(#--) COMP 1 0
57-23 |V210-360-601-60 | #aA+(SP) Méx16| 4 0

120



Fig.58 TA ¥V T 54¥%T7 74

Ay bSq b e LR AL H=
=) I AkzF 5L7E)
N =
T— IBW
l As—bRA v F . l 3
- RY = =
Le T FRTE
YB 104
1.BR
L - 1
uPJnJ\_’ 1 GB
> « =
slel-| 3285
Elis =TT n
= A
=g [-=4
N . T S| Eeens
! E &[5
A . Y N YL w =]
B B
R
Lg | é &
1{8] : FUEL L | &
y-i B |
- Lpg | 5%
FECPTE=Ch N " o Gr B e
Ay ESA b o -
s(®) - =
AL e L h—
w SL7(E)
WR

121



13

10-1

33 14171

T

um

(8]
e

25

REES #WMaed-— K- &R g ) _;ﬁ__:%
B B B i 06 '

59.- 1. |1544-901-002-00| A= A== 7. 1{ololololo]oelojolofojojo| - -- =

59- 2 |1544-901-003-00| 4 €F=-7 2l olololojolo|ololojojo|0

59- 3 (1544-901-004-10| #AF==-2 (L) 1jolojofolololojofolo]0|O

59- 4 |1544-901-005-10| #£R+=-7 (R) 1lolololotolol|oloiojojolo

V- 5 | 1421-903-013-00| F7EsI=-2 1|lolololo|olojol|olola|o]o0

29~ 6 |1427-904-007-00| ¥5A47a~-vsv=-7 ijolofo{o|ojol0o|0l0j0]0]|0

59 - 7 ]|1421-903-010-00| 7az=nA==-7 1|o|ojolofolofofo]|o|0]|0]|0

59- 8 |2132-901-007-10] #+s7=-7 11ololofololojo|ojo]olofo:

59- 9 |1550-902-001-00| +4 ¥F=-7 (L) 1lolojolojofo R

59-9-1|1551-902-001-00| %4 ¥r=-2 (L) 1 olo|ofoloio

59-10 [1550-902-002-00| %4 F=-2 (R) 1{olololofolo

59 -10-11551-902-002-00 | +4 ¥==-7 (R) 1] ololololo

59-11 |1550-902-003-20| avt=-A=-7 (L) 110f{0|0]0l0 01]0 010

59-11-1 1544-902~-003-10| =2vim-a==-2 (L) 1 0

59-12 |1550-902-004-10| =2 t=-n=-27 (R) 1/ololololololojololo]o]o

59-13 |1444-904-012-00| FS47==-7 1lololojojololo]olo]o]joto

59-14 |1545-902-005-00| F¥~Af »F=~7 D) 11o/ojolojolololololo|o]o

50-15 |1550-902-005-00| V+¥=-2 1|oloiolololo]olololofo o

59-16 |1544-902-008-10]| A4 vF=v/i==-7 1lolojolololo|olojojololo

59-17 |1544-902-008-00]| #m-=-7 1{olololo]ololo]ofo]ofojo

59-18 |3640-901-018-00| v -4 804£=~7 110{olojofojojojo]o]olo]o

59-19 |1480-901-007-00| =27y a-vav=-2 11o0{ojololelolo]ofofolojo

59-20 |1544-902-012-00| F7FAr=~-2 1 0 o(o|ofo}0 o010 N‘%}R’%{’NUD

59-21 |1550-903-001-00| *v.=<=-2 1lofo e

59-21-11551-903-001-00| Fva=w-2 1 0|0

59-22 |1550-904-001-00] *¥v.<-7 (F) 1 ololo

122



13 33 14171

Fig.

o
W
A
l
I

25
4298 312 192027 16

6

_
37
10 \.JFW.BJO_I
e .
28 \~- - >
Ea
n o
N> _#
T . & FE B = e
2 1 # I E 180F 2 200F [ -
REES Baed— K BE 2 % 0 DIxin| 0 DX U =
U | . <1 | PR el - N
59-22-1/1551~904-001~00 | Fvu—=-2 {F) 1 o(0l0]0
59-23 |1544-904-003-00]| 7= viF=viw-y 1 ololo|o oolo|o
59-24 |1488-541-023-00| a-vyv==-2 1 0 olo| o 010
58-25 |1544-905-002-00| =-7 (X 1 0 o({of 4o 10 [0 }Nm@
- 59-26 |1480~902-005-00 AZ=-==7(3VFEL) 1 0 00 0 10 [0 :
59-27 |1544-905-003-00| =-2 (D) 1 ol {of (| lo] | _—
58-28 |1480-902-004-00| 44 F=-2(XR) 1 o o Ml ~ ~A v
59-29 11550-905-001-00| U=-2 < 1 0 U
59-30 |[1544-901-007-00]| <-Fvye-yp 1lolofofo|ofofofojoio 0|0 :
58-31 |1544-901-006-00| = =o=-2 1/0|ofofojo|olololo]ojo|o
59-32 |1550-902-006-10| 47 F=v=-ys 1lofojolojalojofofololo]|o }®~f
58-33 [1550-902-007-00| ©KFwa- v, ve—yp 1{o0jojofofo|ololoiojoi{o]o |,
59-34 (1544-251-003-00| F=vy==-2(s)-7) 1 0
59-35 [1550-902-008-00{ 2V -Fs=viewy 1 0
59-36 |1550-902-009-00] v¥vV o=~y 1 0
59-37 |[1480-531-004-00{ A& -—=-2 1 0l |o 0
! [1801180F [ 200 [200F |
|® 4622542238424 4141506

123



' @ u
T 4

.27

29

)

2
)

—

124



o el i £

o aatian 2.

4

; S
| p— . S ] . ' 1 180F | 9 J200F
| : SRR | 3 T 6 .-
Eﬂjg%' E:BR%:’—F on > T4 ’3-*0 DIXIN 0- D > *';{ﬁ___ =
o e - E T ¢

X X 06
60- 1 |1421-906-001-00 Ty PRRAAF(22) l1joflojofojojolofololololo
60~ 2 [1401-906-005-00 | x#% Los lioyofojojolololofolololo
60- 3 |V936-150-015-00 I54 v 150 1j0foiofolojofolofolololo
60- 4 12130-931-210-00 4oz 54,5 A5 sy - - “110fofofo|o|ofofolo]o]olo
60- 5. V920-550-801~00 )" V5% 7'# 285 (=n) - 8x10. [ 110]0l0lolo]ololo olofolo
60- 6 |V920-551-201-40 VEU 7R (=) 12X14] 1]0fofojo{ofo|ol0folololo
60~ 7 [V920-551-301-70 Va9 755 (=a) 13x17(0 110j0l0fl0flojolo{ololololo
60- 8 |V920-551-902-2¢ Vv rsRsgr(=n) 19x22f 1{0]|0|olofofolo]o]g 0lojof-
60~ 9 11421-906-002~00 7Y AR S 11ofolofofojofofojo 0ojo0
60-10 |3750-412-003-00 | 775+ 110fofolojolojolo]o]o]o]o
60-11 11427-906-201-00| v , 1l0(0ojojojofolofjololofolo
60-12 1444-621-242-00 | tn7 12V/20W) 1|0{0lojolololo o(ojojofo
60-13 |1488-621-241-00| S 12V4545W| 110/ 0folo]o|ofofo|o|olo]o
60-14 11488-621-272-00| .<nv 12va5,45W| 1(0[0{0(ole|ofolololololo
60-15 [1421-502-002-00( pvsew zi0)ojojojolofoljofolololo
60-16 |1444-514-005-10 ~T-Ev{(109) 2f0jojojojo(ofolololojolo
60-17 11550-913-001-10] +UTY bty 4o “1]0folololofo]olololololo

125



6
6
6

@
S R DUV | ] T7180F [ g [200F
REES BMEO—F | & £ o | olxlel 0 | ol x| m - ==
_ — X X 06
1-" 1 | 1444-952°280-00| <ot9=4+ SET s|ojololo]o 0lolo
1- 2 [W201-261-205-50| «=x&Hnb M12xX55 31000 oloflo]o
1- 3 |V302-260-012-00] -7 Mi12 3v-| 3|ofololo|olo]o 010
1= 4| 1444-952-210-10| 7R v bk Av =g b SET 1|o]o
.- b | V201-261-203-00| -=HEFEL M12x30 | 8|0|0
1- 6 |V401-160-012-00| -S.W M12 glofo;
1- 7 |V413-160-012-00] =+ 3 =AHHk M12 glo|o
1- 8 |1445-952-200-10| 7a vikqrv=f}t SET 1 00
1- 9 V201-261~203-00] «2ax&FELL 8| 0|0
1-10 |V401-160-012-00] S.W 8 00
1-11 |V413-160-012-00| -+ 5 =A+¥H% 8 010
1-0-111546-924-200-00| V¥+qfrv=A+ (1) SET 1{olofolojofo|ojofojololo]| 12,17 &%
1-0-2]1546-924-210-00] V+¥+rA rv=4t+ (2) SET 1{0| |[0]|o|o|olofojoi0|0|0] 12,22 %52
1-0-3)|1546-924-220~00| V¥+r1TAP=q} (3) SET 1{0(0|0|0f00|0{0|0|0]0 012,27 &t
1-12 |1444-952-230-00] - V¥kAfrv=A4t+ (A) SET 1|/0|{0(0f0j0|0j0l0]0O]|0 |0 |0
1-13 |1444-952-220-00| «-# A+ (A) COMP gloto|ojololo|olololo}o 0
1-14 |V300-260-016-—00| =55 b ' Mis is6({oflo|ofofololofofofolOlo0
1-15 |1V401-160-016-00| ++-S.W M16 1610({0|0|0(0|0f0|0O(0O|O[00
1-16 |V413-160-016-00] =« »o § =AHFH & Mi16 16(0j0|0|0|0{0f0[0]|0(0}0{0
1-17 | 1444-952-240-00| - V¥H=fro=41} (Bj1) SET 1{0jo0|ofojojo|o|ofo|o|0|0O
1-18 |1444-952-003-00| -+ V¥kAro=4}+ (B) 2i0jolofolo|ofojo|C]o]0]0
1-19 | V201-261-604-00| . aHZHAt M16%X40 glojolojojo|olofofolofojofi/0-1H
1-20 |V401-160-016-00| - -S.W M16 8lojojolofojolofol0lo|o|o0
1-21 [ V413-160-016-00] - « 7 i =A¥H% Mi6 8lofojojolololotolojo(o]o
1-22 | 1444-952-250-00| « VA A=A } (B]2) SET 1{0| |(o]lojojojojofo|o|of0| A0—-2K

(o BN o) B« ) Be )TN = ) B e ) B o ) s ) I 2 B D T o ) M@ I o ) N « A N« A I @ I e AT o B « t R o

126



Fig. 61

P —FEYFEBUT7ZA b

]

=i

p—
434
IS

(770:/5>)

T
| E i
9 10 11
3 2 -
a l-"" = iy N R
: B e B B e
. R TBO0F | 3 | 200F ~
= - fo | 3 . =] &3 4@ 8 O s M - L

REBES BMB&I—-F AR e & 0 7 0 X & %

A ] = o L 2 DX |N D

. o8 3 X ) S X - 061 - -
61-23 |1444-952-003-00| - - Y¥Hf A=A+ (B) 4l0| joiolofo|oiololofo]o
61-24 |V201-261-607-50 CaFRFEL P Mi16x75 | 8{o| |ofolo|o|ole|o|ofojo|l Ao0-2k
61-25 |V401-160-016-00| +-S.W M1 6 glol [o|ololol|o]olololo]o
61-26 |V413-160-016~00| « « F$=AFHF M16 glo| |¢|olojolofolo]o]o]o
61-27 |1444-952-260-00| -V ¥hfrv=q41+ (B)N3) SET 1|'0l0flo|ojojo|o|ofofof0]0
61-28 |1444-952-003-00] + » Y¥shfA=4} (B). - .- 6/0|0|o|o{ojololo]|o]oloio
61-29 |V201-261-611-00| -+ 2#&FEL b M16x110 s|ololo|o|ojo|o|ololoo]|o |} 40 -3
61-30 (V401-150-016-00| - -S.W . Mi6 glojojo|ojojo|o|ofo|Oo{0|0O i
61-31 |V413-160-016-00| = - F i =A¥FH% M16 gloiajolololofololo]olo]o

127



@
5 W
N 8 7 ‘
9
I g 5 B = 10
——— o = el B 1 {180F |9 { 200F
REES BeI<KT [ A B 0| b | plxm o ®
- - X X 06
62- 1 |1550-531-380-10| v<-(X) SET 1] |of Jofo ol fojolo
62- 2 |1550-531-250-10| =1 =754 5+ COMP 1| o] |ofo ol |ofotlo
62- 3 [1550-505-003-00] = Lri- (a) 2 0 010 0 0(0(0
22~ 4 [1550-531-330-10| «#Hyovav7-4 (o) COMP 1| {o| fo]o o| {ofo]o
2- 5 11414-1217-005-00| = 54=>7(13X50x3) 4] lof jolo ol [o]o]o.
62- 6 [1444-116-007-00] -7 >v¥ (11X30%X2) 2 0 0|0 0 0/01]0°
62- 7 11404-117-008-00] - F Ve ¥ AFY v5(22) 2 0 ofo 0 000
62~ 8 |1560-511-012-00{ - Fi~—+ 3| |o| [ofo o| lojojo
62- 9 |{V304-260-010-00| -=#%7s b Mio 22| 2| |o| |ofo ol lolo]o]
62-10 [V302-260-010-00]| +%» k _ Mi0 3> 2| |o| |0]0 ol lojolo
62-11 |1550-505-001~10 v g vLwiz 1| |o| |ofo 0| jolofo
6§2-12 |1550-531-001-10| - FFRA L= 1| lof [o]o ol [olofo
62-13 {V210-260-802-00| -#atr (S) M8x40 | 4| [o] {0}0 ol {olofo
62-14 |V301-260-008-00| - > b M8 2>a| 4| {0l |o0]0 o| |ofolo
62-15 |1415-505-015-00] « Loi~==xY 1 0 0j0 0 000

128



AT7JSET (Iv7—

DI i

e IR

63~ 3
63- 2
63- 3
63- 4
63- 5
63- ¢
63~ 7
63~ 8
63- 9
63-10
63-11
63-12
63-13
63-14
63-15
63-16
63-17
63-18

K182-017-000-00
K182—017—10q—00
K182-017-001-00
K182—009—002-00;
K182-005-005-00
K185-005-006-00 .
1513-541-300-00
1513-541-003-00"
K300-002-100-0¢
V201-261-207-00
V201-261-204-00
K300-001-002-00
K300~001-003-00
V304-260-008-00
K300-001-004-90
V411-260-022-00
V500-165-003-5¢
3737-172-011-90

a7y SET(Av—yuyﬁ)

*¥Y) vxy ASSY

r YY) vE COMP
RS- %

TEARVA R, L
R R 4

C e FAbw-n

TV Yk COMP
AR LE ()
755y b
CEATRFEL
fEH R EA
cEY(19x81)

T bR (MBX25)A
CINEF, b
TEv(22x83)
cINFFH X

CDYE v

COMP

. 7‘:'-/"/'\’/\—*7&05 VR

Mi2x70

Mi12x40

M8 2.

M22
5X35

129




&8
O Q00—

i3

>

S oo | o

>

64-0-1
64- 1
64~ 2

<~ 3
c4- 4
64- 5
64~ 6
64~ 7
64- 8
64~ 9
64-10
64-11
"64-12
64-13
64-14
64-15
64-16
64-17
64-18
64-19
64-20
64-21
64-22
64-23
64-24

1550-631-200-00
1550-631-210-00

1550-631-230-00
1550-631-240-00
1550-631~001-00
V201-461-616-00
V303-460-016-00
V401-160-016-00
1550-631-250-00
1550~631-260-00
1550-631-270-00

1550-631-280-00 -
V201-261-205-50 .

V201-261-202-50
V304-260-012-00
V401-160-012-00
1432-665-014-00
1550-631-290-00
1550-631-002-00
15560-631-002-00
V201-261-406-00
V303-260-014-00
V401-160-014-00
V201-261-203-50
V304-260-012-00

€«77147v-4(SF114)SET
s A ¥ T L—un COMP

s V¥-7Vv-4 (L) COMP
«V¥-7v-4 [R) COMP

L7 (117)

s aF&EL L M16x160 9T
SIS b Mi6 9T
*S.W Mie
*m7VYs75r 5 b (L) COMP

- BT7YVIT5r s+ R COMP
«7eVr7L-a (A) (L) COMP

e v/r7l-a (A) (R} COMP

r AT AKL b M12X55
s I A& FNL D M12x25
s3I HE Ty b M12 2va
-S.W M1 2

7245 b(10X17X5)
7evir7rv-u (B) COMP

chas (A)

- haAg (B)

s I HEFENL N M14%x60
CIAEF b M1 4

S .W M1 4

S A HELR M12x35
I HEF Mi12 2v=

mm»l:-A#NNNA@A-&#HHHHmmmNHHHH

OOCOOOOOOOOOOOOOOOOO\WOOOOO

OOOC)OOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOO'OOOOOOO0.00000

OOOOOOOO'OOOOOOOGOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOOOOO

OOOOOCJOOOOOOOOOOO0.0000000

OOOOOOOCOOOOOOOOOOOOOOOOO

OODOOOOOOOOOOOOOOOOOOOOOO

OOOOOOOOOOOOOOOOOOOOOO_OOO

©C OO 0000 0000000000000 oo o o o
© 0O 0 00 000000000 00 00 O o6 o o o o o

C 0O 000 0000 0000000 O o o o oo o o O

130



A I

REES B&I-FK : =
) ) ®I17 X1. 06|

64-25 |V401-160-012-00} - S.W Mi12 glojololololololofo|olo]o:

64-26 |1550-631-300-00| - 72 v +754 5+ COMP 1|lolo|olojojolo|olo|otlolo

64-27 |V201-361-203-50| -3 #&HL} Miz2x3s 7T | 4|o|ojo|ofololojojolo]0]o

64-28 |V401-160-012-00| -S.W M1 2 4lolofolojo|ofojojojolofo

64-29 [1550-631-320-00| -A~7 COMP 1|ojojojojojo]ololo]o]o]oO

64-30 |1550-631-004-00| « 7= 2lo{of{o{o|olololofo]o]o}o

64-31 |1550-631-005-00| »4 b - 1j0lolo|olojolo|alo|ofo]o

64-32 |1432-621-012-00| * #ve oA _ a|lojololololololofo]o]lo]o )

6§4-33 |V201-260-807-00| - a#&x#A b M8 x70 4|ojololo]ofo]ofojolofof0

64-34 {V304-260-008-00| « aH&F M8 2va siolojololojolofol0f0}0|O

64-35 |V411-260-008-00 | » & HF¥H5 M8 s]|ololojololofololololo]o

64-36 |1550-631-007-00| *+ 7 v 4avHIa vk, v 1lolololololololola]olalo

64-37 |1550-631-008-00 | « & v¥efeFtav 1{olo|ojolo|o|ololojolo]o0

64-38 |1550-631-009-00| - 73+7rvs -+~ 1|olo|o|olo|ojo|ofo|o]ofo0

64-39 |V201-261-203-50{ -~ aHFHELt M1 2x35 glofolotofojojofoj0o|(0|0}0

64-40 [V304-260-012-00| « 2#&F 5 b M12 2v.| 8|o|ojolojolo]ojolo]ofofo
V401-160-012-00| - S . W M12 glofo|ofo|olof0|0j0|0|0]|0

64-41

131



BEa—-F | E2ES | BEI~ K | E2ES . W& - K fai.é%_[
1302-225-003-00 13-14 1414-312-002-00 45-13 1422-668-202-00 51-3 |
1302-225-003-00 13-45 1414-312-002-00 44-13 1423-616-004-00 46- 7
1302-225-003~00 14-21 1414-403-004-00 24-24 1423-621-201-00 5635
1302-225-003-00 21-18 1415-101-040-00 3-10 © 1424-101-005-00 1-30
1305-241-001-00 43-65 1415-102-009-00 53-19 1425-431-015-00 16- 4
1305-241-001-00 43-75 1415-102-011-00 53-22 1425-431-021-00 16- 8
1305-241-001-00 44-50 1415-102-012-00 53-23 1425-621-004-00 36-30
1305-241-001-00 44-61 1415-102-013-00 53-24 1425-621-004-00 45-26
1305-931-003-00 22-13 1415-125-025-00 8-21 1425-621-004-00 54-37
1305-831-003-00 41-23 1415-505-006-00 35-30 & 1425-621-004-00 56- 4
1317-606-205-00 53-11 1415-505-011-00 38-23 1425-621-035-00 56-30
1325-930-105-00 24-27 1415-505-011-00 . 36-16 1426-426-306-00 28-39
1326-708-005-00 24-33 1415-505-011-00 44-22 1426-426-321-00 28-47
1340-253-002-00 9-10 1415-505-015-00 43-87 1426-506-002-00 27-33
1370-405-003-00 19-24 1415-505-015-00 44-26 1426-621-036-00 - 56-14
1376-402-003-00 45-67 1415-505-015-00 62-15 1427-101-011-00 1-10
1376-402-003-00 56-28 1415-621-017-00 4 9 1427-101-011-00 40- 5
1376-402-003-00 57-18 1416-511-400-00 41-14 1427-101-011-00 40-23
1376-606-005-00 53- 4 1417-102-005-00 1-13 1427-101-011-00 40-28
1376-754-023-00 46- 8 1419-403-001-00 24-21 1427-101-012-00 1-11
1401-122-005-00 19-15 1421-101-203-00 1- 6 1427-101-022-00 3-9
1401-304-011-00 13-31 1421-101-204-00. 1- 7 1427-117-001-00 38-22
1401-304-011-00° 14-39 1421-101-313-00 1-5 1427-201-007-00 6-12
1401-906-005-00 7 B0- 2 1421-201-003-00 34-32 1427-201-007-00 93
1402-511-600-00 41-29 1421-301-012-00 16= 17 1427-201-008-00 6-13
140262101400 |  4-11 1421-400-052-00 251 1427-201-008-00 o- 4
1404-117-008-00 512 1421-403-007-00 24-34 1427-201-016-00 23-5
1404-117-008-00 - |  38-15 1421-403-008-00 24-35 1427-203-008-00 -2
1404-117-008-00 38-28 1421-411-001-00 20- 9 1427-204-003-10 11-25
1404-117-008-00 43-28 1421-433-001-30 34- 1 1427-210-003-00 13- 3
1404-117-008-00 43-37 1421-433-004-00 15- 7 1427-210-004-00 - 9
1404-117-008-00 43-38 1421-433-004-00 34- 17 1427-301-005-00 16- 5
1404-117-008-00 62- 7 1421-433-008-10 34-12 1427-301-005-00 32-20
1404-502-013-00 13-56 1421-433-014-10 34-15 1427-301-021-00 . 16-30
1404-502-013-00 21-31 - 1421-433-014-10 34-17 1427-317-004-00 22-5
1404-502-013-00 36- 9 1421-433-022-00 34-35 1427-431-008-00 31- ¢
1404-503-006-00 27-14 1421-433-023-00 34-36 1427-431-011-00 31~ 3
1404-503-006-00 40-58 1421-433-031-00 34-23 1427-431-013-00 31- 9
1407-111-001-00 53- 6 1421-438-201-00 30- 2 1427-431-014-00 31-11
1407-403-002-00 24-25 1421-438-210-00 30~ 1 1427-431-220-00 BIS?
1407-406-002-00 25- 2 1421-502-002-00 22- 8 1427-432-003-00 32-19
1407-406-004-00 25- 3 1421-502-002-00 60-15 1427-432-004-00 32-21
1411-401-001-00 24- 2 1421-602-005-10 48-17 1427-432-005-00 32-22
1411-411-002-00 20-10 1421-621-038-00 45-71 1427-611-001-00 35-25
1411~411-003-00 28-11 1421-903-010-00 56- 7 1427-612-240-00 Gk |
1411-621-005-00 56-37 1421-903-013-00 59- 5 1427-612-240-10 51- la
1412-401-004-00 24- 3 1421-906-001-00 60~ 1 1427-612-241-00 51- 2
1414-117-005-00 38-13a 1421-906-002-00 60- 9 1427-621-003-00 . 4~ ¢
1414-117-005-00 39-13 1421-951-006-00 24-37 1427-621-008-00 56- 1
1414-117-005-00 43-81 1421-951-007-00 24-38 1427-621-012-00 54-20
1414-117-005-00 44-21 1421-851-008-00 34-24 1427-621-262-00 55-13
1414-117-005-00 62- 5 1421-951-009-00 34-25 1427-621-263-00 55-14

132



Haam2— F ERES &3 — F ERES F & 32— K RRES
1427-621-264-00 55-15 1444-116-006-00 48-10 1444-503-007-00 35-21
1427-821-257-00 55-16 1444-116-007-00 38-14 1444-503-220~00 35-16
1427-904-007-00 58- 6 1444-116-007-00 38-217 1444-510-002-00 40-45
1427-906-201-00 60-11 1444-116-007-00 43-27 1444-510-004-00 _27-42
1426-406-202-00 26-19 1444-116-007-00 43-36 1444-510-222-00 40-11
1426-406-205-00 26-14 1444-116-007-00 43-82 1444-510-226-00 40-15
1429-406-205-00 25-53 1444-116-007-00 62- 6 1444-510-227-00 40-16
1426-406-207-00 26- 6 1444-120-002-00 6-14 1444-510-228-00 40-13
1429-406-208-00 26— 17 1444-120-200-10 6-16 1444-510-231-00 40-17
1429-406-209-00 26- 8 1444-120-201-10 6-17 1444-510-250-00 40-12
1426-406-211-00 26- 9 1444-120-202-00 6-18 1444-514-002-00 41- 2
1426-406-212-00 26-10 1444-122-002-00 38- 6 1444-514-003-00 41-20
1426-406-213-00 26-12 1444-122-002-00 39- 6 1444-514-003-00 41-20-1
1429-406-214-00 26-13 1444-122-002-00 43-42 1444-514-004-00 41-30
1429-406-216-00 26-18 1444-307-005-00 13-29 1444-514-005-10 41-31
1432-216-003-00 12-26 1444-307-005-00 14-37 1444-514-005-10 60-16
1432-242-001-00 18- 17 1444-314-009-10 22- 9 1444-514-006-00 41-32
1432-242-004-00 38-21 1444-331-211-00 20- 2 1444-514-220-00 41- 1
1432-242-004-00 39-21 1444-331-220-00 20- 1 1444-514-230-00 41-1
1432-242-004-00 43-20 1444-331-220-10 20- la 1444-514-260-10 41-17
1432-242-004-00 43-31 1444-402-004-00 24-14 1444-514-270-00 - 41-18
1432-406-008-00 * 25-33 1444-404-001-00 24-30 1444-514-280-10 N - 41-26
1432-406-009-00 25-34 1444-404-200-00 24-20 1444-514-300-00 41-21
1432-406-243-00 25-10 1444-408-005-10 27- 19 1444-531-001-00 43-55
1432-406-244-00 26-11 1444-408-312-00 28-21 1444-531-001-00 44-40
1432-406-245-00 25-12 1444-408-325-00 . 28—41 1444-531-002-00 43-14
1432-406-246-00 25-13 1444-411-003-00 32-12 1444-531-002-00 44-14
1432-406-330-00 25-32 1444-411-004-00 ~ 32-13 1444-531-005-20 43-67
1432-406-341-00 25-18 1444-411-005-00 32-14 1444-531-005-20 44-53
1432-406-362-00 25- 9 1444-411-006-00 32-18 1444-531-006-00 43-70
1432-616-002-00 8- 5 1444-411-008-00 32- 5 1444-531-006-00 44-56
1432-616-002-00 23-28 1444-411-009-00 32- 6 1444-531-320-00 43-69
1432-621-012-00 53-32 1444-411-011-00 32- 7 1444-531-320-00 44~55
1432-621-012-00 64-32 1444-411-012-00 32- 8 1444-531-330-00 - 43-73
1432-621-272-00 56-36 1444-411-013-00 32- 9 1444-531-330-00 © 44-59
1432-621-272-00 56-39 1444-411-014-00 32-10 1444-541-242-00 42- 2
1432-651-028-00 49-17 1444-411-210-00 32- 4 1444-541-243-00 42- 3
1432-654-006-00 50-29 1444-412-001-00 33- 3 1444-541-244-00 42- 4
1432-654-007-00 54-15 1444-413-002-10 34- 2 1444-541-245-00 42- 5
1432-665-014-00 - 64-16 1444-413-003-10 34- 4 1444-541-246-00 42- 1
1434-122-004-10 8-14 1444-413-004-10 34- 8 1444-541-248-00 42- 9
1434-122-004-10 18-10 1444-413-005-10 34-10 1444-541-249-00 42-11
1434-503-002-00 36-42 1444-413-013-10 34-29 1444-601-003-00 46-16
1434-602-002-00 3-13 1444-413-014-20 34-33 1444-601-025-00 46-18
1434-602-224-10 3-15 1444-413-015-10 34-34 1444-607-003-00 4-17
1442-111-210-00 53-10 1444-413-022-00 34-39 1444-621-017-00 54-16
1444-101-012-00 1-12 1444-413-023-00 34-40 1444-621-017-00 55- 17
1444-102-200-00 53-17 1444-413-210-30 34-14 1444-621-018-00 54-117
1444-102-204-00 53-20 1444-413-240-00 34-16 1444-621-018-00 55~ 8
1444-116-006-00 38-13 1444-502-002-00 36- 8 1444-621-242-00 60-12
1444-116-006-00 43-26 1444-502-220-00 36-11 1444-621-300-00 56-19
1444-116-006-00 43-35 1444-503-001-00 35-28a 1444-904-012-00 59-13

133




BHRI—F | EZE=S | a3 F ‘gzé‘é FTE 33— K ELES
1444-252-003-00 81-18 1488-541-023-00 5¢-2¢ 1544-103-25(~10 2- 6
1444-952-003-00 61-23 1488-541-288-00 £5-10 1544-104-203-00 3-3
1444-952-003-00 61-28 1488-541-291-00 42-13 1544-104-204-00 3-5
1444-952-210-10 61- 4 1483-541-293-00 42-15 1544~104-205-00 3-6
1444-952-220-00 61-13 1488-541-296-00 42-17 1544-112-001-00 4- 5
1444-852-230-00 61-12 1488-541-297-00 42-19 1544-112-003-00 1-27
1444-952-240-00 61-17 1488-611-001-00 51-16 1544-112-202-00 4-15
1444-952-250-00 61-22 1488-611-001-00 52-10 1544-116-001-30 51
1444-952-260-00 61-27 1488-611-002-00 51-19 1544-116-002-00 5-27
1444-952-280-00 61- 1 1488-611-003-00 51-17 1544-116-210-20 5 2
1445-331-211=00" 20~ 6 1488-611-003-00 52-11 1544-117-003-00 5-11
1445-331-220-00 20- 5 1488-621-220-10 56~ 6 1544-117-005-10 5-10
1445-331-220-00 20-11 1488-621-241-00 60-13 1544-117-200-20 5- 9
1445-331-220-10 20~ 5a 1488-621-270-10 55-19 1544-117-210-10 5-19
1445-952-200-10 61- 8 1488-621-272-00 55-20 1544-117-210-20" 5-19a
1480-103-001-00 2-2 1488-621-272-00 60-14 1544-117-220-20 5-16
1480-104-004-10 3-19 1491-511-004-00 36~ 9-1 1544-117-230-00 - 5-20
1480-117-002-00 5-26 1491-511-004-00 36-12 1544-120-004-00 7-11
1480~117-002-00 19-19 1491-511-004-00 45-70 1644-120-007-00 . 8- 2
1480~122-001-10 8- 6 1481-541-220-10 37- 3 1544-120-008-00 . 7-20
1480~211-005-00 11- 9 1491-541-220-10 45-29 1544-120~008-10 - 7-20a
1480-211-005-00 21-13 1491-622-200-00 55-12 1544-120-009-00 7-21
1480-212-004-00 21- 7 1491-623-220-10 56-20 1544~120-200-00 61
1480-301-002-10 16- 2 1491-623-222-00 56-21 1544-120-200-20 - 6-1a
1480-301-003-10 16- 3 1507-207-007-00 10-.9 1544-120-210-00 - 7-18
1480-304-001-00 16-23 1507-307-003-00 13-:7 1544-120-210-20 7-18a
1480-304-002-00 16-26 1507-307-003-00 21-18a 1544-120-210-30 7-18 b
1480-433-001-00 T15- 8 1509-601-001-00 46-15 1544-122-001-00 ST 4
1480-433-001-00 33- ¢4 1509-623-009-00 56-24 1544-122-001-10 7- 4a
1480-501-002-00 35— 2 1513-408~004-00 27-3 1544-122-002-00 7-23
1480-501-003-00 35- 3 1513-408-004-00 27-39 1544-122-003-00 7-21
1480-502-001-00 36- 1 1513-408-004-00 27-39 2 1544~122-004-00 7-27 a
1480-502-001-10 36-1a 1513-408-217-00 28-20 1544~122-201-00 -9
1480-502-201-00 36- 4 1513-541-003-00 37-.9 1544-123-003-00 8- 17
© 1480-503-200-00 36-31 1513-541-003-00 45-35 1544-123-005-00 8-15
1480-531-004-00 59-37 1513-541-003-00 63- 8 1544-123-200-00 - 8-22
1480-531-330-00 43- 1 1513541-005-00 41-34 1544~123-200-10. 8-22a
1480-531-330-00 44— 1 1513-541-005-00 45-38 1544~123-220-20 8- 9
1480-541-004-00 45-68 1513-541-300-00 37-10 1544-123-230-10 810
1480-604-204-00 55-25 1513-541-300-00 45-36 1544-123-230-20 8-10 a
1480-901-007-00 50-19 1513-541-300-00 63- 7 1544-123-260-00 . 8- 1
1480-902-004-00 50-28 1518-116-102-00 5- 5 1544-201-001-00 8- 1
1480-902-005-00 59-26 1518-213-014-00 12-19 1544-201-001-20 9 la
1488-247-250-00 22- 17 1518-213-014-00 13-39 1544-201-003-00 14~ 2
1488-408-330-00 27-16 1518-621-310-00 53- 8 1544~201-004-10 o- 7
1488-412-006-00 33-12 1521-507-103-00 13-35 1544-203-001-10 10- 1
1488-413-023-10 34-19 1521-507-103-00 14-33 1544-203-001-20 10- la
1488-541-006-00 41-35 1527-604-002-00 54-38 1544-205-001-00 10- 8
1488-541-006-00 45-39 1544-103-001-10 2- 6-1 1544-205-003-10 10-10
1488-541-007-00 12- 8 1544-103-004-00 2-15 1544-205-004-10 10-12
1488-541-015-00 45-78 1544-103-210-10 2- 5 1544-205-005-10 10-13
1488-541-015-00 49-39 1544-103-210-20 2-5a 1544-205-006-10 10-14

134



E&d-—F REES &I — K REES B} &3~ F EEES
1544-207-001-00 11- 7 1544-219-006-00 14-44 1544-401-350-20 23-29
1544-207-002-00 11-10 1544-218-200-10 13-47 1544-406-002-00. 25-36
1544-207-003-00 10- 5 1544-218-200-10 14-25 1544-406-003-00 25-37
1544-207-003-00 11- 2 1544-219-200-20 13-47a 1544-406-005-00 25-48
1544-207-004-00 11- 3 1544-219-200-20 14-25a 1544-406-006-10 25-49
1544-208-002-00 11-12 1544-251-003-00 56-34 1544-406-007-00 25-50
1544-208-003-00 11-16 1544-304-006-10 32-25 1544-406-200-10 25-15
1544-208-004-00 11-17 1544-304-007-00 16-10 1544-406-204-00 25-17
1544-208-005-00 11-20. 1544-308-200-10 23-33 1544-406-220-00 25- 7
1544-208-007-00 11-11-1 1544-308-200-20 23-33 a 1544-406-221-00 25- 8
1544-208-001-10 11-21 1544-308-220-00 23-34 1544-406-230-20 25-30
1544-208-002-10 11-23 1544-310-004-00 18-22 1544-406-250-20 25-25
1544-215-001-00 12- 1 ' 1544-310-005-00 18-23 1544-407-260-00 26- 1
1544-215-001-10 12- 1a 1544-310-202-00 18- 2 1544-407-261-00 26- 3
. 1544-215-002-10 12- 3 1544-310-203-10 18- 3 1544-407-262-00 26- 4
1544-215-003-00 12-14 a 1544°310~204-00 18- 4 1544-407-263-00 26-11
1544-215-004-00 T12-16 1544-310-205-00 18- 5 1544-407-264-00 26-14
1544-215-004-00 . 13-38 1544-310-207-00 18- 7 1544-407-270-00 26- 2
1544-215-006~00 12- 9 1544-310-208-00 18- 8 1544-407-280-00 26- 5
1544-216-011-10 12-21 1544-310-230-10 " 18-17 1544-431-220-00 31-14
- 1544-215-012-00 12-19a 1544-310-250-00 18-21 1544-431-230-00 31-13
1544-215-012-00 '13-39 a2 1544-310-260-10 18- 1 1544-504-001-00 | . 37-11
1544-215-013-00 12- 3a 1544-310-281~00 118-29 1544-505-004-00 385
. 1544-215-014-00 - 12-14 b 1544-310-282-00 18-30 1544-505-004-00 365
1544-215-015-00 - 12-29 1544-310-283-00 18-31 1544-505-004-00 43-41
. 1544-215-016-00 ° 12-31 1544-310-284-00 18-32 1544-505-005-00 39-14
1544-215-210-20 12~ 6 1544-310-285-00 ' 18-33 1544-505-005-00 44-65
1544-215-230-10 12-11 1544-310-286-00 18-34 1544-505-200-00 38-1
1544-215-230-20 12-11 a 1544-312-001-00 - 18- 5 1544-505-200-00 39- 1
1544-215-250-00 12- 5 1544-312-002-00 8- 2 1544-505-230-00 38-24
1544-215-260-00 12-28 1544-312-002-00 19- 2 1544-508-003-00 23-37
1544-215-270-00 12-11b 1544-312-200-00 19- 1 1544-508-006-00 40-48
1544-216-001-10 - 13- 1 1544-312-210-10 16-20 1544-508-008-00 . 40-56
1544-216-002-20 13- 6 || - 1544-312-220-00 19- 4 1544-508-200-10 40- 1a
1544-216-003-10. 13-10 1544-312-230-10 18- 3 1544-508-220~00 40-18
1544-216-004-20 13-12 1544-312-240-00 18-12 1544-508-270-00 40-10
1544-218-001-00 13-13 1544-312-250-00 18-13 1544-508-270-10 10-10 2
1544-218-002-00 13-17 1544-313-001-00 19-22 1544-508-271-00 40-14
1544-218-002-00 13-48 1544-313-200-10 19-16 1544-511-221-00 42-14
1544-218-002-00 14-26 1544-313-201-10 18-21 1544-511-222-00 42-10
1544-218-002-00 21-22 1544-313-210-00 19-23 1544-511-223-00 42-16
1544-218-004-00 13-60 1544-322-002-00 10- 7 1544-511-224-00 42-21
1544-218-005-00 13-59 1544-322-002-00 11- 4 1544-531-002-00 43-17
1544-218-005-00 13-63 1544-322-002-00 21- 9 1544-531-002-00 44-17
1544-218-005-00 14-45 1544-326-240-00 21-21 1544-531-360-00 43-61
1544-218-200-00 13-16 1544-326-240-10 - 21-21a 1544-531-360-00 44-48
1544-218-200-10 13-16 & 1544-401-001~00 23-15 1544-531-370-00 43-64
1544-216-001-00 13-42 1544-401-003-00 23-30 1544-531-370-00 44-49
1544-218-002-00 13-44 1544-401-250-10 23-11 1544-601-001-00 46- 5
1544-219-005-00 13-58 1544-401-260-10 23-12 1544-601-002-00 46- 6
1544-218-005-00 21-33 1544-401-310-00 23-16 1544-601-003-00 46- 1
1544-219-006-00 13-54 | 1544-401-320-00 23-17 1544-601-240-00 46- 3

135




2} & 3 — EREE a2 — E-E= e 22— F EHRES
1544-601-250-00 46-14 1544-516-004-00 54-18 1544-901-004-10 59- 3
1544-202-001-00 &= 17 1544-616-005-00 54-19 1544-901-005-10 59- 4
1544-602-001-10 47- Ta 1544-616-006-00 54-23 1544-901-006-00 59-31
1544-602-202-00 47- 2 1544-616-009-00 54-24 1544-801-007-00 59-30
1544-602-203-00 47- 3 1544-616-011-00 1-22 1544-902-003-10 59-11-1
1544-602-210-00 47- 4 1544-616-011-00 54-25 1544-802-008-00 59-17
1544-603-002-10 47- 9 1544-616-012-00 54-31 1544-302-009-10 59-16
1544-603-003-10 47-10 1544-616-013-00 54-12 1544-902-012-00 59-20
1544-603-004-00 47-12 1544-616-014-00 45-79 1544-504-003-00 59-23
1544-604-015-10 48-10 1544-616-014-00 54-13 1544-505-002-00 59-25
1544-604-290-00 48-19 1544-616-014-00 56-39 1544-905-003-00 59-27
1544-604-400-00 48- 9 1544-616-014-00 57-21 1545-117-200-00 5-16-1
1544-606-001-00 48-12 1544-616-015-00 54-10 1545-215-001-00 12-20-1
1544-606-001-10 49-12 & 1544-616-200-00 54- 1 1545-218-001-00 13-55
1544-606-001-10 . | 50- 7 1544-616-200-10 54- 1 1545-218-001-00 21-39
1544-606-004-10 - 49-10 1544-616-210-10 54— 2 1545-406-001-00 _ 25-52
1544-606-004-20 49-10 a 1544-616-210-20 54- 2 1545-406-200-00 25-54
1544-606-004-20 50- 6 | 1544-616-260-00 54-30 1545-411-210-00 29- 1
1544-606-005-10 | 49-21 | 1544-619-220-00 55~ 1 1545-603-001-00 47-13
1544-606-005-10 50-16 1544-621-320-00 56~ 7 1545-603-002-10 C47- 91
1544-606-006-00 49- 6 1544-623-001-00 . 56-10 1545-603-003-10 | - 47-10-1
1544-506-006-00 .50~ 2 1544-623-006-10 56- 9 1545-606-230-00 . - | - 50-15
1544-606-007-00 | _ 49-16. 1544-623-008-10 56-26 1545-606-250-00 < 4776
1544-606-007-00 | _ 50-10 1644-623-009-00 56- 8 1545-606-250-00 57-22
1544-606-008-00 .. | . 49-24 1544-641-210-00 45-50 1545-621-001-00 | - 55-23°
1544-606-012-00 . 49-35 1544-641-210-00 57-1 1545-623-002-10 56-25
1544-606-012-00 _-50-28 1544-641-211-00 45-51 1545-623-003-00 56-27 .
1544-606-012-10 . 49-35a 1544-641-211-00 57- 2 1545-302-005-00 59~14
1544-606-014-00 | 49-36 1544-641-212-00 45-52 1546-924-200-00 61~ 0-1
1544-606-016-10 . 49- 5 1544-641-212-00 57- 3 1546-924-210-00 61- 0-2
1544-606-018-00 23-39 1544-641-213-00 45-53 1546-924-220~00 61- 0-3
1544-606-018-00 49-17 a 1544-641-213-00 57- 4 1547-208-001-00 11-11
1544-606-018-00- 50-11 1544-641-214-00 45-54 1548-312-001-00 8-18
1544-606-019-00 _ |  49-38 1544-641-214-00 . 57- 5 1548-606-003-00 4-19
1544-606-019-00 - - _ 50- 8 1544-641-215-00 45-55 1548-606-003-00 23-38
1544-606-240-20 50- 4 1544-641-215-00 57- 6 1548-606-003-00 49-37
1544-606-260-00 49-23 1544-641-216-00 45-56 1548-606-003-00 50~30
1544-606-260-10 49-23 a 1544-641-216-00 57- 7. 1550-102-001-10 -8
1544-606-270-00 49-28 1544-641-217-00 45-57 1550-102-002-00 -9
1544-606-270-00 50-21 1544-641-217-00 57- 8 1550~102-003-00 " 1-23
1544-606-280-10 49-32 1544-641-218-00 45-58 - 1550-102-004-00 1-24
1544-606-280-10 50-25 1544-641-218-00 57- 9 1550-102-005-00 1-14
1544-607-200-10 48-21 1544-641-219-00 45-59 1550-102-006-00 1-15
1544-607-200-30 48-21a 1544-641-219-00 57-10 1550-102-200-00 1- 1
1544-611-001-00 51-22 1544-641-221-00 45-60 1550-102-202-00 1- 2
1544-611-200-00 51-13 1544-641-221-00 57-11 1550-102~203-00 1- 3
1544-611-210-00 51- 8 1544-641-222-00 45-63 1550-102-204-00 1- 4
1544-611-220-00 51- 9 1544-641-222-00 57-14 1550-102-210-00 1-16
1544-612-001-00 53- 3 1544-641-250-10 35-32 1550-102-220-00 1-17
1544-616-001-00 54- 3 1544-641-250-10 45- 1 1550-103-001-00 2-14
1544-616-002-30 54~ 5 1544-901-002-00 59- 1 1550-103-002-00 2-20 a
1544-616-003-10 54-14 1544-901-003-00 59~ 2 1550-103-200~00 2- 1

136



FoRI-F | BEES | FEa-F | 2eES | ma&o-—F | suss
1550~103-200-10 - 1la 1550-218-200-10 13-20 & 1550-308-220-00 16-25
1550-103-210-10 2-13 1550-218-210-00 13-25 1550-308-230~00 16-27
1550-103-220-00 2-17 1550-218-230-00 13-3 1550-308-230-10 16-27 a
1550-105-230-00 2-20 1550-218-250-00 13-37 1550-310-001-10 18- 9
1550-103-240-00 2- ¢ 1550-218-250~10 13-37 2 1550-310-002-10 18-10
1550-103-242-00 2-21 1550-218-260-00 13-25-1 1550-310-003-10 18-11
1550-103-250-10 2- 17 1550-219-200-00 13-51 1550-310-200~00 18- 0-1
1550-103-250-10 2-30 1550-218-200-10 13-51a 1550-310-230-10 18~27
1550-103-260-00 2-22 1550-251-001-00 14- 1 1550-310-240-00 18-28
1550-103-260-00 2-28 1550-251-002-10 14- 6 1550-312-200-00 19-11
1550-103-270-00 2-23 1550-251-003-00 14- 7 1550-321-001-00 21- 1
1550-103-280-00 2-24 1550-251~004-00 14- 8 1550-322-001-00 21- 5
1550~103-290-00 2-29 1550-251-005-00 14-14 1550-322-002-00 21-11
1550~104-001-00 3-7 1550-251-006-00 14-15 1550~322-003-00 21-14
1550-104-002-00 3-8 1550-251-007-00 14-18 1550-322-200-00 21~12
1550-104-003-00 . 1-25 1550-251-008-00 14-20 - 1550-325-001-10 21-16
1550-104-200-00 3- ] 1550-251-009-00 14-23 1550-325-002-00 21-17
1550~104-202-00 32 1550-251-011-00 14-35 1550-325-002-10 21-17a
1550-104-210-00 3-11 1550-251-012-00 - 13-28 - 1550-326-001-00 - 21-30
1550-104-220-00 3-16 1550-251-012-00 14-36 1550-326-002-00 21-34
1550-105-001-10 53-13 1550-251~200-00 14-29 1550-326-003-00 21-37
1550~105-200~20 . 53-12 1550-251~200-10 14-29 a 1550-326-004-00 T 21-37-1
1850-105-210-00 - |. 53-27 1550-251-210-00 14-32- 1560-32620000 | 21-25° |
1650~112-002-00 4-10° 1550-251-230-00 14-42 1650-326-200-10 21-25a
1550~112-003-00 l4-8 1550-251-240-00 14-43 1550-326-210-00 21-28
1850-112-200-10 - | - . 4-14. 1550-301-001-00 15- 1 1550-326-250-00 - 21-28-1.°
1550-112-220-00 . 4- 1 1550-301-002-00 -15- 9 1550-335-200-10 22- 1
1550-112-222-00 -~ { - 4- 2 1550-301-003-00 15-10 1550-335-200-20 S 22-1a
1550-112-223-00 4- 3 1550-301-004-00 15-11 1550-335-230-00 22-11
1550-116-001-00 . 5-29 1550-301-005-00 15-12 1550-335-230~10 22-11a
1550~116-210-00 5-28 1550-301-006-00 15-14 1550-401-001-00 23-18
1550-120-001-00 6-15 1550-301-007-00 15-15 1550-401-002-00 23- 9
1550-120-002-00 7-15 1550-304-001-10 16- 1 - 1550-401-003-00 23-42
1550-121-001-00 7- 1 1550-304-002-00 16- 6 1550-401-230~10 23- 1
1550-122-200-00 7- 8 1550-304-003-00 16-14 1550-401-230-20 23- 1a
1550-122-200~10 7-29. 1550-304-004-00 1615 1550~401-240-00 23-19
1550-122-200-20 7-29 a 1550-304-005-10 16-16 1550-401-260-10 23~ 6
1550-122-201-00 " 7-10 1550-304-006-00 16-19 1550-401-270-00 23-25
1550-122-201-10 7-31 1550-304-007-00 16~11 1550-401-270-30 23-25a
1550-122-201-20 7-31 a 1550-306-001-10 17- 1 1550-401-280-00 23-26
1550-122-202-00 4,730 1550-306-002-10 17- 2 1550-401-280-10 23-26 2
1550-122-202-10 7-30 a 1550-306-003-00 17- 3 _ 1550-401-300-00 23-40
1550-122-203-00 7-32 1550-306-004-00 17-13 1550-401-320-00 23-41
1550-122-203-10 7-32 2 1550-306-200~10 17-11 1550-402-001-00 24- 5
1550-207-200-00- 11- 1 1550-306-210-10 17-12 1550-402-002-00 2- 6
1550-208-001-00 11-19 1550-307-001-00 17-17 1550-402-003-00 24-13
1550-215~001-00 12-20 1550-307-002-00 17-18 1550-402-200-00 24~ 1
1550-215-200-00 12-15 1550-307-003-00 17-19 1550-403-001-00 24-31
1550-215-200-10 12-15 2 1550-307-004-00 17-20 1550~403-202-00 34-47
1550-215-200-20 12-15b 1550-307-005-00 17-21 1550-403-210-00 34-45
1550-218-001-00 13-27 1550-308-200-00 16-21 1550-403-220-00 34-44
1550-218-200-00 13-20 1550-308-210-00 16-22 1550-403-220-00 34-46

137




ER I BEES | BRI - F | RABES | &3 - F 24z3 |
1550-402-002-00 24-32 1550-408-310-00 28-10 1550-502-002-00 36-1b
1550-403-201-00 24-39 1550-408-312-00 28-11 1550-502-200-00 36- 5
1550-403-202-00 24-42 1560-40€-313-00 28-14 1550-502-200-10 36-5a
1550-403-203-00 24-43 1550-408-320-00 28-15 1550-502-202-00 36-4a
1550-403-203-00 34-43 1550-408-321-00 28-16 15650-502-210~00 36-13
1550-403-210-00 24-40 1550-408-322-00 28-17 - 1550-502-210-00 45- 9
1550-403-220-00 24~4] 1550-408-323-00 28-18 1550-502-220-00 36-14
1550-406-003-00 25-20 1550-408-324-00 28-19 1550-502-220-00 45-10
1550-406-004-00 25-39 1550-408-325-00 28-22 1550-502-221-00 36-15
1550-406-201-10 25-16 15560-408-326-00 28-23 1550-502-221-00 45-11
1550-406-210-00 25-23 16560-408-330-00 28-24 1550-502-222-00 36-16
1550-406-210-10 25-23 a "1550-408-332-00 28-25 1550-502-222-00 45-12
1550-406-220-00 25-47 1550-408-333-00 28-26 1650-502-223-00 36-17
1550-407-200-00 26- 0-1 1550-408-340-00 28-27 1550-502-223-00 45-13
1550~407-201-00 26-20 1550-408-342-00 28-28 1550-502-224-00 36-18
1550-408-001-10 - 27-23 1550-408-343-00 28-29 1550-502-224-00 45-14
1550-408-002-10 - 27-24 1550-408-344-00 28-30° 1550-502-225-00 36-19
1550-408-005-00 "27-35 1550-408-350-00 28-31 1550-502-225-00 45-15
1550-408-006-00 21-36 1550-408-352-00 28-32 1550-502-226-00 36-23
1550-408-201-00 28-51 1550-408-353-00 28-33 1550-502-226-00 45-19
1550~408-210-00 27-1 1550-431-001-00 31~ 1 1550-502-227-00 36-24
1550-408-210-00 1=28- 0-1 1550-431-200-00 31- 8 1550-502-227-00 45-20
1550-408-211-00 28-34 1550-432-001-10 32— 2 1550-502-228-00 36-25
15650-408-212-00 - 28-35. 1550-432-002-00 32-17 1550-502-228-00 46-21
1550-408-213-00 -28-37 1550-432-003-00 - 32-24 1550-502-229-00 36-26
1550-408-214-00 . - 28-40 . 1550-432-004-00 32-23 1650-502-228-00 - 45-22
1550-408-215-00 28~42- 1550-432-200-00 32— 1 1550-502-231-00 36-27
1550-408-216-00 28-43 1550-433-004-00 33-20 1550-502-231-00 45-23
1550-408-217-00 28-44 1550-433-200-10 33- 1 1550-503-001-00 35-28
1550-408-218-00 28-45 1550-433-210-00 33-7 1550-503-002-00 35-30
1550-408-216-00 28-46 1550-433-212-00 33- 8 1550-503-003-00 35-31
1550-408-221-00 - 28-48 1550-433-220-00 33-10 1550-503-003-10 35-3la
1550-408-222-00 '28-49 1550-433-222-00 33-11 1550-503-003-20 35-31b
1550-408-223-00 28-50 1560-434-200-00 34-20 1550-503-004-00 36-36
1550-408-230-00 28- 1 1550-434-210-00 34-21 1550-503-005-00 36-38
1550-408-232-00 28~ 2 1550-501-002-00 35- 4 1550-503-006-00 36-40
1550-408-233-00 28- 73 1550-501-003-00 35- 8 1550-503-200-00 36-33
1550-408-234-00 28- 4 1550-501-003-20 35- Ba 1550-503-210-00 36-37
1550-408-235-00 28- 5 1550-501-004-00 35-34 1550-503-220-00 36-45
1550-408-235-00 28-12 1550-501-004-00 45- 4 1550-503-230-00 36-46
1550-408-236-00 28- 6 1550-501-005-00 35-33 1550-503-240-10 36-49
1550-408-236-00 28-13 1550-501-005-00 45- 2 1550-504-200-10 37- 1
1550-408-240-10 27-15 1550-501-006-00 35-42 1550-504-200-10 45-27
1550-408-240-20 27-15a 1550-501-006-00 45-69 15560-505-001-00 38-18
1550-408-250-20 27-29 1550-501-200-00 35— 1 1550-505-001-00 43-18
15650-408-260-00 27-30 1650-501-200-10 3 la 1550-505-001-10 38-18a
1550-408-270-00 27-31 1550-501-200-30 35-1b 1550-505-001-10 62-11
1550-408-280-00 27-34 1550-501-210-00 35-18 1550-505-002-00 38- 4
1550-408-290-10 27-40 1550-501-220-00 35-24 1550-505-002-00 39- 4
15650~408-300-00 28- 1 1550-502-001-00 36- 3 1550-505-002-00 43-40
1550-408-301-00 28- 8 1550-502-001-10 36-3a 1550-505-003-00 38-12a
1550-408-302-00 28- 9 1550-502-001-20 36-"3b 1550-505-003-00 43-79




B&m2— K REES - F REES B3 — F 2 EES
155(-505-003-00 62- 3 1550-514-266-00 42-36 1550-532-300-00 45-0-1-1
1550-505-004-00 39-12 1550-514-267-00 42-37 1550-601-200-10 46- 1
1550-505-004-00 44-19 1550-514-268-00 42-40 1550-601-210-00 46~ 2
1550-505-005-00 39-19 16560-514-280-00 41-39 1555-602-200-00 47- 1
15560-505-210-10 38-10 1550-514-280-00 45-43 1550-604-001-10 48- 5
1550-505-210-20 38-10a 1550-514-290-00 41-28 1550-604-200-00 48- 1
1650-505-210-30 38-10b 1550-514-310-10 41-15 1550-604-210-00 48- 2
1550-505-22C-00 36-12 1550-531-001-00 43-30 1550~604-220-00 48- 4
1550-505-240-00 38-1a 1550-531-001-10 43-86 1550-604-230-00 48- 17
1550-505-250-00 39-10 1550-531-001-10 62-12 1550-604-240-00 48- 8
1550-508-001-00 40- 4 1550-531-002-00 43-60 1550-604-250-00 48-14
1550-508-001-10 40- 4 a 1550-531-002-00 44-45 1550-604-260-00 48-15
1550-508-002-00 . 40-22 15650-531-003-10 43-96 1550-606-001-20 48- 2
1550-508-003-10 - 40-27 15650-531-003-10 44-64 15650-606-002-20 49- 3
1650-508-004~-00 40-47 1560-531-004-00 44-25- 1550-606-003-00 53-31
1550-508-005-00 40-57 1550-531-200~40 43~ 0-1 1550-606-004-00 48-11
1550-508-200-00 40- 1 1550-531-210-00 43- 2 1550-606-004-10 49-11a
1550-508-210-00 40- 6 1550-531-210-10 43- 2a 1550-606-005-10 49- 4
1650-508-210-10 40- 6 a 1550-531-210-10 44- 2 1550-606-200-20 45- 1
1550-508-230-10 40-24 1550-531-220-00 Lo 43- 3 1550-606-240-10 49- 8
1550-508-240-10 . 40-29- 1550-531-220-10 - 43- 3a 1550-606-240-20 49- 8a
1550-508-250~10 - 40-31 . 15650-531-220-10 - 44- 3 1550-606-256-10 49— 9
1550-508-250-20 - 40-31 a 1550-531-230-10 43— 8: 1550-606-260-00 53-28
1550-508-260-00 .40-46 1550-531-230-10 .44- 8 1550-606-300-00 50- 1
1550-508-260-10 ~.40~46 a 1550-531-240-00 - 43-10 : 1550-606-310-00 50-5
1550-508-270-00 40-51 1550-531-240-00 - 44-10 1550-607-001-00 - 48-23
1550-508-280-00 - 40-52 1550-531-250-00 43-23 1550-607-002-00 - 48-24
1550-508-280-10  40-52a 1550-531-250-10 43-23 a 1550-607-003-00 48-25. .
1550-514-001-00 41-40 1550-531-250-10 62— 2 1550-607-004-10 48-24-1
1550-514-001-00 45-44 1550-531-260-00 43-25 1550-607-210-00 48-26
1550~514-210-00 41-16 1550-531-270-00 43-34 1550-607-220-10 48-27
1550-514-210-10 41-16 a 1550-531-280-00 43-39 1550-607-230-00 - 48-32
1550-514-220-10 45-37 1550-531-280-00 43-90 1550-607-240-00 48-33
1550-514-220-20 41-33 1550-531-280-00 44-28 1550-607-250-00 48-34
1550-514-220-20 42- 0-1 1550-531-290-10 43-46 1650-607-260-00 48-36
1550-514-230-10 --42-1 . 1550-531-290-10 44-31 1550-607-300-00 48-21-1
15650-514-250-00 o 41-38 1550-531-300-00 43-51 1550-611-001-00 52- 5
1550-514-250-00 42-0-2 1550-531-300-00 44-36 1850-611-200-00 52- 1
1550-514-250-00 45-42 1550-531-310-00 43-54 1550-611-210-00 52- 4
1550-514-252-00 42-23 1550-531-310-00 44-39 1550-611-220-00 52- 8
1550-514-253-00 42-24 1550-531-330-00 43-56 1550-611-230~00 52- 9
1550-514-254-00 42-25 1550-531-330-00 44-41 1555-612-200-00 53~ 1
1550-514-255-00 42-26 1550-531-330~10 43-56 a 1650-616-001-00 54-21
1550-514-256-00 42-27 1550-531-330-10 62— 4 1550-616-002-00 54-22
1550-514-257-00 42-28 1550-531-340-00 43-57 1550-616-200-00 54- 6
1550-514-258-00 42-29 1550-531-340-00 44-42 1550-616-210-10 54- 9
1550-514-255-00 42-30 1550-531-350-00 43-63 1550-616-300-00 54- 9-1
1550-514-261-00 42-31 1550-531-350~10 44-48 1550-621-001-00 55- 9
1650-514-262-00 42-32 1550-5631-380-10 62- 1 155(+521-200-00 55- 6
1550-514-263-00 42-33 1550-531-400-10 44- 0-1 1550-621-300-00 55— g-1
1550-514-264-00 42-34 1550-532-001-10 45-72 1550-623-001-00 56-22
1550-514-265-00 42-35 15650-532-200-10 45- (-1 1550-623-001-10 56-52

139




&2 — F BHES B2 — F E:é%i‘ﬁﬁ:—i‘ EEES
1550~623-052-00 56-23 1560-511-012-00 36~15 | 7983-208-004-00 7-14
1550-523-002-10 56-38 1560-511-012-00 38-25 7965-611-001-00 41-11
1556-631-001-00 64~ 4 1560-511-012-00 43-80 7963-611-003-00 41- 9
1550-631-002-00 64-18 1560-606-001-30 50~18 7963-611-230-00 41~ 5
1550-631-003-00 64~19 2130-831-210-00 60- 4 7963-611-240-00 41- 6
1550-631-004-00 64-30 2132-901-007-10 59~ 8 7963-613-005-00 41-22
1550-631-005-00 64-31 2701-101-052-00 49-33 7963-905-00400 41-24
1550-631-007-00 64-36 2701-101-052-00 50-26 7963-905-005-00 41-25
155063 1-008-00 64-37 3560-201-015-00 49-27 7995-401-001-10 43-74
1550-631-009-00 64-38 3560-201-015-00 50-19 7995-401-001-10 44-60
1550~631-200-00 64~ 0-1 3560-201-015-00 51-23

1550-631-210-00 84~ 1 3560-201-018-00 48- 9

1550-631-230-00 64— 2 3614-240-001-00 52- 2

1550-631-240-00 64~ 3 3614-321-001-00 45-15

1550-631-250-00 64- 8 3614-321-001-00 50- 9

1550-63 1-260-00 64— 9 3615-264-002-10 56-11

1550-631-270-00 - 64-10 3625-112-001-00 13-26

1550-631-280-00 64-11 3625-112-001-00 13-36

1550~631-290-00 64-17 . 8625-112-001-00 14-34

1550-631-300-00 64-26 3625-112-001-00 21-29 _
1550-631-320~00 64-29 3625-261-204-00 56-33 K135-001-007-00 27- 8
1550-641-210-00 45-64 3640-901-018-00 59-18 K135-001-007-00 40-36
1550-641-210-00 57-15 3646-102-011-00 12- 7 K135-001-008-00 27- 9
1550-641-220-00 45-66 © 3728-173-003-00 55-10 K135-001-008-00 40-37
1550-64 1-220-00 57-17 3728-173-005-00 55-11 K135-001-009-00 27-10
1550-641-230-00 45-73 3728-364-015-00 49-20 K135-001-009-00 40-38
1550-641-230-00 57-15-1 3728-364-015-00 50-14 K135-002-006-00 21- 7
1550~902-001-00 59- 9 3728-364-015-00 54-27 K135-002-006-00 40-35
1550-902-002-00 59-10 3737-172-011-00 7-22 K135-002-008-00 27-11
1550-902-003-20 59-11 3737-172-011-00 35-38 K135-002-008-00 40-39
1550-902-004-10 59-12 3737-172-011-00 45- 8 K135-002-009-00 27-12
1550-902-005-00 59-15 3737-172-011-00 45- 8-1. || K135-002-009-00 40-40
1550-902-006-10 59-32 3737-172-011-00 53-16 K135-011~000~00 40-34
1550-802-007-00 59-33 3737-172-011-00 56-40 K135-016-000~00 27- 6
1550-902-008-00 59-35 3737-172-011-00 57-19 K182-005-005-00 63- 5
1550-802~009-00 50-36 . 3737-172-011-00 63-18 K182-009-002-00 63- 4
1550-903-001-00 59-21 3737-235-008-00 8-11 K182-017-001-00 63- 3
1550-904-001-00 59-22 3740~161-007-00 5-21 K182-017-000-00 63- 1
1550-805-001-00 59-29 3741-141-005-00 53-15 K182-017-100~00 63- 2
1550-813-001-10 60-17 3746-321-014-00 12-14 K185-005-006-00 63- 6
1551-317~211-00 20-12 3748-185-003-00 27-43 K250-007-000-00 35-41
1551-402-200-00 24~ 1-1 3750-412-003-00 60-10 K250-013-100~00 40-59
1551-411-210-00 29- 5 3761-212-004-00 12-12 K300-001-002-00 63-12
1551-441-201-00 30- 2-1 3768-164-006-00 53-14 K300-001-003-00 63-13
1551-902-001-00 50- 9-1 4101-102-038-00 25-46 K300-001-004-00 63-15
1551-902-002-00 59-10-1 4101-102-038-00 52- 3 K300~002-000-00 63- 0-1
1551-903~001-00 59-21-1 7954-205-101-00 35-26 K300-002-100-00 63- 9
1551-804~001-00 59-22~1 7955-201-026-00 6-12 a

1552-112-200-00 4- 1a 7955-201-026-00 1710 a

1554-321-002-00 21~ 2 7957-501-004-00 43-62

1560-511-012-00 62- 8 7957-501-004-00 4447

1560-511-012-00 44-20 7963-201-003-00 27~ 5

140




e R
,
'
| N v
B
i B
i
'
‘
Ot o'
& 1 .
T i t H 1
. Al
0,
© o
Lot . E
a8 AN 5o Y i . 1
h b i :
i i t %
S 08
G , H
: i { 1 ]
S
i § '
LN 1









